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I £ (x) = x3 + 1, then
(a) thevalueof f atx = —1is f (—1) = (—1)3 +1=0.
(b) the value of f atx =2is f 2) =23 +1=0.
(c) the net change in the value of f betweenx = —landx =2is f (2) — f (1) =9—-0=09.

. For a function f, the set of all possible inputs is called the domain of f, and the set of all possible outputs is called the
range of f.

X—5

. (@) f(x)=x2—3xandg(x) = ~ have 5 in their domain because they are defined when x = 5. However,
h (x) = +/x — 10 is undefined when x = 5 because /5 — 10 = +/—5, so 5 is not in the domain of h.
(b) f(5):52—3(5):25—15:10andg(5):% = g =0.
. (&) Verbal: “Subtract 4, then square and add 3.”
(b) Numerical:
x| fx)
0 19
2 7
4 3
6

. A function f is a rule that assigns to each element x in a set A exactly one element called f (x) in a set B. Table (i) defines
y as a function of x, but table (ii) does not, because f (1) is not uniquely defined.

. (@) Yes, itis possible that f (1) = f (2) = 5. [For instance, let f (x) =5 forall x.]
(b) No, it is not possible to have f (1) =5and f (1) = 6. A function assigns each value of x in its domain exactly one
value of f (x).

. Multiplying x by 3 gives 3x, then subtracting 5 gives f (x) = 3x — 5.

. Squaring x gives x2, then adding two gives f (x) = X2 +2.

. Subtracting 1 gives x — 1, then squaring gives f (x) = (x — 1).

. Adding 1 gives x + 1, taking the square root gives +/x + 1, then dividing by 6 gives f (x) = X6+ 1.

. X+2 -
. (X) = 2x 4+ 3: Multiply by 2, then add 3. 12.g(x) = T: Add 2, then divide by 3.
. x2 — 4 .

. h(x) =5(x 4+ 1): Add 1, then multiply by 5. 14.k (x) = : Square, then subtract 4, then divide by 3.
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. . . . 3
15. Machine diagram for f (x) = +/x — 1. 16. Machine diagram for f (x) = >
subtract 1,
1—> then take — >0 subtrqct 2,
M 3—> take rgmprocal, — >3
subtract 1,
2—> then take —> 1 subtrqct 2,
square root —1—> take rgcnprocal, — > -1
~ subtract 1, | _
5—> then take —> 2 ~ | subtrqct 2, | _
square root 1—> take rgcnprocal, — > -3
17. f(x)=2(x — 1)2 18.g(x) = |2x + 3|
X f (x) X g (x)
-1]2(-1-1)?=8 3| 12(=3)+3/=3
0 2(-1?=2 -2 | 2(-2)+3|=1
1| 2a-12=0 0 12(0)+3| =3
2 22-12%2=2 1 2(1)+3| =5
3| 2B8-1)72=38 3| 2@ +31=9

19. f(x) =x2—6; f(-3) = (32 -6=9-6=3f3) =32-6=9-6=23; f(0) =02—6 = —6;
)= () -e-i-e--2
20. fX)=x342x; f(=2) = (=28 +2(-2) = -8—-4=-12, f(-1) = (1)} +2(-1) = -1 -2 = —3;

fo=0c+20=0f(})=(1)+2(3) =t +1=%

1
C1-2x 1-2Q) 1-2(=2) 5 (1 _1—2(7)__ _1-2a
2 f0) =571 T@ =" _—1,f(—2)_f_§,f(§)_T_0,f(a)_ T
_1-2(-a) 1+42a, . _1-2@-1) 3-2a
f(—a) = 3 =3 f@a-1)= 3 =3
X% +4, 2244 8 (=% +4 8, _a’+4 _(=x)?+4  x2+4,
2h0)="F—ih@="F—=cih(-d="—F—=gh@="F—ih(X)="F—="F—
_ 22 2 _ 2
h(a—2):(a 25)+4:a :a+8;h(ﬁ):(ﬁ)5+4:x;-4.

_ a2 a2 2m ) — (x4 20— w2 2 £ (L = (1) (L)L, 2
f@=a“+2@)=a“+2a; f (—x) = (—x)*+2(—x) =X 2x,f(a)_(a) +2(a)_a2+ .

1 1
24.h(x)=x+;;h(—1)=(—1)+}1:-1-1:-2;h(2)=2+%=g;h(%)=§+

h(x—1)=x—1+L;h(1)=1+ =£+x.
x—1 X X

X

x| P~
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Cl-x. 0 1-@2) -1 1 1= (1 _1—(2)_%_1.
g(X)—H—X,g(Z)— 12 3 g,g( 1)_T(_l),whlchlsundeflned,g(z) 1+(%) _g_g,
-—@ 1-a —@-1 1-a+1 2-a 1—(X2—1) 2 —x2
@=12 - ga-n=1 = =—=ig(x-1) = =
g 1+@ 1l4a 1+@-— ) 1+a-1 a 1+ (x2-1) x2
g = t,g( 2) = th g2 = WhICh is undefined; g (0) = O——i_;:—l g@ = a—i—z,
2_942 a2 a+1+2 a+3
2_ — = . = — =
9 2) mpyar v aaytElC e gy

k(x) = —x2—2x+3;k(0) = —02—2(0)+3=3;k(2) = —22—-2(2)+3= -5k (=2) = — (=2)2 —2(=2)+3=3;
k(ﬁ) - —(ﬁ)z—z(ﬁ) +3=1-2V2k(@a+2) = -@+22—-2@+2) +3 = —a% —6a —5;
k(—x)=—(—x)2—2(—x)+3=—x2+2x+3;k(x2) =—(x2)2—2(x2)+3=—x4—2x2+3.

k(x) =2x3 —3x%; k(0) =2(0)2 —=3(0)2 =0; k(3) =2(3)3 —3(3)2 = 27; k (—=3) = 2(=3)3 —3(=3)2 = —

3 2 3_32
K(3)=2(3) -3(3) =—5k(®) =2(8°-3(3)° = =7 k(=0 =2(=0° =3(=0% = -2 -3,

k( )_2( ) —3(x3)2=2x9—3x6.
) = 2]x—1f; f(=2) = 2|-2—1] = 2(3) = 6 f(0) = 20—1] = 2(1) =
(%) - 2(%—1‘ - 2(%) =1 f@ =22-1=2(1) =2 f(x+1) = 2|x+1)—1] = 2x|;

f(x +2)=2‘(x2+2)—1‘=2‘x2+1’=2x2+2(sincex2+1>0).

-2 2 1 1
f(x)_|| f(-2) = 1= |_— -1, f(-1) = u=—=—1;f(x)isnotdefinedatx:O;
-2 -2 -1 -1
5 5 ) ’XZ‘ x2 o, 1 /x| x
f(5):?:§:1,f(x ):X—sz—zzlslncex >O,X¢O,f(;):1/—xzm
Since —2 < 0, we have f (—=2) = (—=2)2 = 4. Since —1 < 0, we have f (—1) = (—1)2 = 1. Since 0 > 0, we have

f(0)=0+1=1.Sincel>0,wehave f (1) =1+1=2.Since2>0,wehave f (2)=2+1=3.
Since —3 < 2, we have f (—3) = 5. Since 0 < 2, we have f (0) = 5. Since 2 < 2, we have f (2) = 5. Since 3 > 2, we
have f (3) =2(3) —3=3. Since5 > 2,wehave f 5) =2(5)—-3=7.

Since —4 < -1, we have f (—4) = (—4)2 +2(—-4) = 16 — 8 = 8. Since —% < —1, we have

2
f (_g) - (_g) 42 (—%) =9_3=-2 since —1 < —1, we have f (—1) = (~1) +2(~1) =1 — 2 = —1. Since
—1 <0< 1, wehave f (0) =0. Since 25 > 1, we have f (25) = —

. Since —5 < 0, we have f (=5) =3(—5) = —15. Since 0 <0 < 2, wehave f (0) =0+1=1. Since 0 < 1 < 2, we have

f())=1+1=2.Since0<2<2 wehave f(2)=2+1=3. Since5 > 2,wehavef(5):(5—2)2:9.
FX4+2)=(X+22+1=x24+ax+4+1=xX24+4x+5 F () +f 2 =x2+14+ 22 +1=x2+1+4+1=x2+6.
f@x)=3@2x)—1=6x—1;2f (x) =2(3x — 1) = 6x — 2.

f(xz) =x24+4[F 0 =[x +4]2 =x2 + 8 + 16.

i(5)=6(3)-18=2c-18, féx)=exgl8=3(zxs_6) =h

f(x)=3x—=2,50f(1)=3(1)—2=1and f (5) =3(5) —2 = 13. Thus, the net change is f (5)— f (1) =13 -1 =12.
f(x) =4-5x,50 f(83 =4—-5@B) = —11land f(5) = 4 —-5(5) = —21. Thus, the net change is
fG-f@ =-21-(-11)=-
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4.gt) =1-1250g(-2) =1-(-2* =1-4=-3andg(5) = 1 -5 = —24. Thus, the net change is
0(5) — g(—2) = —24— (=3) = ~21.
42. h(t) =t?2+5,50h (=3) = (—3)?45 = 14and h (6) = 62+5 = 41. Thus, the net change is h (6) —h (—3) = 4114 = 27.

43. f(a) = 5 —2a f@+h) = 5—-2@+h) = 5 - 2a — 2h;
f@+hy—f@ 5—-2a—2h—(5-2a) 5-2a—-2h—-5+2a —2h
= = =— =-2
h h h h
44. f(a)=3a2+2; f (a+h)=3(@+h)2+2=3a%+6ah+3h%2+2;
f@+h)—f (@) (332 +6ah +3h2 + 2) - (3612 +2) 6ah + 3h2
h h h
45.f(a):5;f(a+h):5;f(a+hr)]_f(a):5;520.
1 1
6. @ =77 f@th = =
1 1 a+1 B at+h+1
f@a+h)—f@ athtl atl @+D@+h+D) (@+D@+h+1)
h - h - h
—h
_@+hH@+h+D _ -1
h T @+l @+h+1)
a+h
47. f (@) = —f(a+) Py
a+h a @+h@+1  a@+h+1
f@+h)—f@ atrh+1 a+1 (@+h+D@+1DH @+h+D@+]D
h - h - h
@+hy@+1—a@+h+1)
2 _ (a2
3 @+h+1) @+l _a“+atah+h (a +ah+a)
o h o h@+h+1@+1)
1
“@+h+1@+1)
2(@a+h)
48. f(@)= —f(a+h) hoT
2(@+h) 2a 2a+2h)@-1)  2a@+h-1
f@+h)—f@ arh-1 a-1_ (@+h-H@-1) (@+h-D@-1
h - h - h
2@+h)y(@a—-1)—-2a@a+h-1)
_ (@+h—1)(a—1) _ 2a%+2ah —2a—2h—2a% —2ah +2a
B h - h@+h-1)@-1
B —2h B 2
“h@+h-1)@-1) (@+h-1@-1
49. f (a) =3 — 5a + 4a?;
f(a+h):3—5(a+h)+4(a+h)2:3—5a—5h+4(a2+2ah+h2)
=3 —5a — 5h + 4a2 + 8ah + 4hZ;
f(a+h)_f(a)_(3—5a—5h+4a2+8ah+4h2)—(3—5a+4a2)
h - h
_ 3—5a—5h+4a®+8ah+4h? —3+5a—4a?  —5h +8ah 4 4h?
N h - h

_ h(=5+8a+4h)

N = —5+ 8a + 4h.
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. f(a)=a3; f (a+h)=(a+h)3=ad+3a2h +3ah? + h3;

3 2 2, ph3 3
f(a+h)_f(a)_(a + 3ach + 3ah +h)—(a)_3a2h+3ah2+h3
h N h N h
h (3a2 +3ah + h2)
= - =3a2 +3ah + h2.
f (x) = 3x. Since there is no restriction, the domain is all real numbers, (—oo, co). Since every real number vy is three

times the real number %y, the range is all real numbers (—oo, 00).

f(x) = 5x2 + 4. Since there is no restriction, the domain is all real numbers, (—00, 00). Since 5x2 > 0 for all x,
5x2 + 4 > 4 for all x, so the range is [4, co).
f (X) =3x,—2 < x < 6. Thedomainis [-2, 6], f (—2) = 3(—2) = —6, and f (6) = 3(6) = 18, so the range is [—6, 18].

[4, 24].

1 . . -
f(x)= —3 Since the denominator cannot equal 0 we have x — 3 # 0 < x # 3. Thus the domain is {x | x % 3}. In

interval notation, the domain is (—oo, 3) U (3, 00).

1 . . . .
f(x)= I —6 Since the denominator cannot equal 0, we have 3x — 6 # 0 < 3x # 6 < X # 2. In interval notation, the

domain is (—o0, 2) U (2, 00).

2 . . -
f(x)= xX2+ T Since the denominator cannot equal 0 we have x2 — 1 # 0 < x2 # 1 = x = +1. Thus the domain is
{x | x # £1}. In interval notation, the domain is (—oco, —1) U (=1, 1) U (1, 00).

4
f(x)= 7 & Since the denominator cannot equal 0, X2+ x—6 0 X+3)(x—2)#0=>x # —-30rx #2.

Xé+ X —

In interval notation, the domain is (—oo, —3) U (=3, 2) U (2, 00).

f (x) = +/x + 1. We must have X + 1 > 0 < x > —1. Thus, the domain is [—1, co).

g(x)= \/m The argument of the square root is positive for all x, so the domain is (—oo, c0).

f (t) = ¥t — 1. Since the odd root is defined for all real numbers, the domain is the set of real numbers, (—oo, co).

g (x) = +/7 — 3x. For the square root to be defined, we musthave 7 —3x >0 =7 > 3x & % > X. Thus the domain is
(w00 5]

f (x) = /T — 2x. Since the square root is defined as a real number only for nonnegative numbers, we require that

1-2x >0ex < 3. Sothe domainiis {x | x < 3}. In interval notation, the domain is (—oo, %]

. g (X) = v/x2 — 4. We must have X2 —4>00 (X — 2) (x +2) > 0. We make a table:

(—00,=2) | (-2,2) | (2,0)
Signof x — 2 — — +
Signof x +2 - + +
Sign of (x —2) (X + 2) + - +
Thus the domain is (—oo, —2] U [2, 00).
gx) = @ We require 2 + x > 0, and the denominator cannot equal 0. Now 2+ X >0 x > —2,and3 —x # 0

< X # 3. Thus the domain is {x | x > —2 and x # 3}, which can be expressed in interval notation as [—2, 3) U (3, 00).
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X .
66. g (x) = W\/;l We must have x > 0 for the numerator and 2x2 +x — 1 # 0 for the denominator. So 2x2+x —1 # 0
S2X-1)(X+1)#0=>2x—1#00orx+1#0x # % or X % —1. Thus the domain is [0, %)U (%,oo).
67. g (x) = Jx2 — 6x. Since the input to an even root must be nonnegative, we have x2 — 6x > 0 < X (x — 6) > 0. We make

68.

69.

70.

71.

72.

a table:

(—00,0) | (0,6) | (6,00)
Sign of x - + +
Signof x — 6 - - +
Sign of x (X — 6) + - +

Thus the domain is (—oo, 0] U [6, 00).

g(x) =+vx2—-2x —8. We must have x2 — 2x — 8 > 0 < (X —4) (x +2) > 0. We make a table:

(=00, =2) | (=2,4) | (4,00)
Signof x — 4 — — +
Signof x +2 - + +
Sign of (x —4) (X + 2) + — +

Thus the domain is (—oo, —2] U [4, c0).

f(x) = . Since the input to an even root must be nonnegative and the denominator cannot equal 0, we have

x
T“w
SN

X —4 > 0 x > 4. Thus the domain is (4, o).

2
X . . . .
f(x) = Nd Since the input to an even root must be nonnegative and the denominator cannot equal 0, we have

6 — x > 0 6 > x. Thus the domain is (—oo, 6).

f (x) = ———=. Since the input to an even root must be nonnegative and the denominator cannot equal 0, we have

2X—1>0Xx > % Thus the domain is (%,oo).

X . . . .
fx) =+ . Since the input to an even root must be nonnegative and the denominator cannot equal 0, we have
V9 —x2

9—x%2> 0 (3—x)(3+x) > 0. We make atable:

Interval (=00,=3) | (=3,3) | (3,00)
Signof 3 —x + + -
Sign of 3+ x - + +
Sign of (x —4) (X + 2) — + —

Thus the domain is (=3, 3).
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73. To evaluate f (x), divide the input by 3 and add % to the result.

X 2 N
@ f(X)=§+§ © 7
(b)
X | fXx)
2 % 1 /
4 2 1 %
6| 3
0| ®

74. To evaluate g (x), subtract 4 from the input and multiply the result by %.

@gx)=x—-4-3=3x-4 © y
(b)
X | 9(X)
2 | -3 1
4] o 1
6| 3
8| 3

i

75. Let T (x) be the amount of sales tax charged in Lemon County on a purchase of x dollars. To find the tax, take 8% of the
purchase price.

(® T (x) = 0.08x (© Y
(b)
X | T(X) |
2| 0.16
41 0.32
6 | 048
8 | 064
1 X

76. Let V (d) be the volume of a sphere of diameter d. To find the volume, take the cube of the diameter, then multiply by =
and divide by 6.

@V @d)=dd m/6=Fd3 (© iy
(b)

X f (x)

2 4?7" ~ 4.2

4| 3T ~335

6 | 36w~ 113

2567 10
8 | 25T ~ 268
1 X
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1 if x is rational . . . . .
The domain of f is all real numbers, since every real number is either rational or

77. f(x) = |

5 if x isirrational

irrational; and the range of f is {1, 5}.

1 if xisrational . . . L .
78. f(x) = L The domain of f is all real numbers, since every real number is either rational or
5x if x is irrational
irrational. If x is irrational, then 5x is also irrational, and so the range of f is {x | x = 1 or x is irrational}.
2 2
79. () V (0) = 50 (1 _ 205) —50and V (20) = 50 (1 - %) —o. ©
X V (X)
(b) V (0) = 50 represents the volume of the full tank at time t = 0, and 0 | 50
V (20) = 0 represents the volume of the empty tank twenty minutes
5 | 28.125
later.
10 | 125
(d) The net change in V as t changes from 0 minutes to 20 minutes is 15 3125
V (20) — V (0) = 0 — 50 = —50 gallons. 20 0

80. (a) S(2) = 4w (2)2 = 16w ~ 50.27, S (3) = 4 (3)? = 367 ~ 113.10.
(b) S (2) represents the surface area of a sphere of radius 2, and S (3) represents the surface area of a sphere of radius 3.

0.5¢)2 0.75¢)2
81. (a) L (0.5¢) = 10 /1—( Cz) ~ 8.66 m, L (0.75¢) = 10 1! c2) ~ 6.61 m, and

(0.9¢)?
c2
(b) It will appear to get shorter.

13 +7(1)04 20
82 @R(1)=.[—" = /= =2mm, b
@ RO =T a@os =V =2m R T

13 + 7 (10)04 1 2
R0y = B0 7 66 mm, and
1+ 4(10)04 10 | 1.66

L (0.9c) =10,/1 - ~ 4.36 m.

0.4 100 | 1.48

R (100) = w ~ 1.48 mm.
1+ 4(100)%4 200 | 1.44
(c) The net change in R as x changes from 10 to 100 is 500 1.41
R (100) — R (10) ~ 1.48 — 1.66 = —0.18 mm. 1000 | 1.39

83. (a) v (0.1) = 18500 (0.25 - 0.12) = 4440, (o)
r o (r)
2

v (0.4) = 18500 (0.25 —-04 ) = 1665. 0 4625
(b) They tell us that the blood flows much faster (about 2.75 times faster) 0.1 | 4440
0.1 cm from the center than 0.1 cm from the edge. 0.2 | 3885
(d) The net change in V as r changes from 0.1 cmto 0.5 cm is 0.3 | 2960
V (0.5) — V (0.1) = 0 — 4440 = —4440 cm/s. 04 | 1665
0.5 0

84. (a) D (0.1) = \/2 (3960) (0.1) + (0.1)2 = +/792.01 ~ 28.1 miles

D (0.2) = \/2 (3960) (0.2) + (0.2)2 = +/1584.04 ~ 39.8 miles
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(b) 1135 feet = 4135 miles &~ 0.215 miles. D (0.215) = \/2 (3960) (0.215) + (0.215)2 = /1702.846 ~ 41.3 miles

(© D (7) =/2(3960) (7) + (7) = /55489 ~ 235.6 miles

(d) The net change in D as h changes from 1135 ft (or 0.215 mi) to 7 miis D (7) — D (0.215) ~ 235.6 —41.3 = 194.3 miles.

(a) Since 0 < 5,000 < 10,000 we have T (5,000) = 0. Since 10,000 < 12,000 < 20,000 we have
T (12,000) = 0.08 (12,000) = 960. Since 20,000 < 25,000 we have T (25,000) = 1600 + 0.15 (25,000) = 5350.
(b) There is no tax on $5000, a tax of $960 on $12,000 income, and a tax of $5350 on $25,000.

(@ C (75) =75+ 15 = $90; C (90) = 90 + 15 = $105; C (100) = $100; and C (105) = $105.
(b) The total price of the books purchased, including shipping.

75x if0<x<2

150 +50(x —2) ifx > 2
(b) T(2)=75(2) =150; T (3) = 150 + 50 (3 — 2) = 200; and T (5) = 150 + 50 (5 — 2) = 300.
(c) The total cost of the lodgings.

@ Tx=

1540 —x) if0 <x <40
@Fx=10 if40 < x < 65

15(x —65) ifx > 65
(b) F (30) =15(40 — 10) = 15- 10 = $150; F (50) = $0; and F (75) = 15 (75 — 65) 15 - 10 = $150.
(c) The fines for violating the speed limits on the freeway.

w w w w 1

We assume the grass grows linearly.
h

60 A

501
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92. PaA
1000 +

900 +

Population
(x1000) 800F

700 +

600 +

0‘ 1980 1990 2000 2010 1
Year

93. Answers will vary.
94. Answers will vary.

95. Answers will vary.

2.2 GRAPHS OF FUNCTIONS

1. To graph the function f we plot the points (x, f (x)) ina

x | Fo | &y
-2 2 (=2,2)
1| -1 | (-1,-1
on the graph of f. The height of the graph of f above the o| —2 0, —2)
x-axiswhen x = 3is 7. 11 =1 (1, -1

coordinate plane. To graph f (x) = x2 — 2, we plot the

points (x, x2 — 2). So, the point (3, 32— 2) =@3,7)is

2 2 2,2)

2. If f (4) = 10 then the point (4, 10) is on the graph of f.

3. If the point (3, 7) is on the graph of f, then f (3) =7.

4. () f (x) = x2 isapower function with an even exponent. It has graph IV.
(b) f(x)= x3 is a power function with an odd exponent. It has graph I1.
(c) f (x)= . /Xisaroot function. It has graph I.

(d) f (x) = |x|is an absolute value function. It has graph IlI.

5 6.
X | fOO)=x+2 y X | f(x)=4—-2x Y
—6 -4 -2 8
-4 -2 -1 6
-2 0 1 0 4 1
0 2 1 X 1 2 1
2 4 2 0
4 6 3 =2
6 8 4 —4




11.

13.

8.
y f(x)=—x+3, 4
-3<x<3 \
-3 6
-2 5 1
0 3 ! !
1 2
2 1
3 0
10.
x | f(x)=—x2 Y
+4 —16
+3 -9
+2 —4 !
+1 -1
0 0
y 12.
X |90 =—(x+1)>2 s
-5 -16 = o
-3 —4 SN
-2 -1
-1 0
0 -1
—4
3 -16
1y 14.

X |[r(x)=23x4

-3 243
-2 48
-1

0
1
2 48
3 243

100
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X—3 y
X o= 2
0<x<5
0 -1.5
1| -1 1// -
2 —-05
3 0
4 0.5
5 1
X | fx)=x2—-4 y
+5 21
+4 12
+3 5 !
+2 \/
+1 3
0 4
X [gx)=x24+2x+1
-5 16
-3 4
-2 1
-1 0 I
1
4
3 16

X [rx)=1—x4
-3 —-80
-2 -15
-1 0

0

1 0

2 -15

3 —80
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10+

A =

10

v2 t

o
=) x N
_ o _
I >
X ® F @ 7 ®xy M N H4 O +d N ™
___ Il [ O d N ™M < 1O ©
I = I
~ e -
= X~ =
g N—
~ 0 « O « 0 I~
N+ O +H N ™ < < |N N N M © — 0 I~ ©
< | o) — < N ™
) o0 )
= b= «
A= =
/ | -
o
m\
N S~
= N ! S
by =
P
o | >
_ [
o M N +d O +d N ™
<X|bw © o 0o~ O O Il [ +
[ = T Y - — —
1 i 3 — N M < O ©
< =~ —
N >
=) ~ 0 « O « 0 I~ <
< | N -
M N 4 O d N m |
ol I N | x| 4 ¥ o © w
- N
0 ~ o
= — =

2
0)

C (1)

t4+1

X

22.

< - e

AN O i N 1 N

21.




23. 24,
X | H(X) =]2x| ’
+5 10
+4 8
+3 6
+2 4 : '
+1 2
0 0
25. 26.
X |G (X)=|x| +x 7
-5 0
-2 0
0 0 !
1 2 : '
2 4
5 10
27. 28.
x | f(x)=]2x -2 J
-5 12
-2 8
0 2 !
1 0 : '
2 2
5 8

29. f (x) =8x — x2
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X |HX) =|x+1]
-5 4
-4 3
-3 2
-2 1
-1 0
0 1
2

X |GX)=Ix| —x
-5 10
-2 4
-1 2
0 0
0
3 0

X
X | f(x)= Xl
-3 -1
-2 -1
-1 -1
0 undefined
1 1
2 1
3 1

(b) [~10, 10] by [-10, 10]
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(© [~2,10] by [-5, 20] (d) [~10, 10] by [—100, 100]
20 100
10
10 -5 5 10
2 2 4 6 8\ 10 -100

The viewing rectangle in part (c) produces the most appropriate graph of the equation.
30. g(x) =x2—x—20
(@ [-2,2] by [-5, 5] (b) [-10, 10] by [—10, 10]

]
o
\
L
A
N
N
'
= o
o
\
&+
/
o
1
=
o

(d) [~10, 10] by [—100, 100]

100
10 -5 5 10
-100
The viewing rectangle in part (c) produces the most appropriate graph of the equation.
3L h(x)=x3—5x—4
(@ [-2,2]by [-2,2] (b) [-3, 3] by [-10, 10]
2 10
1 %
AN +—t—+—]
-2/ -\ i 1 2 -3 - 3
-1
E -10
(©) [-3,3]by[-10,5] (d) [-10, 10] by [—10, 10]

-3
-5

-10

The viewing rectangle in part (c) produces the most appropriate graph of the equation.
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32. k(x) = g5x* —x2 +2
(@ [-1,1] by [-1,1] (b) [-2, 2] by [-2, 2]

(©) [-5,5] by [-5,5] (d) [-10, 10] by [-10, 10]

The viewing rectangle in part (d) produces the most appropriate graph of the equation.

0 ifx <2 1 ifx <1
33 f(x)= ) 34. f (x) = )
1ifx>2 x+1 ifx>1
y y
1 -—
2
1 X 1 X
3 ifx <2 1—x ifx <=2
3. f(x)= 36. f (x) =
x—1ifx>2 5 ifx > -2
y y
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X ifx<0
37. f(x) =
Xx+1 ifx>0
y
1
1
-1 ifx <-1
9 fXx)=11 if-1<x<1
-1 ifx>1
2
o——02
A f (0= 2 ifx<-1
' S k2 ifx s -1
y
1
1
0 if|x]| <2
43. f (x) = )
3 if|x|>2

2x+3 ifx < -1

38. f (x) = )
3—x ifx>-1
Yy
\
fl
1
-1 ifx < -1
0. f(x)=1x if-1<x<1
1 ifx>1
y
1
1
1—x2 ifx <2
2. f (x) = )
X ifx>2
Yy
/L

x2 if x| <1

4. f =
N ll if x| >1
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4 ifx < -2 —X ifx <0

45 f (x) = { x2 if—2<x<2 46.f (x)=19—x2 if0<x <3
—X+6 ifx>2 x—3 ifx>3
y y

47.

48.

49.

51.
52.
53.
. No, the given curve is not the graph of a function of x, by the Vertical Line Test.
55.
56.

57.
58.
59.

F () = X+2 ifx<-1
Sl k2 x> -1

157

X —x2 ifx > 1 _ _ _ .
f(x)= The first graph shows the output of a typical graphing device. However, the actual graph

x—=13 ifx <1

of this function is also shown, and its difference from the graphing device’s version should be noted.

y

/1" x

-2 ifx <=2 1 ifx < -1
fx)y=9x if-2<x<2 50. f(x) =1 1—x if-1<x<?2
2 ifx>2 -2 ifx>2

The curves in parts (a) and (c) are graphs of a function of x, by the Vertical Line Test.
The curves in parts (b) and (c) are graphs of functions of x, by the Vertical Line Test.
The given curve is the graph of a function of x, by the Vertical Line Test. Domain: [—3, 2]. Range: [-2, 2].

No, the given curve is not the graph of a function of x, by the Vertical Line Test.

The given curve is the graph of a function of x, by the Vertical Line Test. Domain: [—3, 2]. Range: {—2} U (0, 3].

Solving for y in terms of x gives3x —5y =7y = %x — % This defines y as a function of x.

Solving for y in terms of x gives 3x%2 — y = 5 < y = 3x2 — 5. This defines y as a function of x.

Solving for y in terms of x gives x = y2 < y = 4./X. The last equation gives two values of y for a given value of x. Thus,

this equation does not define y as a function of x.



1

w1

8

61.

62.

63.

67.
68.

69.

70.

CHAPTER 2 Functions

. Solving for y interms of x gives X2 + (y — 12 =4 = (y—-12 =4 -x2 oy-1=+t/4—-x2 oy =1+ /4 —X2.

The last equation gives two values of y for a given value of x. Thus, this equation does not define y as a function of x.

Solving for y in terms of x gives 2x —4y2 =3 < 4y2 =2x —3 &y = i%«/Zx — 3. The last equation gives two values

of y for a given value of x. Thus, this equation does not define y as a function of x.

Solving for y in terms of x gives 2x? — 4y? = 3 & 4y? = 2x?> — 3 & y = +£5/2x2 — 3. The last equation gives two

values of y for a given value of x. Thus, this equation does not define y as a function of x.

Solving for y in terms of x using the Quadratic Formula gives 2xy — 5y2 = 4 < 5y2 —2xy +4 = 0 &

(=20 £/ (=20 =46 ()  2x+/4x2-80 x+/x2-20
B 10 B 5

2(5)
given value of x. Thus, this equation does not define y as a function of x.

. The last equation gives two values of y for a

. Solving for y in terms of x gives ,/y —5=x oy =X+ 5)2. This defines y as a function of x.
65.
66.

Solving for y in terms of x gives 2 |x| +y = 0 & y = —2|x|. This defines y as a function of x.
Solving for y in terms of x gives 2x + |y| = 0 & |y| = —2x. Since |a| = |—al, the last equation gives two values of y for a
given value of x. Thus, this equation does not define y as a function of x.

Solving for y in terms of x gives x = y3 &y = IX. This defines y as a function of x.

Solving for y in terms of x gives x = y* < y = + ¥X. The last equation gives two values of y for any positive value of x.
Thus, this equation does not define y as a function of x.

(@ f(x)=x2+c, forc=0,2 4, and6. (b) f (x) =x2+c,forc=0,—2,—4,and —6.

N

EN
)
® o H N O
[N
EN
EN
VaRTaN =
) ﬂmbmmo
! A S
|

2102 -10-

(c) The graphs in part (a) are obtained by shifting the graph of f (x) = x2 upward ¢ units, ¢ > 0. The graphs in part (b)
are obtained by shifting the graph of f (x) = x2 downward ¢ units.

(@ f((x)=(x—c)? forc=0,1,2 and3. (b) f (x) = (x —c)2, forc =0, —1, —2, and —3.
c=0 c=1 c=—-1 ¢=0

107

c=2 c=-2
A

c=3 c=-3 4
/

4 2 4 4 2 0 2 4

44
_6’
-8

KN
<

(c) The graphs in part (a) are obtained by shifting the graph of y = x2 to the right 1, 2, and 3 units, while the graphs in
part (b) are obtained by shifting the graph of y = x2 to the left 1, 2, and 3 units.
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71. @) f(x)=(x—c)3 forc=0,2, 4, and6. (b) f (x) = (x —c)3, forc =0, —2, —4, and —6.

c=2 c=6 c=—4 =0

=
N M O ©® O

o]
.
°°°"?"?’4 2L BLDLBLS
\
\;
N
©
&
N

b

c=0 =4 c=—6 c=—2

(c) The graphs in part (a) are obtained by shifting the graph of f (x) = x3 to the right ¢ units, ¢ > 0. The graphsin part (b)
are obtained by shifting the graph of f (x) = x3 to the left |c| units, ¢ < 0.

72. (@) f(x)=cx? forc=1,3,2 and4. (b) f (x) =cx? forc =1, -1, -3, and —2.
c=1 c=4 c=2
. . 10 .
| ° )
6 1
4 T2
\\2 T
PR 0
M =1
6
8 . N
10 c=—4 c=—2

(¢) As [c| increases, the graph of f (x) = cx? is stretched vertically. As |c| decreases, the graph of f is flattened. When
¢ < 0, the graph is reflected about the x-axis.

73. (@) f(x)=xC forc= % %, and %. (b) f (x) =xC,forc=1, % and %
3 N c=1
L:l (‘:%
!
2
1 H =1
14 1
=5
1 0 1 2 3 1 = “1]
-1 -2

(c) Graphs of even roots are similar to y = /X, graphs of odd roots are similar to y = ¥Xx. As ¢ increases, the graph of
y = /X becomes steeper near x = 0 and flatter when x > 1.

1 1
74. (@) f(x) = X—n,forn =1land3. (b) f (x) = X—n,forn =2and 4.
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(c) Asn increases, the graphs of y = 1/x" go to zero faster for x large. Also, as n increases and x goes to 0, the graphs of
y = 1/x" go to infinity faster. The graphs of y = 1/x" for n odd are similar to each other. Likewise, the graphs for n
even are similar to each other.

. I . . —6-1 . .

75. The slope of the line segment joining the points (—2, 1) and (4, —6) ism = y = —%. Using the point-slope form,
we havey — 1 = —%(x+2)<:>y = —%x — % +ley= —%x — %. Thus the function is f (x) = —%x — % for
—2<x <4

. - . . -2-3 5 . .

76. The slope of the line containing the points (—3, —2) and (6, 3) ism = 3_5- 9= 9 Using the point-slope equation

. 5 L
of the line, we have y —3 = 3 (x —6) &y = 3x — L + 3 = —x — 1. Thus the function is f (x) = §x — 3, for

9
-3 <X <6.

77. First solve the circle for y: x2 + y2 =9 < y2 =9 —x2 = y = +,/9 — x2. Since we seek the top half of the circle, we
choose y = v/9 — x2. So the function is f (X) =+/9 —x2, =3 < x < 3.

78. First solve the circle for y: x2 + y2 =9 < y2 =9 — x2 = y = +/9 — x2. Since we seek the bottom half of the circle,
we choose y = —/9 — x2. So the function is f (x) = —v9 —x2, -3 < x < 3.

0.5 .
79. We graph T (r) = Z for 10 < r < 100. As the balloon  80. We graph P (v) = 14.103 for 1 < » < 10. As wind speed

is inflated, the skin gets thinner, as we would expect. Increases, so does power output, as expected.

P
Ta
20,000
0.004 -
0.003 -
0,002 10,000
0.001
0 50 r 0 5 10
6.00 + 0.10x if 0 < x <300
8l. (a) E(x) = ) (b) E
36.00 4+ 0.06 (x — 300) if 300 < x 60
50
40
30
20
10

0 100 200 300 400 500 600 X
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c
[ 200 f0o<x<1 4.00 -
220 ifl<x<11 HH“
. 3.00 o
82. C(x) = 240 ifll<x<12 e
2.00 .
400 ifl9<x<2
0 1 2 x
Pa
049 ifo<x<1 1.00
070 ifl<x<?2 0.80
83 P(x)= )
091 if2<x<3 0.60 -
112 if3<x<35 | S,
0.40
0.20
0 1 2 3 4 X

84. The graph of x = y2 is not the graph of a function because both (1, 1) and (—1, 1) satisfy the equation x = y2. The graph
of x = y3 is the graph of a function because x = y3 < x1/3 = y. If n is even, then both (1, 1) and (-1, 1) satisfies the
equation x = y", so the graph of x = y" is not the graph of a function. When n is odd, y = x1/" is defined for all real
numbers, and since y = x1/" < x = y", the graph of x = y" is the graph of a function.

85. Answers will vary. Some examples are almost anything we purchase based on weight, volume, length, or time, for example
gasoline. Although the amount delivered by the pump is continuous, the amount we pay is rounded to the penny. An
example involving time would be the cost of a telephone call.

86. y y y
1 -—oH 1 mw 14:
o 1 X o 1 X o« 1 X
f ) =[] g (x) = [[2x] h (x) = [3x]

The graph of k (x) = [nx]] is a step function whose steps are each % wide.
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87. () The graphs of f (x) = x2 4+ x —6and g (x) = ‘xz + X — 6‘ are shown in the viewing rectangle [—10, 10] by

[~10, 10].
! W

I T T 1
-10 -5 5 10 -10 -5 * 5 10
10

For those values of x where f (x) > 0, the graphs of f and g coincide, and for those values of x where f (x) < 0, the
graph of g is obtained from that of f by reflecting the part below the x-axis about the x-axis.

(b) The graphs of f (x) = x* —6x2 and g (x) = ‘x“ - 6x2’ are shown in the viewing rectangle [—5, 5] by [—10, 15].

-10 -10

For those values of x where f (x) > 0, the graphs of f and g coincide, and for those values of x where f (x) < 0, the
graph of g is obtained from that of f by reflecting the part below the x-axis above the x-axis.

(©) Ingeneral, if g (x) = | f (x)|, then for those values of x where f (x) > 0, the graphs of f and g coincide, and for those
values of x where f (x) < 0, the graph of g is obtained from that of f by reflecting the part below the x-axis above the
X-axis.

y y

NN B VA VAN
/| V

y=*fx) y=9()

2.3 GETTING INFORMATION FROM THE GRAPH OF A FUNCTION

1. To find a function value f (a) from the graph of f we find the height of the graph above the x-axis at x = a. From the graph
of f weseethat f (3) =4and f (1) =0. The netchange in f betweenx =landx =3isf () - f (1) =4-0=4.

2. The domain of the function f is all the x-values of the points on the graph, and the range is all the corresponding y-values.
From the graph of f we see that the domain of f is the interval (—oo, co) and the range of f is the interval (—oo, 7].

3. (@) If f isincreasing on an interval, then the y-values of the points on the graph rise as the x-values increase. From the
graph of f we see that f is increasing on the intervals (—oco, 2) and (4, 5).
(b) If f is decreasing on an interval, then y-values of the points on the graph fall as the x-values increase. From the graph
of f we see that f is decreasing on the intervals (2, 4) and (5, c0).
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10.
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(& A function value f (a) is a local maximum value of f if f (a) is the largest value of f on some interval containing
a. From the graph of f we see that there are two local maximum values of f: one maximum is 7, and it occurs
when x = 2; the other maximum is 6, and it occurs when x = 5.

(b) A function value f (a) is a local minimum value of f if f (a) is the smallest value of f on some interval containing a.
From the graph of f we see that there is one local minimum value of f. The minimum value is 2, and it occurs when
X =4.

. The solutions of the equation f (x) = 0 are the x-intercepts of the graph of f. The solution of the inequality f (x) > Ois

the set of x-values at which the graph of f is on or above the x-axis. From the graph of f we find that the solutions of the
equation f (x) = 0are x =1 and x = 7, and the solution of the inequality f (x) > 0 is the interval [1, 7].

. (@) To solve the equation 2x + 1 = —x + 4 graphically we graph the y

functions f (x) = 2x + 1 and g (x) = —x + 4 on the same set of axes
and determine the values of x at which the graphs of f and g

intersect. From the graph, we see that the solution is x = 1.

(b) To solve the inequality 2x + 1 < —x + 4 graphically we graph the functions f (x) =2x +1and g (X) = —x +4o0n
the same set of axes and find the values of x at which the graph of g is higher than the graph of f. From the graphs in
part (a) we see that the solution of the inequality is (—oo, 1).

(@ h(=2)=1,h(©0)=-1,h(2) =3,andh (3) = 4.

(b) Domain: [—3, 4]. Range: [—1, 4].

(© h(=3)=3,h(2)=3,andh(4) =3,s0h (x) =3whenx = -3, x =2,0rx = 4.

(d) The graph of h lies below or on the horizontal line y = 3when —3 < x < 2 or x = 4, s0 h (x) < 3 for those values of x.
(e) The net change in h betweenx = —3andx =3ish(3)—h(-3)=4-3=1.

(@ 9(=4=39(-2)=29(0)=-2,9(2) =1andg (4 =0.

(b) Domain: [—4, 4]. Range: [-2, 3].

(©) g(—4) =3. [Notethatg (2) = 1not3.]

(d) Itappearsthatg (x) < 0for—1 < x < 1.8and forx = 4; thatis, for {x | —1 < x < 1.8} U {4}.
() g(—=1) =0andg(2) =1, so the net change betweenx = —landx =2is1—-0=1.

(@ () =3>1=g(0).So f(0)is larger.

(b) f(=3)~—-1<25=g(-3). Sog(-3)is larger.

(© f(x)=gXx) forx =—2andx =2.

(d fx)<g®x) for—4 <x <—2and2 < x < 3;thatis, on the intervals [—-4, —2] and [2, 3].
(e f(x)>g(x)for—2 < x < 2;thatis, on the interval (-2, 2).

(a) The graph of g is higher than the graph of f at x = 6, so g (6) is larger.

(b) The graph of f is higher than the graph of g at x = 3, so f (3) is larger.

(c) The graphs of f and g intersectatx =2, x =5, and x &~ 7,50 f (x) = g (x) for these values of x.
(d) f(x) <g®)forl<x <2andapproximately5 < x < 7;thatis, on [1, 2] and [5, 7].

(@ f(x)>g(x)for2 <x <5andapproximately 7 < x < 8; thatis, on [2, 5) and (7, 8].
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11. (a) 12. (a) y

(b) Domain: (—oo, 0o); Range: (—o0, 00) (b) Domain: (—oo, 0o); Range (—o0, 00)

13. (8 yA 14. (a) ¥4

s LA

=

(b) Domain: (1, 4); Range (—4, 2)
(b) Domain: [—2, 5]; Range [—4, 3]

15. (a) 16. ()

YA

(b) Domain: [—3, 3]; Range: [—1, 8]

(b) Domain: [—3, 3]; Range [—6, 3]

17. (a)

18. (a)

1 2

(b) Domain: (—oo, 00); Range: [—1, co) (b) Domain: (—oo, 00); Range: (—oo, 2]
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19. (a) 20. (a)
2
1
i 2 4 6
-1
(b) Domain: [1, co); Range: [0, co) (b) Domain: [—2, c0); Range: [0, co)
21. (a) 22. (a)
5 5
8-6-4-2| 2468 -8-6\4-2 | 2 4/6 8
5T
(b) Domain: [—4, 4]; Range: [0, 4] (b) Domain: [-5, 5]; Range: [-5, 0]
23. y 24, y
—2x+3
1 3x—7
1
1 X
(a) From the graph, we see that x — 2 = 4 — x when (a) From the graph, we see that —2x + 3 = 3x — 7 when
X =3. X =2.
(b) From the graph, we see X —2 > 4 — x when x > 3. (b) From the graph, we see that —2x 43 < 3x — 7 when

X > 2.
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25. y

(a) From the graph, we see that x2 =2 — x when
X=-2o0rx =1

(b) From the graph, we see that x2 < 2 — x when
—2<x<1l

27.

-10
-20
-30

(a) We graph y = x3 + 3x2 (black) and
y = —x2 + 3x + 7 (gray). From the graph, we see
that the graphs intersect at x ~ —4.32, x ~ —1.12,
and x ~ 1.44.

(b) From the graph, we see that

x3 4 3x2 > —x2 + 3x + 7 on approximately
[—4.32, —1.12] and [1.44, c0).

29.

() We graph y = 16x3 + 16x2 (black) and y = x + 1
(gray). From the graph, we see that the graphs

intersectat x = —1, x = _%, and X = %.

(b) From the graph, we see that 16x3 + 16x2 > x + 1 on

- o).

26. y

2
y=—x

y=3—4x

(a) From the graph, we see that —x2 =3 — 4x when
x=1lorx =3.

(b) From the graph, we see that —x2 > 3 — 4x when
1<x<3.

28.

(a) We graph y = 5x2 — x3 (black) and
y = —x2 4 3x + 4 (gray). From the graph, we see
that the graphs intersect at x ~ —0.58, x &~ 1.29, and
X & 5.29.

(b) From the graph, we see that
5x2 — x3 < —x2 4 3x + 4 on approximately
[-0.58, 1.29] and [5.29, c0).

30.

-1 01 2 3 4 5

(@ We graphy = 1+ /X (black) and y = v/x2 + 1
(gray). From the graph, we see that the solutions are
x =0and x ~ 2.31.

(b) From the graph, we see that 1 + /X > v/x2 + 1 on
approximately (0, 2.31).



31. (a) The domain is [—1, 4] and the range is [—1, 3].
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(b) The function is increasing on (—1, 1) and (2, 4) and decreasing on (1, 2).

32. (a) The domain is [—2, 3] and the range is [—2, 3].

(b) The function is increasing on (0, 1) and decreasing on (—2, 0) and (1, 3).

33. (a) The domain is [—3, 3] and the range is [-2, 2].

(b) The function is increasing on (—2, —1) and (1, 2) and decreasing on (—3, —2), (—1, 1), and (2, 3).

34. (a) The domain is [—2, 2] and the range is [-2, 2].

(b) The function is increasing on (—1, 1) and decreasing on (=2, —1) and (1, 2).

3. (8 fXx) = x2 —Bx is graphed in the viewing rectangle
[-2, 7] by [-10, 10].

_2_1OW6

(b) The domain is (—oo, co) and the range is
[—6.25, 00).

(c) The function is increasing on (2.5, co). It is
decreasing on (—o0, 2.5).

37. (a) f (x) = 2x3 —3x2 — 12x is graphed in the viewing
rectangle [—3, 5] by [—25, 20].

20
0

-10
-20

(b) The domain and range are (—oo, 00).

(c) The function is increasing on (—oo, —1) and (2, 00).

It is decreasing on (—1, 2).

36.(a) f (x) = x3 — 4x is graphed in the viewing rectangle
[—10, 10] by [—-10, 10].

10

(b) The domain and range are (—oo, c0).

(c) The function is increasing on (—oo, —1.15) and
(1.15, o). It is decreasing on (—1.15, 1.15).

38. (a) f (x) = x* — 16x2 is graphed in the viewing
rectangle [—10, 10] by [—70, 10].

(b) The domain is (—oo, co) and the range is [—64, 00).

(c) The function is increasing on (—2.83, 0) and
(2.83, 00). It is decreasing on (—oo, —2.83) and
(0, 2.83).
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39. (@ f(x)= x3 4 2x2 — x — 2 is graphed in the viewing
rectangle [-5, 5] by [-3, 3].

2 —
—f— AN I + |
4 [ \j 2 4

(b) The domain and range are (—oo, 00).

(¢) The function is increasing on (—oo, —1.55) and
(0.22, 00). It is decreasing on (—1.55, 0.22).

41. (a) f (x) = x2/% is graphed in the viewing rectangle
[—10, 10] by [5, 5].

(b) The domain is (—oo, co) and the range is [0, co).

(¢) The function is increasing on (0, 0o). It is decreasing
on (—oo, 0).

40. (@) f (x) = x* — 4x3 + 2x2 + 4x — 3 is graphed in the
viewing rectangle [—3, 5] by [-5, 5].

(b) The domain is (—oo, 0o) and the range is [—4, 00).

(c) The function is increasing on (—0.4, 1) and (2.4, c0).
It is decreasing on (—oo, —0.4) and (1, 2.4).

42. (@) f (x) = 4 — x2/3 is graphed in the viewing rectangle
[—10, 10] by [10, 10].

10

-10 -5 5 10

-10

(b) The domain is (—oo, 0o) and the range is (—oo, 4].

(c) The function is increasing on (—oo, 0). Itis
decreasing on (0, o).

43. (a) Local maximum: 2 at x = 0. Local minimum: —latx = —2and O at x = 2.
(b) The function is increasing on (—2, 0) and (2, co) and decreasing on (—oo, —2) and (0, 2).

44. (a) Local maximum: 2 at x = —2 and 1 at x = 2. Local minimum: —1 at x = 0.
(b) The function is increasing on (—oo, —2) and (0, 2) and decreasing on (—2, 0) and (2, c©).

45. (a) Local maximum: Oatx =0and 1atx = 3. Local minimum: —2atx = —2and —latx = 1.
(b) The function is increasing on (—2, 0) and (1, 3) and decreasing on (—oo, —2), (0, 1), and (3, 00).

46. (a) Local maximum: 3atx = —2 and 2 at x = 1. Local minimum: Oatx = —land —latx = 2.
(b) The function is increasing on (—oo, —2), (—1, 1), and (2, co) and decreasing on (—2, —1) and (1, 2).

47. (a) Inthe first graph, we see that f (x) = x3 — x has a local minimum and a local maximum. Smaller x- and y-ranges show
that f (x) has a local maximum of about 0.38 when x ~ —0.58 and a local minimum of about —0.38 when x ~ 0.58.

U

5 -0.60

0.5 0.50 0.55 0.60
-0.3 1 t f t i
0.4
-0.4
} t 0.3
-0.55 -0.50 05

(b) The function is increasing on (—oo, —0.58) and (0.58, co) and decreasing on (—0.58, 0.58).
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48. (a) In the first graph, we see that f (x) = 3 + x + x2 — x3 has a local minimum and a local maximum. Smaller x- and
y-ranges show that f (x) has a local maximum of about 4.00 when x = 1.00 and a local minimum of about 2.81 when

X ~ —0.33.
T29 41
—_—
T28 4.0
f P—t—t—+—t27 39 +—+—+—+——
-2 -0.40 -0.35 -0.30 0.9 1.0 1.1

(b) The function is increasing on (—0.33, 1.00) and decreasing on (—oo, —0.33) and (1.00, co).

49. (a) In the first graph, we see that g (x) = x* — 2x3 — 11x2 has two local minimums and a local maximum. The local
maximum is g (x) = 0 when x = 0. Smaller x- and y-ranges show that local minima are g (x) ~ —13.61 when

x ~ —1.71and g (x) ~ —73.32 when x ~ 3.21.

S | 5 -175  -170  -165 31 3.2 33
I I F——t——1-134 -73.0 '\I/'
-50 -13.6 -735
-100 -13.8 -74.0

(b) The function is increasing on (—1.71, 0) and (3.21, co) and decreasing on (—oo, —1.71) and (0, 3.21).

50. (a) In the first graph, we see that g (x) = x° — 8x3 + 20x has two local minimums and two local maximums. The local
maximums are g (x) &~ —7.87 when x ~ —1.93 and g (x) = 13.02 when x = 1.04. Smaller x- and y-ranges show that
local minimums are g (x) &~ —13.02 when x = —1.04 and g (x) &~ 7.87 when x =~ 1.93. Notice that since g (x) is odd,

the local maxima and minima are related.

20 -2.0 -1.8 131
W k : + } -7.8
| ) ) \ 13.0
I N N 1
5 5 -7.9
129 - f * {
-20 8.0 1.0 12
-1.2 -1.0 7.90
f * f i -12.8
-13.0
7.80 T t f t !
2132 1.90 1.95 2.00

(b) The function is increasing on (—oo, —1.93), (—1.04, 1.04), and (1.93, co) and decreasing on (—1.93, —1.04) and
(1.04, 1.93).
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51. (a) In the first graph, we see that U (x) = x4/6 — x has only a local maximum. Smaller x- and y-ranges show that U (x)
has a local maximum of about 5.66 when x = 4.00.

10 5.70
5 5.65
; : 5.60 +————+————
/ 5 3.9 4.0 41

(b) The function is increasing on (—oo, 4.00) and decreasing on (4.00, 6).

52. (a) In the first viewing rectangle below, we see that U (x) = x+/x — x2 has only a local maximum. Smaller x- and
y-ranges show that U (x) has a local maximum of about 0.32 when x = 0.75.

1.0 0.40

0.5 0.35

0.0 t } t 1 0.30 t } ? i
0.0 0.5 1.0 0.7 0.8 0.9

(b) The function is increasing on (0, 0.75) and decreasing on (0.75, 1).

_ 1—x2 - .
53. (a) In the first graph, we see that V (x) = 3 has a local minimum and a local maximum. Smaller x- and y-ranges
show that V (x) has a local maximum of about 0.38 when x ~ —1.73 and a local minimum of about —0.38 when
X &~ 1.73.
2 0.40 1.6 1.7 18
‘{\ -0.30 t f t !
I'-’-—-:/\ ; | 0.35
5 " 035
} t } t T 0.30
- -1.8 -1.7 -1.6 -0.40

(b) The function is increasing on (—oo, —1.73) and (1.73, co) and decreasing on (—1.73, 0) and (0, 1.73).

54. (a) In the first viewing rectangle below, we see that V (x) = 1 has only a local maximum. Smaller x- and

X2 4+ X +
y-ranges show that V (x) has a local maximum of about 1.33 when x =~ —0.50.

2 1.40

1.35

-5 5 } t f t T 1.30
-0.6 -0.5 -0.4

(b) The function is increasing on (—oo, —0.50) and decreasing on (—0.50, co).

55. (a) At 6 A.Mm. the graph shows that the power consumption is about 500 megawatts. Since t = 18 represents 6 P.M., the
graph shows that the power consumption at 6 p.M. is about 725 megawatts.
(b) The power consumption is lowest between 3 A.M. and 4 A.M..



56.

57.

58.

59.

60.

61.

62.
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(c) The power consumption is highest just before 12 noon.
(d) The net change in power consumption from 9 A.M. to 7 P.M. is P (19) — P (9) &~ 690 — 790 ~ —100 megawatts.

(a) The first noticeable movements occurred at time t = 5 seconds.
(b) It seemed to end at time t = 30 seconds.
(¢) Maximum intensity was reached att = 17 seconds.

(a) This person appears to be gaining weight steadily until the age of 21 when this person’s weight gain slows down. The
person continues to gain weight until the age of 30, at which point this person experiences a sudden weight loss. Weight
gain resumes around the age of 32, and the person dies at about age 68. Thus, the person’s weight W is increasing on
(0, 30) and (32, 68) and decreasing on (30, 32).

(b) The sudden weight loss could be due to a number of reasons, among them major illness, a weight loss program, etc.

(c) The net change in the person’s weight from age 10 to age 20 is W (20) — W (10) = 150 — 50 = 100 Ib.

(2) Measuring in hours since midnight, the salesman’s distance from home D is increasing on (8, 9), (10, 12), and (15, 17),
constant on (9, 10), (12, 13), and (17, 18), and decreasing on (13, 15) and (18, 19).

(b) The salesman travels away from home and stops to make a sales call between 9 A.M. and 10 A.M., and then travels
further from home for a sales call between 12 noon and 1 p.m. Next he travels along a route that takes him closer to
home before taking him further away from home. He then makes a final sales call between 5 p.M. and 6 p.M. and then
returns home.

(c) The net change in the distance D from noon to 1 p.Mm. is D (1 P.m.) — D (noon) = 0.

(a) The function W is increasing on (0, 150) and (300, co) and decreasing on (150, 300).
(b) W has a local maximum at x = 150 and a local minimum at x = 300.
(c) The net change in the depth W from 100 days to 300 days is W (300) — W (100) = 25 — 75 = —50 ft.

(a) The function P is increasing on (0, 25) and decreasing on (25, 50).
(b) The maximum population was 50,000, and it was attained at x = 25 years, which represents the year 1975.

(c) The net change in the population P from 1970 to 1990 is P (40) — P (20) = 40 — 40 = 0.

Runner A won the race. All runners finished the race. Runner B fell, but got up and finished the race.

() F 63. (a) E
80 1
o1 400 |
60 300
50 ]
40 2001
30 1
o] 100
10
I s ——— 0' 50 100 150 200 250 300 T

1 2 34567 8 910 *

(b) As the temperature T increases, the energy E
increases. The rate of increase gets larger as the
temperature increases.

(b) As the distance x increases, the gravitational
attraction F decreases. The rate of decrease is rapid
at first, and slows as the distance increases.
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64. In the first graph, we see the general location of the minimum of V = 999.87 — 0.06426T -+ 0.0085043T 2 — 0.0000679T 3
isaround T = 4. In the second graph, we isolate the minimum, and from this graph, we see that the minimum volume of
1 kg of water occurs at T ~ 3.96° C.

1005

1000

\

995
0 20

999.76
999.75 %
999.74
35 4.0 4.5

' . - 10 .
65. In the first graph, we see the general location of the minimum of E (v) = 2.7303—5. In the second graph, we isolate the
b —

minimum, and from this graph, we see that energy is minimized when » ~ 7.5 mi/h.
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66. In the first graph, we see the general location of the maximum ofo (r) =3.2(1 —r) r2 isaround r = 0.7 cm. In the second
graph, we isolate the maximum, and from this graph we see that at the maximum velocity is approximately 0.47 when

r ~ 0.67 cm.

67. (&) f (x) isalways increasing, and f (x) > O for all x.

0.0

1.0
. H
+ } + } + y
0.6 0.8 1

0

—

(=]

0.50

0.48

0.46
]
1

" 1 "
T N T N
0.60 0.65 0.70

(b) f (x) is always decreasing, and f (x) > 0 for all x.

C
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(¢) f (x)isalways increasing, and f (x) < 0 forall x. (d) f (x) is always decreasing, and f (x) < 0 for all x.
Y. Yy
o —_— 0 x

68. Numerous answers are possible.
69. (a) If x = a is a local maximum of f (x) then (o) Let f (x) = x* 4+ x2 — 6x + 9. From the graph, we
f @) > f (x) >0forall x around x = a. So see that f (x) has a minimum at x = 1. Thus g (x)
) ) - _ L
[g (a)] > [g (x)] and thus g (a) > g (¥). also hz-;\s a minimum at x = 1 and this minimum
Similarly, if x = b is a local minimum of f (x), then valueis g (1) = V14 +12 —6(1) +9 = V5.
f (x) > f (b) > 0forall x around x = b. So 10
2 2
[900]” = [g (b)] and thus g (x) = g (b).
(b) Using the distance formula, 5
900 =/ (x —3)2 + (x2 - 0)? o———
=Vx4+x2-6x+9 0 2
I - 100 miles .
1. If you travel 100 miles in two hours then your average speed for the trip is average speed = hours = 50 mi/h.
. . f(b)—-f@
2. The average rate of change of a function f between x = a and x = b is average rate of change = —b_a
3. The average rate of change of the function f (x) = x2 between x = 1 and x = 5 is
2_ 12
_fG-f@ 5" -1 25-1 24
te of ch = = = = — =6.
average rate of change - 2 2 2
4. (a) The average rate of change of a function f between x = a and x = b is the slope of the secant line between (a, f (a))
and (b, f (b)).
(b) The average rate of change of the linear function f (x) = 3x + 5 between any two points is 3.
5. (a) Yes, the average rate of change of a function between x = a and x = b is the slope of the secant line through (a, f (a))
f)-f
and (b, f (b)); that is, w.
(b) Yes, the average rate of change of a linear function y = mx + b is the same (namely m) for all intervals.
6. (a) No, the average rate of change of an increasing function is positive over any interval.
(b) No, just because the average rate of change of a function between x = a and x = b is negative, it does not follow
that the function is decreasing on that interval. For example, f (x) = x2 has negative average rate of change between
x = —2and x =1, but f isincreasing for0 < x < 1.
7. (@) Thenetchangeis f (4)— f (1)) =5-3=2.

wl N

. . 5-3
(b) We use the points (1, 3) and (4, 5), so the average rate of change is —1-



174 CHAPTER 2 Functions

8. (@) Thenetchangeis f (5) — f (1) =2—-4=-2.

(b) We use the points (1, 4) and (5, 2), so the average rate of change is % = —TZ = —%.
9. (@) Thenetchangeis f (5) — f (0)=2—-6 = —4.
(b) We use the points (0, 6) and (5, 2), so the average rate of change is é — g = %4

10. (a) The netchangeis f (5) — f (-1) =4—-0=4.
5-(-1) 6 3
11. (8) Thenetchangeis f (3)— f (2)=[3(3)—-2]-[3(2)—-2]=7—-4=3.

fR-1f@ 3

Th f ch is—————— =- =3
(b) The average rate of change is 3.3 1 3

(b) We use the points (—1, 0) and (5, 4), so the average rate of change is

12. (a) The net changeisr (6) —r (3) = [3 -1 (6)] - [3 -1 (3)] —1-2=-1

(b) The average rate of change is M = —1.
6—3 3
13. (a) Thenetchangeish (1) —h (—4) = [—1+ %] - [_ (-4) + %] = % - % = _5,

. h()-h(-4) -5
(b) The average rate of change is -4 ~5° 1.

14. (a) The net change is g (2) — g (—3) = [2 -2 (2)] - [2 -2 (—3)] =2 _4=-1
1

o

9@ -9(-3 _

b) Th te of ch i
(b) The average rate of change is (3

2
3

15. (a) The net change is h (6) — h (3) = [2 6)2 — 6] - [2 3)2 - 3] — 66— 15 =51.

h@®-h@E) 51

63 _3=l7.

(b) The average rate of change is

16. (a) The net change is f (0) — f (—2) = [1 -3 (0)2] _ [1 -3 (—2)2] —1-(-11) =12

fO-f(2 12

Th f ch is—————— = — =6.
(b) The average rate of change is - (=2 > 6

17. (@) The net change is f (10) — f (0) = [103 —4 (102)] - [03 —4 (02)] — 600 — 0 = 600.
f(10)— f(0) 600 _

(b) The average rate of change is —To—o ~" 10" 60.

18. (a) The net changeis g (2) — g (—2) = [24 -84 22] - [(—2)4 — (=23 + (—2)2] —12-28=-16.

2)—g (-2 —-16
(b) The average rate of change is g(z)——(g—(Z)) == —4.

19. (a) The netchangeis f (3+h) — f (3) = [5 G+ h)2] - [5 (3)2] — 45 4 30h + 5h2 — 45 = 5h2 + 30h.

f (3+h)— f(3) 5h?+30h

— 5h +30.
G+h -3 h +

(b) The average rate of change is

20. (a) The netchangeis f (2 +h)— f (2) = [1 —32+ h)2] - [1 -3 (2)2] - (—3h2 —12h - 11) —(=11) = —3h2—12h.

f(2+h)—f(@ —3n?—12h

_ — _3h—12
@2+h) -2 h

(b) The average rate of change is




21.

22.

23.

24.

25.

26.

27.

28.

29.

30.
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1 1 1-a
Th h i —gH==-== )
(8 Thenetchangeisg (@) —g(1) 371 3
l-a
g@-9®» a4 _ 1-a 1
(b) The average rate of change is a1 ~2-1 a@-D a
. 2 2 2h
(a)Thenetchangelsg(h)—g(O)_h+1—0+1_—h+1.
2h
9 -90©0 "hy1 -2 2
(b) The average rate of change is — = b “RhiD - hil
2 2h

2
Th h is f N-f@=_—F--=-—rrs
(@) The netchangeis f (a +h) @) a+h a a(a+h)

(b) The average rate of change is

2h
f(a+h)—f(a)__a(a+h)__ 2h 2
@a+hy—a h " ah(@a+h) a@+h)’

(@) Thenetchangeis f (a+h)— f (a) =+va+h — . /a.
(b) The average rate of change is

f@a+h)—f@ va+ —\/E.a/a+h+\/§_ @a+hy—-a h _ 1
@+h-a h Ja+h+ya h(Ja+th+,a) h(Jath+,a) a+th+.a

(a) The average rate of change is
1 1
f(a+h)—f(a)_[j(a+h)+3]—[ja+3] fat+ih+3-ta-3 In
@+hy—a h h “ h

(b) The slope of the line f (x) = %x +3is % which is also the average rate of change.

(a) The average rate of change is
g@+h-g@ [4@+h+2]-[-4a+2] -4a-4h+2+4a-2 _—_4h__4

@@a+hy—a h h h
(b) The slope of the line g (x) = —4x + 2 is —4, which is also the average rate of change.

The function f has a greater average rate of change between x = 0 and x = 1. The function g has a greater average rate of
change between x = 1 and x = 2. The functions f and g have the same average rate of change between x = 0 and x = 1.5.

The average rate of change of f is constant, that of g increases, and that of h decreases.

. W (200)—W (1000 50-75 =25 1
The average rate of change is 200 — 100 = 200-100 — 100 — 2 ft/day.
(a) The average rate of change is PGAO)—-P@) _40-40_ 0 =0.

40-20  40-20 20
(b) The population increased and decreased the same amount during the 20 years.

.. 1591-85 735
(a) The average rate of change of population is 2000—1998 — 3 — 245 persons/yr.
826 — 1,483 —657
2004 — 2002~ 2
(c) The population was increasing from 1997 to 2001.

(d) The population was decreasing from 2001 to 2006.

(b) The average rate of change of population is

= —328.5 persons/yr.
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. 800—-400 400 100
32. (a) The average speed is 15768 — 84— o1 ~ 4.76 m/s.
. 1,600—-1,200 400
(b) The average speed is A2 -263 — 129 ~ 2.68 m/s.
(©
Lap | Length of timetorunlap | Average speed of lap.
1 32 6.25 m/s
2 36 5.56 m/s
3 40 5.00 m/s
4 44 4.55 m/s
5 51 3.92m/s
6 60 3.33mis
7 72 2.78 m/s
8 77 2.60 m/s
The man is slowing down throughout the run.
33. (a) The average rate of change of sales is % = %? = 14 players/yr.
(b) The average rate of change of sales is % = 1—18 = 18 players/yr.
(c) The average rate of change of sales is 23;(5) : 2;3 1= _1103 = —103 players/yr.
(d)
Year | DVD players sold | Change in sales from previous year
2003 495 —
2004 513 18
2005 410 —103
2006 402 -8
2007 520 118
2008 580 60
2009 631 51
2010 719 88
2011 624 —95
2012 582 —42
2013 635 53

Sales increased most quickly between 2006 and 2007, and decreased most quickly between 2004 and 2005.



34.
Year | Number of books
1980 420
1981 460
1982 500
1985 620
1990 820
1992 900
1995 1020
1997 1100
1998 1140
1999 1180
2000 1220
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35. The average rate of change of the temperature of the soup over the first 20 minutes is

T(0)—T@©  119-200 -8l .
_ = % _ _405° F/min.
20-0 20-0 20 057 F/min
T(40)—T(20) 89-119 30
0-20 = 40-20 20

temperature (in absolute value).

36. (a) (i) Between 1860 and 1890, the average rate of change was

about 84 farms per year.

(if) Between 1950 and 1970, the average rate of change was

about 131 farms per year.

y (1890) —

Over the next 20 minutes, it is

= —1.5° F/min. The first 20 minutes had a higher average rate of change of

y (1860) 4570 — 2040

1890 —

y (1970) —

1860 ~ ) ~ 84, a gain of

y (1950) 2780 — 5390

1970 —

1950 ~ 0 ~ —131, a loss of

(b) From the graph, it appears that the steepest rate of decline was during the period from 1950 to 1960.

37. (a) For all three skiers, the average rate of change is

d10)-d© _10 _

10-0 ~ 10

(b) Skier A gets a great start, but slows at the end of the race. Skier B maintains a steady pace. Runner C is slow at the

beginning, but accelerates down the hill.

38. (a) Skater B won the race, because he travels 500 meters before Skater A.

(b) Skater A’s average speed during the first 10 seconds is
Skater B’s average speed during the first 10 seconds is
(c) Skater A’s average speed during his last 15 seconds is

Skater B’s average speed during his last 15 seconds is

A(10) — A(0) _

10-0

10-0

B(10)— B(0) _

40 — 25

A(40) — A(25) _

B (35) — B (20) _ 500 — 200

200—-0

0 =20m/s.
100-0

0 =10 m/s.
500 — 395

G =7m/s.

35-20

G =20m/s.
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t=a | t=b Average Speed = TO-1@)
b—a
3 a5 16(35)2-16(3)> 104
' 35-3 -
3 31 16(3.1)2 - 16(3)> 976
' 31-3 -
16(3.01)2 - 16 (3)>
3 |30 2013 = 96.16
16 (3.001)2 — 16 (3)2
3 | 3.001 = 96.016
3.001 -3
16 (3.0001)2 — 16 (3)2
.0001 = 96.001
3 | 3.000 20001 —3 96.0016

From the table it appears that the average speed approaches 96 ft/s as the time intervals get smaller and smaller. It seems

reasonable to say that the speed of the object is 96 ft/s at the instant t = 3.

2.5  LINEAR FUNCTIONS AND MODELS

10.

11.

12.

13.
14.

. If f is a function with constant rate of change, then

(a) f isalinear function of the form f (x) = ax +b.
(b) The graph of f isa line.

L f £ (x) = —5x + 7, then

(a) The rate of change of f is —5.
(b) The graph of f is a line with slope —5 and y-intercept 7.

. From the graph, we see that y(2) = 50 and y(0) = 20, so the slope of the graph is

_y@-y@© 50-20 .
= 520 =— = 15 gal/min.

. From Exercise 3, we see that the pool is being filled at the rate of 15 gallons per minute.
. If a linear function has positive rate of change, its graph slopes upward.

. f (x) = 3isa linear function because it is of the form f (x) = ax + b, witha = 0and b = 3. Its slope (and hence its rate

of change) is 0.

. f(x) =3+ §x = 3x +3islinearwitha = 3 andb = 3.
. f(X)=2—4x = —4x + 2is linear witha = —4and b = 2.

. £ (X) =X (4 —x) = 4x — x2 is not of the form f (x) = ax + b for constants a and b, so it is not linear.

f (x) = /X + Lis not linear.

f(x)= :%x+%islinearwitha:%andb:%.

2x —3

f(x)= =2- g is not linear.

f(xX)=Kx+ 1)2 = x2 + 2x + 1is not of the form f (x) = ax + b for constants a and b, so it is not linear.

f(x):%(3x -1 = %x —%islinearwitha:%andb:—%.



15.

16.

17.

18.

X f(x)=2x-5
-1 -7

0 -5

1 -3

2 -1

3

4

The slope of the graph of f (x) =2x —5is 2.

X g(X)=4—-2x

A~ w NN 2 O
o

The slope of the graph of g (xX) =4 — 2x = —2x + 4 is —2.

t | riy=-3%t+2
-1 2.67
2
1.33
0.67
0
—0.67

A W N P O

The slope of the graph of r (t) = —%t +2is —%.

t |hity=3-3t
-2 2
-1 1.25

0 05

1 —0.25

2 -1

3 -1.75

The slope of the graph of h (t) = 5 — 3tis —3.

YA
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19. (a) 20. ()

—-10

(b) The graph of f (x) = 2x — 6 has slope 2.

(b) The graph of g (z) = —3z — 9 has slope —3.
(¢) f (x) =2x — 6 has rate of change 2.

(¢) g (z) = —3z — 9 has rate of change —3.

21. (a) 22. ()

-10 0 10 w
-1 0 1

I

(b) The graph of h (t) = —0.5t — 2 has slope —0.5.

(b) The graph of s (w) = —0.2w — 6 has slope —0.2.
() h (t) = —0.5t — 2 has rate of change —0.5.

() s (w) = —0.2w — 6 has rate of change —0.2.

23. (a) v 24. (a) A
10
1
50 -1
2710 2 0 1 r
<1
(b) The graph of v (1) = _%Ot — 20 has slope _1?0, (b) The graphof A(r) = —%r — 1 has slope —%.
(© v (t) = =22t — 20 has rate of change — %

D, (©) A(r) = —%r — 1 has rate of change —3.



25

27
28

29
30
31

32

33

34

35

36

37.

. (a)

(b) The graph of f (t) = —3t + 2 has slope —3.

© f= —%t + 2 has rate of change —%.

26. (a)

SECTION 2.5  Linear Functions and Models

(b) The graph of g (x) = %x — 10 has slope %.

©gx = %x — 10 has rate of change %.

. The linear function f with rate of change 3 and initial value —1 has equation f (x) = 3x — 1.
. The linear function g with rate of change —12 and initial value 100 has equation g (x) = —12x + 100.

. The linear function h with slope % and y-intercept 3 has equation h (x) = %x + 3.

. The linear function k with slope —%‘ and y-intercept —2 has equation k (x) = —éx -2

181

. (a) From the table, we see that for every increase of 2 in the value of x, f (x) increases by 3. Thus, the rate of change of f

ic 3
ISj.

(b) Whenx =0, f (x) =7,s0b =7. From part (a), a = % andso f (x) = %x +7.

. (a) From the table, we see that f (—3) = 11 and f (0) = 2. Thus, when x increases by 3, f (x) decreases by 9, and so the
rate of change of f is —3.
(b) Whenx =0, f (x) =2,s0b = 2. From part (a),a = —3,and so f (x) = —3x + 2.

4 —
. (a) From the graph, we see that f (0) = 3 and f (1) = 4, so the rate of change of f is —3 =1

(b) Frompart(@),a=1,and f (0) =b =3,50 f (x) =x + 3.

1-0

. 0-4
. (&) From the graph, we see that f (0) =4 and f (2) = 0, so the rate of change of f is —— = —2.

(b) Frompart (8),a=—2,and f (0) =b =4,s0 f (x) = —2x + 4.

. (a) From the graph, we see that f (0) =2 and f (4) = 0, so the rate of change of f is 0

(b) From part (a),a = —%, and f (0)=b=2,50 f (x) = —%x + 2.

. (a) From the graph, we see that f (0) = —1 and f (2) = 0, so the rate of change of f is —.

(b) Frompart (a),a = 3,and f (0) =b = 1,50 f (x) = 3x — L.

I

01

2-0
0-2_ 1
4-0_ 2
0-(-1) 1
2—-0 2

Increasing the value of a makes the graph of f steeper. In other words, it

increases the rate of change of f.
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38.

39.

40.

41.

42.

45.

CHAPTER2  Functions
L S Increasing the value of b moves the graph of f upward, but does not affect
the rate of change of f.
/ >
/ " %
0 1 r
(a) T (b) The slope of T (x) = 150x + 32,000 is the value of a, 150.
38,000 +
(c) The amount of trash is changing at a rate equal to the slope of the graph,
36,000+ 150 thousand tons per year.
34,000 +
32,000 1
of 0 20 30 x
(a) f (b) The slope of the graph of f (x) = 200 + 32x is 32.
900+
8001 (c) Ore is being produced at a rate equal to the slope of the graph, 32 thousand
7001 tons per year.
6001
5001
4001
300+
2001
100+
o s 10 15 20 25+
(a) LetV (t) = at + b represent the volume of hydrogen. The balloon is being filled at the rate of 0.5 ft3/s, soa = 0.5,

and initially it contains 2 ft3, sob =2. Thus, V (t) = 0.5t + 2.

(b) We solve V (t) =15 < 0.5t + 2 = 15 < 0.5t = 13 <t = 26. Thus, it takes 26 seconds to fill the balloon.

(a) LetV (t) = at + b represent the volume of water. The pool is being filled at the rate of 10 gal/min, so a = 10, and
initially it contains 300 gal, so b = 300. Thus, V (t) = 10t + 300.

(b) We solve V (t) = 1300 < 10t + 300 = 1300 < 10t = 1000 < t = 100. Thus, it takes 100 minutes to fill the pool.

. (@) Let H (x) = ax + b represent the height of the ramp. The maximum rise is 1 inch per 12 inches, so a = 1—12 The ramp

starts on the ground, so b = 0. Thus, H (x) = 1—12x.
(b) We find H (150) = % (150) = 12.5. Thus, the ramp reaches a height of 12.5 inches.
—1200

. Meilin descends 1200 vertical feet over 15,000 feet, so the grade of her road is = —0.075, or —7.5%.

15,000 ~

0
— — _0.05, or —5%.
10,000 0.05, or —5%

(a) From the graph, we see that the slope of Jari’s trip is steeper than that of Jade. Thus, Jari is traveling faster.

Brianna descends 500 vertical feet over 10,000 feet, so the grade of her road is
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(b) The points (0, 0) and (6, 7) are on Jari’s graph, so her speed is % = ! miles per minute or 60 (%) =70 mi/h.

6
. . 16 — 10 .
The points (0, 10) and (6, 16) are on Jade’s graph, so her speed is 60 - 50 = 60 mi/h.

(c) t is measured in minutes, so Jade’s speed is 60 mi/h - 6—10 h/min = 1 mi/min and Jari’s speed is
70 mi/h - & h/min = £ mi/min. Thus, Jade’s distance is modeled by f (t) = 1(t — 0) + 10 = t + 10 and Jari’s
distance is modeled by g (t) = & (t —0) +0 = {t.

46. (a) Letd (t) represent the distance traveled. Whent = 0, d = 0, and when (b) d
1101
. 40-0 100 4

t =50, d = 40. Thus, the slope of the graph is =0.8. The
, us, p grapni 50-0 284
y-intercept is 0, so d (t) = 0.8t. 70
60 1
(c) Jacqueline’s speed is equal to the slope of the graph of d, that is, 50
0.8 mi/min or 0.8 (60) = 48 mi/h. Ny
20+
10

020 40 60 80 100 120 1

47. Let x be the horizontal distance and y the elevation. The slope is —%, so if we take (0, 0) as the starting point, the
elevation is y = —%x. We have descended 1000 ft, so we substitute y = —1000 and solve for x: —1000 = —WGOX =

x =~ 16,667 ft. Converting to miles, the horizontal distance is Tlso (16,667) ~ 3.16 mi.

48. (a) D (b) The slope of the graph of D (x) = 20 + 0.24x is 0.24.
30+ (c) The rate of sedimentation is equal to the slope of the graph, 0.24 cm/yr or
2.4 mm/yr.
20-

49. (a) Let C (x) = ax + b be the cost of driving x miles. In May Lynn drove  (b) c
480 miles at a cost of $380, and in June she drove 800 miles at a cost of 600:
$460. Thus, the points (480, 380) and (800, 460) are on the graph, so the 500:
460—-380 1 400
slope isa = ————— = —. We use the point (480, 380) to find the ]
Peisa = goo—ago — 4 ‘e Use the point (430, 380) tof s00]
value of b: 380 = % (480) + b < b = 260. Thus, C (x) = Fx + 260. 200l
(c) The rate at which her cost increases is equal to the slope of the line, that is 1001
%. So her cost increases by $0.25 for every additional mile she drives. r . . . . . -
0l 200 400 600 800 100012001400

The slope of the graph of

C (x) = Fx + 260 is the value of a, .
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50.

51.

52.

CHAPTER 2 Functions
(a) Let C (x) = ax + b be the cost of producing x chairs in one day. The first (b) c
day, it cost $2200 to produce 100 chairs, and the other day it cost $4800 to 109’888
produce 300 chairs.. Thus, the points (100, 2200) and (300, 4800) are on 8000 +
. 4800 — 2200 . 7000
the graph, so the slope isa = ————— = 13. We use the point 6000 1
300 — 100 <0001
(100, 2200) to find the value of b: 2200 = 13 (100) + b < b = 900. Thus, 4000 +
C (x) = 13x + 900. 30001
2000 +
(c) The rate at which the factory’s cost increases is equal to the slope of the 1000 1
line, that is $13/chair. 0] 100 200 300 400 500 600 ~
The slope of the graph of
C (x) = 13x + 900 is the value of a, 13.
f — f a b) — (a b axo —a
(a) By definition, the average rate of change between x4 and xo is (x2) (1) = (@xz +b) = @x1 +b) _ 2o —aq .
X2 — X1 X2 — X1 X2 — X1
. . . axp —ax a(xp —X
(b) Factoring the numerator and cancelling, the average rate of change is 2 ! _ (X2 = x1) =a.

X2 —X1 X2 —X1

o . L f - f
(a) The rate of change between any two points is ¢. In particular, between a and x, the rate of change is M =c.

—a

(b) Multiplying the equation in part (a) by x — a, we obtain f (x) — f (a) = ¢ (x — a). Rearranging and adding f (a) to
both sides, we have f (x) = cx + (f (a) — ca), as desired. Because this equation is of the form f (x) = Ax + B with
constants A = cand B = f (a) — ca, it represents a linear function with slope ¢ and y-intercept f (a) — ca.

2.6 TRANSFORMATIONS OF FUNCTIONS

. (a) The graphof y = f (x) + 3 is obtained from the graph of y = f (x) by shifting upward 3 units.

(b) The graph of y = f (x + 3) is obtained from the graph of y = f (x) by shifting left 3 units.

. (a) The graph of y = f (x) — 3 is obtained from the graph of y = f (x) by shifting downward 3 units.

(b) The graph of y = f (x — 3) is obtained from the graph of y = f (x) by shifting right 3 units.

. (&) The graph of y = —f (x) is obtained from the graph of y = f (x) by reflecting in the x-axis.

(b) The graph of y = f (—x) is obtained from the graph of y = f (x)by reflecting in the y-axis.

. (@) The graph of f (x) + 2 is obtained from that of y = f (x) by shifting upward 2 units, so it has graph II.

(b) The graph of f (x + 3) is obtained from that of y = f (x) by shifting to the left 3 units, so it has graph I.
(c) The graph of f (x — 2) is obtained from that of y = f (x) by shifting to the right 2 units, so it has graph Il1.
(d) The graph of f (x) — 4 is obtained from that of y = f (x) by shifting downward 4 units, so it has graph V.

5. If f isan even function, then f (—x) = f (x) and the graph of f is symmetric about the y-axis.

. If f isan odd function, then f (—x) = —f (x) and the graph of f is symmetric about the origin.

. (@) The graph of y = f (x) — 1 can be obtained by shifting the graph of y = f (x) downward 1 unit.

(b) The graph of y = f (x — 2) can be obtained by shifting the graph of y = f (x) to the right 2 units.

. (@) The graph of y = f (x 4 4) can be obtained by shifting the graph of y = f (x) to the left 5 units.

(b) The graph of y = f (x) + 4 can be obtained by shifting the graph of y = f (x) upward 4 units.

. (@) The graph of y = f (—x) can be obtained by reflecting the graph of y = f (x) in the y-axis.

(b) The graph of y = 3f (x) can be obtained by stretching the graph of y = f (x) vertically by a factor of 3.



10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.
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(a) The graph of y = —f (x) can be obtained by reflecting the graph of y = f (x) about the x-axis.

(b) The graphof y = % f (x) can be obtained by shrinking the graph of y = f (x) vertically by a factor of %

(&) The graph of y = f (x — 5) + 2 can be obtained by shifting the graph of y = f (x) to the right 5 units and upward
2 units.

(b) The graph of y = f (x + 1) — 1 can be obtained by shifting the graph of y = f (x) to the left 1 unit and downward
1 unit.

(a) The graph of y = f (x + 3) 4 2 can be obtained by shifting the graph of y = f (x) to the left 3 units and upward
2 units.

(b) The graph of y = f (x — 7) — 3 can be obtained by shifting the graph of y = f (x) to the right 7 units and downward
3 units.

(8) The graph of y = —f (x) + 5 can be obtained by reflecting the graph of y = f (x) in the x-axis, then shifting the
resulting graph upward 5 units.

(b) The graph of y = 3f (x) — 5 can be obtained by stretching the graph of y = f (x) vertically by a factor of 3, then
shifting the resulting graph downward 5 units.

(a) Thegraphof y =1 — f (—x) can be obtained by reflect the graph of y = f (x) about the x-axis, then reflecting about
the y-axis, then shifting upward 1 unit.

(b) The graph of y =2 — % f (x) can be obtained by shrinking the graph of y = f (x) vertically by a factor of % then
reflecting about the x-axis, then shifting upward 2 units.

(&) The graph of y = 2f (x +5) — 1 can be obtained by shifting the graph of y = f (x) to the left 5 units, stretching
vertically by a factor of 2, then shifting downward 1 unit.

(b) The graph of y = % f (x — 3) + 5 can be obtained by shifting the graph of y = f (x) to the right 3 units, shrinking

vertically by a factor of 1 then shifting upward 5 units.

(@) The graphofy = % f (X — 2) 4+ 5 can be obtained by shifting the graph of y = f (x) to the right 2 units, shrinking
vertically by a factor of L then shifting upward 5 units.

(b) The graph of y = 4f (x 4+ 1) + 3 can be obtained by shifting the graph of y = f (x) to the left 1 unit, stretching
vertically by a factor of 4, then shifting upward 3 units.

(a) The graph of y = f (4x) can be obtained by shrinking the graph of y = f (x) horizontally by a factor of %.
(b) The graph of y = f (%x) can be obtained by stretching the graph of y = f (x) horizontally by a factor of 4.

(a) The graph of y = f (2x) — 1 can be obtained by shrinking the graph of y = f (x) horizontally by a factor of 1, then
shifting it downward 1 unit.

(b) The graphof y = 2f (%x) can be obtained by stretching the graph of y = f (x) horizontally by a factor of 2 and
stretching it vertically by a factor of 2.

(a) The graph of g (x) = (X + 2)2 is obtained by shifting the graph of f (x) to the left 2 units.

(b) The graph of g (x) = x2 + 2 is obtained by shifting the graph of f (x) upward 2 units.

(a) The graph of g (x) = (x — 4)3 is obtained by shifting the graph of f (x) to the right 4 units.

(b) The graph of g (x) = x3 — 4 is obtained by shifting the graph of f (x) downward 4 units.

(2) The graph of g (x) = [x + 2| — 2 is obtained by shifting the graph of f (x) to the left 2 units and downward 2 units.

(b) The graph of g (x) = g (x) = [x — 2| + 2 is obtained from by shifting the graph of f (x) to the right 2 units and upward
2 units.
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22. (a) The graph of g (x) = —/X + 1 is obtained by reflecting the graph of f (x) in the x-axis, then shifting the resulting
graph upward 1 unit.

(b) The graph of g (x) = «/—x + 1 is obtained by reflecting the graph of f (x) in the y-axis, then shifting the resulting
graph upward 1 unit.

23. (a) (b) \ v4
\
\
\
\
\
\
\\
X
C Y d Y
(© \ , (d) \ ,
\ / \ /
\ / \ Yy=@x—1%+3
\ ly=2 \
\ / y=Xx" \ /
\ / \ /
\\\1 (// \\\l (//
1 X 1 X
y=-x
24. (a) Y (b)
1
1 X
v v
© W @ ;
/// ///
e — .7 —
1 // y=vx 1 // y=vx
/
1 X 1 X
}7—\/§+1

25. The graph of y = |x + 1] is obtained from that of y = |x| by shifting to the left 1 unit, so it has graph II.
26. y = |x — 1| is obtained from that of y = |x| by shifting to the right 1 unit, so it has graph IV.
27. The graph of y = |x| — 1 is obtained from that of y = |x| by shifting downward 1 unit, so it has graph I.
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28. The graph of y = — |x| is obtained from that of y = |x| by reflecting in the x-axis, so it has graph IlI.

29. f (x) = x2 + 3. Shift the graph of y = x2 upward 3 units.

31. f (x) = |x] — 1. Shift the graph of y = |x| downward
1 unit.

33. f (x) = (x — 5)2. Shift the graph of y = x2 to the right
5 units.

30. f (x) = x2 — 4. Shift the graph of y = x2 downward
4 units.

32. f (x) = /X + 1. Shift the graph of y = /X upward 1 unit.

) A _
y y=\x+1

34. f (x) = (x + 1)2. Shift the graph of y = x2 to the left
1 unit.
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35. f (X) =[x + 2|. Shift the graph of y = |x| to the left 36. f (x) = +/x — 4. Shift the graph of y = /X to the right
2 units. 4 units.

y=|x+2|

37. f(x) = —x3. Reflect the graph of y = x3 in the x-axis. 38. f (x) = —|x|. Reflect the graph of y = |x| in the x-axis.

y

y .
! N ’
I h ’
N ’
li N .
/ \\ 7
/ 7 y=lx|
;) y=x AN L
2 / Nt
7 N
// X X
/
/ y==x y=—|x|
/
!
!
1
39. y = ¥/—x. Reflect the graph of y = X in the y-axis. 40. y = J—x. Reflect the graph of y = .¥/X in the y-axis.
ya y
- 2 -~ -7 -
o7 y=
2 X
// y:i/i\
_ -~
10 X
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41. y = %xz. Shrink the graph of y = x2 vertically by a 42,y = —5,/X. Stretch the graph of y = /X vertically by a
factor of 5, then reflect it in the x-axis.

factor of 1.
y

¥
\ 1 I
y=Nxo o __

5 PR

\ 51

\ !
1

4.y = % |x|. Shrink the graph of y = |x| vertically by a

43. y = 3|x]|. Stretch the graph of y = |x| vertically by a
factor of %

factor of 3.
y
y
y=3|x| < L
N ’
N ’
N N y=1Ix|,
\\\ // \\ //
\\ // \\l ,/ yfé\x\
AN s y=lx >
o\ ) s 1 X
N 7
Al »
1 X
45. y = (x — 3)2 + 5. Shift the graph of y = x2 to the right 46. y = /x + 4 — 3. Shift the graph of y = /X to the left
3 units and upward 5 units. 4 units and downward 3 units.
A
- -
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47.y =3 — % (x — 1)%. Shift the graph of y = x? to the right  48.y = 2 — /x + L. Shift the graph of y = /X to the left

one unit, shrink vertically by a factor of 1, reflect in the 1 unit, reflect the result in the x-axis, then shift upward

. . . 2 units.
x-axis, then shift upward 3 units.
¥y
y
\ / -
\ ! -~ -
\ / -
\ ly=x - Y=
\ / e
\ / I 4
N ’
1 X 1 ;
}’:3—%()6—1)2
y=2—Jx+1
49. y = |X + 2| 4 2. Shift the graph of y = |x]| to the left 50. y = 2 — |x|. Reflect the graph of y = |x| in the x-axis,
2 units and upward 2 units. then shift upward 2 units.
¥ ¥ ,
y=|x+2|+2 \\ //
N y=lal
\\ /, Y
7 N 7
4 1 7
’ S 7
7 N
y=|x| N // 1 X
AN 1 V2
\\\ it y=2-|x|
1 X

51. y= %«/x + 4 — 3. Shrink the graph of y = /X vertically 52.y =3 —2(x — 1)2. Stretch the graph of y = x2 vertically
by a factor of 2, reflect the result in the x-axis, then shift
the result to the right 1 unit and upward 3 units.

by a factor of L then shift the result to the left 4 units and

downward 3 units.

y
y \ i
\ /
--7 \ !
-7 \ /Y=
//’/>:\/; N !
// \ 1 /
7 \\ //
14/ — 1 X
/ x y=3-2(x—1)3
N
53. y = f (x) —3. When f (x) =x2,y =x% - 3. 54.y = f (x)+5. When f (x) =x3,y =x3 +5.
55. y = f (x +2). When f (X) = /X,y = /X + 2. 56.y = f (x —1). When f (x) = ¥X,y = I/x — L.

57.y=f(Xx+2)—5 When f (x) =Ix|,y =|x+2| 5. 58.y = —f (x —4) + 3. When f (x) = ||,
y=—|x—4|+3.
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59. y = f (—x) + 1. When f (x) = ¥X,y = &—x + 1. 60.y = —f (X +2). When f (x) = x2,y = — (x + 2)2.
61. y:2f(x—3)—2.Whenf(x):x2, 62.y:%f(x+l)+3. When f (x) = [x],

y=2(x-37-2. y=5x+1+3.
63.9(X)=f(x—2)=(x—-22=x2—4x+4 64.9(x)=f (x)+3=x3+3
65.gxX)=f(X+1)+2=|x+1+2 66.g(x) =2f (x) =21x|
67.9(X)=—f(x+2)=—/x+2 68.9(x)=—f (X —2)+1=—(x—2)2+1=—x2+4x -3
69. (8) y = f (x —4) is graph #3. 70.(@) y = 1t (x) is graph #2.

(b) y = f (x) + 3is graph #1. (b) y = —f (x + 4) is graph #3.

() y =2f (x + 6) is graph #2. (c) y = f (x —5) + 3is graph #1.

(d) y = —f (2x) is graph #4. (d) y = f (—x) is graph #4.
n@y=fx-2 b)y="~f0)-2 ©y=2f(x

y y y

d)y=—"f(x)+3 ©y="f(-x) fy=3f(x-1)

y y y

NS T LA

72.(3) y=g(x+1) b)Yy =g(x) ©y=9g(x—-2)
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dy=9g(x) -2 ©@y=-9(x )y =29

738 y=9(%) (b)y =g(3x)

y

74. (&) y =h(3x)

75. y = [2x] y 76.y = I[%x]l

-
.o
.-
-
o
-
1

77. o For part (b), shift the graph in (a) to the left 5 units; for part (c), shift the graph
P

in (a) to the left 5 units, and stretch it vertically by a factor of 2; for part (d), shift

(©) the graph in (a) to the left 5 units, stretch it vertically by a factor of 2, and then shift
it upward 4 units.

'

A

'

od

o B ©
L ! L |
—~
=
=
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78. 61 For (b), reflect the graph in (a) in the x-axis; for (c), stretch the graph in (a)
® 4 vertically by a factor of 3 and reflect in the x-axis; for (d), shift the graph in (a) to
2] the right 5 units, stretch it vertically by a factor of 3, and reflect it in the x-axis. The
P 5 order in which each operation is applied to the graph in (a) is not important to
obtain the graphs in part (c) and (d).
), ©) 4
S ARIC)
79. 41 For part (b), shrink the graph in (a) vertically by a factor of %; for part (c), shrink
1 @][®)
24 the graph in (a) vertically by a factor of % and reflect it in the x-axis; for part (d),
] shift the graph in (a) to the right 4 units, shrink vertically by a factor of 1 and then
2/ 2 reflect it in the x-axis
2 O (d) '
-4
80. For (b), shift the graph in (a) to the left 3 units; for (c), shift the graph in (a) to the

8l (@) y=f (x)=v2x —x2

O)y="f@)=22)-2x% (©y

left 3 units and shrink it vertically by a factor of %; for (d), shift the graph in (a) to

the left 3 units, shrink it vertically by a factor of 1 and then shift it downward
3 units. The order in which each operation is applied to the graph in (a) is not
important to sketch (c), while it is important in (d).

I
—_
~—
Nl
x
S~
Il
N
o
N
x
SN~—"
|
~—
Nl
>
N—"
N

_ ./ 2

= V4x — 4X — x—%xz
4 4
2 2

The graph in part (b) is obtained by horizontally shrinking the graph in part (a) by a factor of % (so the graph is half as
wide). The graph in part (c) is obtained by horizontally stretching the graph in part (a) by a factor of 2 (so the graph is twice

as wide).
82. (@) y=f (x) =v2x —x? ©)y = f(=x)=1/2(=x) = (=x)? (©y =—TF(=X) = —/2(=x) — (-x)?

=v/—-2x —x? =—v/-2x =x2
4
2
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(d) y = f(=2x) = /2(=2x) = (=2%)?

= —V/=2x — x2 = \/—4x — 4x2

€y

I
-
|
Nl
<
N—
I
N
|
[N
<
N——"
|
|
[N
<
N—
N

The graph in part (b) is obtained by reflecting the graph in part (a) in the y-axis. The graph in part (c) is obtained by rotating
the graph in part (a) through 180° about the origin [or by reflecting the graph in part (a) first in the x-axis and then in the
y-axis]. The graph in part (d) is obtained by reflecting the graph in part (a) in the y-axis and then horizontally shrinking the
graph by a factor of % (so the graph is half as wide). The graph in part (e) is obtained by reflecting the graph in part (a) in
the y-axis and then horizontally stretching the graph by a factor of 2 (so the graph is twice as wide).

CF ) =x4 f(=x) = (=x)* =x* = f (). Thus f (x)
is even.

85. f (x) =x2+x. f (=X) = (=x)2 + (=) = x2 —x. Thus
f(—=x) # f (x). Also, f (—x) # —f (x),s0 f (X)is
neither odd nor even.

84. f (x) =x3. f (=x) = (=x)3 = —x3 = — f (x). Thus
f (x) is odd.

86. f (x) = x* — 4x2,
f(—x) = (=x)% =4 (=x)2 = x4 —4x2 = f (x). Thus
f (x) is even.
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87. f (x)=x3—x. 88. f (x) =3x3 +2x2 4+ 1.
f(=x) = (=%)3 = (=x) = =x3 + X f(=x)=3(=x)%+2(=x)2+1=-33+2x2+1.
—_ (x3 _ x) — —f (x). Thus f (—=x) # f (x). Also f (=x) # —f (x),s0 f (x) is
. neither odd nor even.
Thus f (x) is odd.
y
y
1 /

89. T(X)=1—-X F(=x)=1-3F(X)=1+ . Thus 90. f (x) =x + 1/x.
f(—x) # f (). Also f (—x) # —f (x),s0 f (X) is f(=X) = (=X) + 1/ (=X) = =X — 1/x
neither odd nor even. X1/ = —f (X).

g Thus f (x) is odd.
y
_\IK
1 X
1
1 X
91. (a) Even (b) Odd
¥ y
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92. (a) Even (b) Odd

y

93. Since f (x) =x2 —4 <0,for =2 < x < 2, thegraphof  94.g(x) = ’x“ - 4x2‘
y = g (x) is found by sketching the graph of y = f (x) for y
X < —2and x > 2, then reflecting in the x-axis the part of
the graph of y = f (x) for -2 < x < 2.

95. () f (x)=4x —x? (b) f (x) = ‘4x - xz‘

9. (a) f(x)=x3 (b) g (x) = ’x3‘




97.

98.

99.

100.
101

102.

103.
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(a) Luisa drops to a height of 200 feet, bounces up and down, then settles at (b)  y
350 feet. 500

(c) To obtain the graph of H from that of h, we shift downward 100 feet.
Thus, H (t) = h (t) — 100.

(2) Miyuki swims two and a half laps, slowing down with each successive lap. (b) .
In the first 30 seconds she swims 50 meters, so her average speed is 60l
2—8 ~ 1.67m/s. 404
(c) Here Miyuki swims 60 meters in 30 seconds, so her average speed is 201
% =2ms. o 100 200
This graph is obtained by
stretching the original graph
vertically by a factor of 1.2.
(a) The trip to the park corresponds to the first piece of the graph. The class travels 800 feet in 10 minutes, so their average

speed is 81%0 = 80 ft/min. The second (horizontal) piece of the graph stretches fromt = 10 to t = 30, so the class

spends 20 minutes at the park. The park is 800 feet from the school.

(b) y (© y
6007 10001
1 800+
4001 6001
2001 4004
] 2001
o " 20 40 601 0 20 40 60
The new graph is obtained by shrinking the original This graph is obtained by shifting the original graph
graph vertically by a factor of 0.50. The new average to the right 10 minutes. The class leaves ten minutes
speed is 40 ft/min, and the new park is 400 ft from later than it did in the original scenario.

the school.

To obtain the graph of g (x) = (x — 2)2 + 5 from that of f (X) = (x + 2)2, we shift to the right 4 units and upward 5 units.
To obtain the graph of g (x) from that of f (x), we reflect the graph about the y-axis, then reflect about the x-axis, then shift
upward 6 units.

f even implies f (—x) = f (x); g even implies g (—x) = g (x); f odd implies f (—x) = —f (x); and g odd implies
9(=x) =—-9g(x)

If f and g are both even, then (f +9) (—x) = f (=X)+g(—x) = f (X)) + g (x) = (f +g) (X) and f + g is even.

If f and g are both odd, then (f +9) (—x) = f (—=X)+9(—x)=—=Ff (X) —g(X) = —=(f +g) (x) and f + g is odd.

If f odd and g even, then (f 4+ @) (—x) = f (=x) + g (—x) = —f (X) + g (X), which is neither odd nor even.

f even implies f (—x) = f (x); g even implies g (—x) = g (x); f odd implies f (—x) = —f (x); and g odd implies

g (=x) = =g (x).

If f and g are both even, then (fg) (—x) = f (=x) - g (=x) = f (X) - g (X) = (fg) (X). Thus fg is even.

If f and g are both odd, then (fg) (—=x) = f (—x) - g(—x) = = f X) - (=g (X)) = f (X) - g (X) = (f@) (X). Thus fg is
even

If fifoddand giseven,then (fg)(—=x)=f (=x)-g(=x)=f X)- (=g (X)) =—f (X)-g (xX) =—(fg) (X). Thus fgis
odd.
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104. f (x) = x" is even when n is an even integer and f (x) = x" is odd when n is an odd integer.
These names were chosen because polynomials with only terms with odd powers are odd functions, and polynomials with
only terms with even powers are even functions.

2.7 COMBINING FUNCTIONS

1. From the graphs of f and g in the figure, we find (f +9)(2) = f(2 +9@2) = 3+5 = 8,
f f 3
(1-9@=1@ -0 =3-5=-2 ()@ =1@9@=35=15md () @ =3 2.
2. By definition, f o g (x) = f (g (X)). So,ifg(2) =5and f (5) =12,then fog(2) = f (g (2)) = f (5) = 12.
3. If the rule of the function f is “add one” and the rule of the function g is “multiply by 2” then the rule of f o g is “multiply
by 2, then add one” and the rule of g o f is “add one, then multiply by 2.”
4. \We can express the functions in Exercise 3 algebraically as f (x) = x +1, g(X) = 2x, (f og) (x) = 2x + 1, and
(go fHYy(xX)=2(x+1).
5. (@) The function (f + @) (x) is defined for all values of x that are in the domains of both f and g.
(b) The function (fg) (x) is defined for all values of x that are in the domains of both f and g.
(c) The function (f/g) (x) is defined for all values of x that are in the domains of both f and g, and g (x) is not equal to 0.
6. The composition (f o g) (x) is defined for all values of x for which x is in the domain of g and g (x) is in the domain of f.
7. f (x) = x has domain (—o0, ). g (x) = 2x has domain (—oo, c0). The intersection of the domains of f and g is
(—OO, OO)
(f +9) (x) = x 4+ 2x = 3x, and the domain is (—oo, 00). (f — g) (X) = x — 2x = —X, and the domain is (—o0, 00).
(fo)(x) =x(2x) = 2x2, and the domain is (—oo, 00). (é) x) = % = % and the domain is (—o0, 0) U (0, c0).
8. f (X) = x has domain (—o0, 00). g (X) = /X has domain [0, co). The intersection of the domains of f and g is [0, co).
(f +9) (X) = x + /X, and the domain is [0, 00). (f — @) (X) = x — /X, and the domain is [0, co).
f
(fg) (x) = x/X = x3/2, and the domain is [0, c0). (E) (x) = % = /X, and the domain is (0, co).
9. f(x)= x2 4+ x and g x) = x2 each have domain (—oo, o). The intersection of the domains of f and g is (—oo, c0).
(f +g) (x) = 2x2 + x, and the domain is (—oo, 00). (f — @) (x) = x, and the domain is (—o0, 00).
X2 +x
X2

(fg) (x) = x* + x3, and the domain is (—oo, c0). (é) (x) =
10. f(x)=3-— x2 and g x) = x2 — 4 each have domain (—co, 00). The intersection of the domains of f and g is (—oo, 00).
(f +9) (x) = —1, and the domain is (—oo, 00). (f — @) (X) = —2x2 + 7, and the domain is (—oo, c0).
3—x2 3—x2

(fg) (x) = (3 — x2) (x2 - 4) = —x4 + 7x2 — 12, and the domain is (—o0, 00). (é) x) = Z_4 = =2 (x+2)

=1+ % and the domain is (—oo, 0) U (0, 00).

and the domain is (—oo, —2) U (=2, 2) U (2, o0).
11. f(x)=5—xandg (x) = x2 — 3x each have domain (—oo, co). The intersection of the domains of f and g is (—oo, 00).

(f+9x)=6-x)+ (x2 - 3x) = x% — 4x + 5, and the domain is (—o0, 00).
(f=-9x)=06-x)- (x2 - 3x) = —x2 4 2x + 5, and the domain is (—o0, 00).

(fg) (x) = (5 — x) (x2 - 3X) = —x3 + 8x2 — 15x, and the domain is (—oo, o0).

(é) (x) = xg : ;X = ?x_—XS) , and the domain is (—co, 0) U (0, 3) U (3, 00).



12.

13.

14.

15.
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f(x)= x2 4 2x has domain (—co, 00). g (X) = 3x2 — 1 has domain (—oo, o). The intersection of the domains of f and
g is (—oo, 00).

(f+9) () =x2+2x + (Sx2 - 1) = 4x2 4 2x — 1, and the domain is (—oco, co).
(f—g) () =x2+2x — (Sx2 - 1) = —2x2 + 2x + 1, and the domain is (—oo, 00).

(fg) (x) = (x2 + 2x) (3x2 - 1) = 3x* 4 6x3 — x2 — 2x, and the domain is (—co, co).

f X2 42X J3 . Ne
(5)(x):m,3x —1#£0=>x#+ ,andthedomalnls{x|x¢iT}.

f(x)= V25 = X2, has domain [-5,5]. g (x) = +/X + 3, has domain [—3, co). The intersection of the domains of f and g
is [-3, 5].

(f +9) (X) = V25 —x2 + /x + 3, and the domain is [-3, 5].

(f —9) (x) = V25 — x2 — {/x + 3, and the domain is [-3, 5].

(fg) () = /(25 — x2) (x + 3), and the domain is [-3, 5].

f 25 — x?2 .
(5) x) = 13 and the domain is (=3, 5].

f(x)= /16 — x2 has domain [4,4]. g (x) = VX2 =1 has domain (—o0, —1] U [1, 00). The intersection of the domains
of f and gis[—4, —1]U[1, 4].

(f +9) (X) =16 — x2 + /x2 — 1, and the domain is [—4, —1] U [1, 4].

(f =) (x) = V16 — x2 — /x2 — 1, and the domain is [—4, —1] U [1, 4].

(fg) (x) = /(16 — x2) (x2 — 1), and the domain is [—4, —1] U [1, 4].

f [16 — x2
— = ./|———, and the domain is [-4, —1) U (1, 4].
(g)(x) 71 and the domain is [ yU(1,4]

2 4
f(x) = M has domain x # 0. g (x) = X5 has domain x # —4. The intersection of the domains of f and g is

{x | x # 0, —4}; in interval notation, this is (—oo, —4) U (—4, 0) U (0, 00).

2 4 2 4 2(3x+4 L B
(f+g)(x)_x+x+4_x+x+4_ X(X+4),andthedoma|n|s( 00, —4) U (—4,0) U (0, 00).
2 4 2(x=4 L _
(f—g)(x)_X Ve X(X+4),andthedomam|s( 00, —4) U (=4, 0) U (0, 00).
2 4 L
(fa) (x) = X X+a = X(X—+4) and the domain is (—oo, —4) U (=4, 0) U (0, 00).
2
(é) (0= —2—= X;“’,and the domain is (—oo, —4) U (—4, 0) U (0, 50).

X+4
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16.

17.

18.

10.

20.

21.

24.

27.

28.
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2 . X . . . . .
f(x)= r1 has domain x # —1. g (x) = r1 has domain x # —1. The intersection of the domains of f and g is

{x | x # —1}; in interval notation, this is (—oo, —1) U (=1, 00).

2 X X+ 2 L
(f+g)(x)_X+1+X+1_X+1,andthedomalnls(—oo,—l)u(—l,oo).
2 X 2—-x
f— = - = h inis (—oo, —1 -1 .
( g) (X) 11 X+l X_|_1,andtedoma|n|s(oo, ) U (=1, 00)
X 2X
f = . = d the domain is (—oo, —1) U (-1 .
(fg) x) Tl X1 (X+1)2,an e domain is (—oo, —1) U (—1, 00)
2
f 2
(5) x) = X ;'('1 =2 S0 X # 0 as well. Thus the domain is (—oo, —1) U (-1, 0) U (0, c0).

X+1
f (X) = /X + +/3 =X. The domain of \/X is [0, co), and the domain of /3 — x is (—oo, 3]. Thus, the domain of f is
fX)=vXx+4-— 1x_ X . The domain of v/x + 4 is [—4, 00), and the domain of
domain of f is [—4, co) N {(—oc0, 0) U (0, 1]} = [—4, 0) U (0, 1].

is (—oo, 0) U (0, 1]. Thus, the

J1-=xX
X

h(x)=x-— 3)—1/4 = 7 Since 1/4 is an even root and the denominator can notequal 0, x —3 > 0 & x > 3.

_
(x =3V
So the domain is (3, 00).

VX +3 . . . 1 . . .
k(x) = xX +1 . The domain of v/x + 3 is [—3, c0), and the domain of -1 is X # 1. Since x # 1is (—oo, 1) U (1, 00),
the domain is [—3, co) N {(—o0, 1) U (1, 00)} = [-3,1) U (1, 00).
y 22. yT 23. 4.
ftyg
J f f+g
ftyg 0}/9/ > f g
0 X
f 4 2 0 2 4
5 25. 407 ft9/ 14 26 3
/
ftg 1
4 20 S f+g
P
3 AR L
f ‘ 5= =7
2 /zf/ 2 2 s f
4 -20
1
g // ] g
/ = - T T T T
I il 42 8 2 4
f(x)=2x —3andg(x) =4—x2.

@ f@O)="f(4-©?)=f@=24-3=5

(b) 9(f(0)=gQR(0)~3) =g(-3) =4~ (-32=-5
@ f(fR)=FfR@-3)=f1)=2(1)-3=-1
(b) g(g(3) =g (4—32) =g(-5 =4— (-5 =21



29.

30.

31.

32.

48.

49.
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@ (Fog) (-2 =@ =T (4-(-2%) =0 =20 -3=-3

() (@0 1) (- =g(f (-2) =g@(-2)=3) =g (-7) =4— (-1 = 45

@ (fof)y(=l)=f(f(-1)=f@(-1)—3)=f(-5)=2(-5)—3=-13

(b) @09 (-1)=9@ (1) =g (4—(-1?) =g@) =4-32 =5

@ (Fog)(x)=f(gx) =f (4—x2):2(4—x2)—3:8—2x2—3:5—2x2

() (@0 1) () =g(F () =g@x—3) =4—(x —3)2 =4~ (4x? —12x +9) = —4x® +12x - 5
@ (fof)y(x)="f(f(x))=f@Bx—5=3@3x—5)—5=09x—15-5=09x — 20

(b) (gog)(x):g(g(x)):g(z—XZ):2—(2—x2)2:2—(4—4x2+x4)=—x4+4x2—2

L fg@R)=f(®E) =4 34. f (0) = 0,509 (f (0)) =g (0) = 3.
- @o )@ =9(f(4))=9g(@ =5 36.9(0)=3,s0(fog)(0)=f(3)=0.
@ (-2)=g@(-2)=91) =4 B.f@B=2s0((fof)y@="12)=-2

. From the table, g (2) =5and f (5) =6,s0 f (g (2)) = 6.

. From the table, f (2) =3and g (3) =6,s0g(f (2)) =6.

. From the table, f (1) =2and f (2) =3,s0 f (f (1)) =3.

. From the table, g (2) =5andg(5) =1,s09(g (2)) = 1.

. From the table, g (6) =4and f (4) =1,s50 (f 0 Q) (6) = 1.
. From the table, f (2) =3 and g (3) =6,s0(go f)(2) =6.
. From the table, f (5) =6and f (6) =3,s0 (f o f)(5) =3.
. From the table, g (2) =5andg(5) = 1,50 (gog) (5) = 1.

. f (X) =2x + 3, has domain (—o0, 00); g (X) = 4x — 1, has domain (—oco, 00).

(fog)(x)=f (4x —1)=2(4x — 1) + 3 =8x + 1, and the domain is (—oo, c0).
(9o f)(X) =g (2x +3) =4 (2x + 3) — 1 = 8x + 11, and the domain is (—oo, c0).
(fof)(X)=Tf (2x+3)=2(2x +3) + 3 =4x + 9, and the domain is (—oo, 00).
(gog)(X) =g(@x —1) =4(4x —1) — 1 = 16x — 5, and the domain is (—oo, 00).

f (xX) = 6x — 5 has domain (—oo, 00). g (X) = g has domain (—o0, 00).

X X .
(fog(x)=f1 (5) =6 (5) — 5= 3x — 5, and the domain is (—o0, 00).
6x — 5

(o f)(x) =g (6x =5) =

(fof)(x)= f (6x —5) =6(6x —5) — 5 = 36x — 35, and the domain is (—o0, 00).
X

—g(X)=2_% in is (=
(9o (X) =9 (2) =5=7 and the domain is (—oo, 00).
f(x)= x2, has domain (—00, 00); g (X) = X + 1, has domain (—o0, 00).
(fog)(x) = f (x+1) = (x +1)> = x? + 2x + 1, and the domain is (—o0, c0).

(9o f)y(x) =g (xz) = (xz) + 1 =x2 + 1, and the domain is (—oo, o).

=3X — % and the domain is (—oo, co).

(fof)yx)=f (xz) = (xz)2 = x4, and the domain is (—co, 00).
(@od) (X) =g (X +1) =(Xx+1)+1=x+2, and the domain is (—oo, 00).

201
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50.

51.

52.

53.
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f(x)= x3 + 2 has domain (—oo, 00). g (X) = /X has domain (—oo, c0).
(fog(x)=f (IX) = (3/?)3 + 2 = x + 2, and the domain is (—oo, 00).
(gofy(xX)=g (x3 + 2) = /%3 + 2 and the domain is (—o00, 00).
3
(fofy(x)=f (x3+2) - <x3—|—2) +2=x%+6x6 +12x3 +8+2 = x% + 6x6 + 12x3 + 10, and the domain is
(=00, 0).

1/3
Qo9 () =9 (IX) =V Ix= (x1/3) - x1/9, and the domain is (—co, 00).

f(x)= ; has domain {x | x # 0}; g (x) = 2X + 4, has domain (—o0, c0).

(fogd(x) = f(2x+4) = 2x—1+4 (f o @) (x) is defined for 2x + 4 # 0 < x # —2. So the domain is
{X | X # =2} = (—00, —2) U (-2, 00).
(gof)y(x)=g (%) :2(%) +4:§+4,thedomainis{x | X # 0} = (—o0, 0) U (0, 00).

(fof)yx)=f (%) = (—i) = X. (f o f) (x) is defined whenever both f (x) and f (f (x)) are defined; that is,

X
whenever {x | x # 0} = (—o0, 0) U (0, 0).
Qo) (X) =g @2x+4) =2(2x +4) +4 = 4X + 8 + 4 = 4x + 12, and the domain is (—oo, c0).

f (x) = x2 has domain (—o0, 00). g (X) = /X — 3 has domain [3, o).

(fog)(x)=f (Vx=3) = (Vx— 3)2 = X — 3, and the domain is [3, co).

(o f)(x) =g (xz) = v/x2 — 3. For the domain we must have x2 > 3 = x < —/3 or x > /3. Thus the domain is
(—oo, —ﬁ] @] [«/é, oo)

(fof)yx)=f (xz) = (xz)2 = x*, and the domain is (—oo, co).

(9og) (x) =g (vx—3) = V/v/Xx — 3 — 3. For the domain we must have v/X =3 > 3= X — 3 > 9= X > 12, so the
domain is [12, 00).

f (X) = |x], has domain (—o0, 00); g (X) = 2x + 3, has domain (—o0, 00)

(fog)(x) = f (2x +4) = |2x + 3|, and the domain is (—oo, 00).

(go f)(x) =g (Ix]) = 2|x] + 3, and the domain is (—o0, 00).

(f o f)(x) = f (Ix]) = |Ix]| = |x|, and the domain is (—oo, 00).

(o) (X) =g (@2x+3) =2(2x +3) + 3 =4x + 6 + 3 = 4x + 9. Domain is (—o0, 00).

. f (X) = x — 4 has domain (—oo, 00). g (X) = |X + 4| has domain (—o0, 00).

(f og) (x) = f (X +4]) = |X + 4| — 4, and the domain is (—oo, c0).

(o )Y (x) =g(x —4) =|(x —4) + 4| = |x|, and the domain is (—oo, 00).

(fof)(xX)=f (x—=4) =(x —4) —4 =x— 8, and the domain is (—o0, c0).

(@og) (X) =g (X +4]) = |IX + 4] + 4| = X + 4| + 4 (Ix + 4] + 4 is always positive). The domain is (—oo, c0).
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f(x)= XL—{—]. has domain {x | x # —1}; g (X) = 2x — 1, has domain (—oo, c0)
2x-1  2x-1
x-1+1" 2

X X 2X -
(gof)(x)—g( +1) Z(X—H)—lzX+1—l,andthedomalnls{x|x;é—1}=(—oo,—l)u(—l,oo)

, and the domain is {x | X # 0} = (—o0, 0) U (0, 00).

(fog)(X)=Ff(@2x—-1) =

_ X _ x+1 .x+1_ X X . .
(fof)(x)_f(x+1)_ X _X+X+1_2X+1.(fof)(x)|sdef|nedwheneverbothf(x)and

f (f (x)) are defined; that is, whenever x # —land2x +1 # 0= X # — WhICh is (—o0, 1)U ( %) U (—% oo).

(gog)(X)=g(@2x—1)=22x —1) — 1 =4x — 2 — 1 = 4x — 3, and the domain is (—o0, c0).

f (X) = — has domain {x | x > 0}; g (X) = x2 — 4x has domain (—oo, c0).

f

1
(fog)(x)=f (x2 - 4x) == (f 0g) (x) is defined whenever 0 < x2 — 4x = x (x — 4). The product of two
X% — 4x

numbers is positive either when both numbers are negative or when both numbers are positive. So the domain of f o g is
{X|x <0andx <4}U{x | x > 0andx > 4} which is (—o0, 0) U (4, c0).

1 1)? 1 1 4 o
(gof)(xX) =g (ﬁ) = (W) -4 (W) =" ﬁ (g o ) (x) is defined whenever both f (x) and g (f (x)) are

defined, that is, whenever x > 0. So the domain of g o f is (0, c0).

(fof)y)=f (%) 1 e (f o ) (x) is defined whenever both f (x) and f (f (x)) are defined, that is,
1

JX
whenever x > 0. So the domain of f o f is (0, c0).
2
Gog)(x) =g (x2 —4x) - (x2 —4x) —4(x2 —4x) = x4 — 8x3 + 16x2 — 4x2 + 16x = x* — 8x3 + 12x2 + 16,

and the domain is (—oo, 00).

f(x)= l has domain {x | X # —1}; g (X) = — has domain {x | x # 0}.
1 i 1 1
(fog(x)=f (—) =13 = 1 = T (f o g) (x) is defined whenever both g (x) and f (g (x)) are

defined, so the domain is {x | x # —1, 0}.

(gof)y(x) =g (x i 1) = % =z +1 . (g o f) (x) is defined whenever both f (x) and g (f (x)) are defined, so the
X+1
domainis {x | x # —1, 0}.
X
(fof)p)=f ( X ) =X _ X (f o f) (x) is defined whenever both f (x) and
X+1 X_+1+1 (X+1)(XL+1+1) 2X+1

f (f (x)) are defined, so the domain is {x | X # -1, —%}

1
©o =9 (5) =

{x | x # 0}.

= X. (g o 9) (x) is defined whenever both g (x) and g (g (x)) are defined, so the domain is

x| =
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2
58. f (x) = X has domain {x | x # 0}; g (X) = % has domain {x | x # —2}.

(fog(x)=f (x j_z) = )2( = 2 +4 . (f o @) () is defined whenever both g (x) and f (g (x)) are defined; that
X+2

is, whenever x # 0 and x # —2. So the domainis {x | x # 0, —2}.

2

2 X 2 1 N .

(gof)y(x)=g (;) 2 " = i 1ix (g o f) (x) is defined whenever both f (x) and g (f (x)) are defined,;
X

2
that is, whenever x # 0 and x #% —1. So the domainiis {x | x # 0, —1}.
(fof)yx)=f (;) = % = X. (f o f)(x) is defined whenever both f (x) and f (f (x)) are defined; that is, whenever
X

x # 0. So the domain is {x | X # 0}.
X
X+2 X

X X
= = = = . i f- h h
(9og)(X) g(x+2) < - X121 2) 14 (g 0 9) (x) is defined whenever both g (x) and

X+2
g (g (x)) are defined; that is whenever x # —2 and x # —4. So the domain is {x | X # =2, —%}.

59. (fogoh)(x)= f(g(h(X))) = f(g(x—l)):f(«/x—l):«/x— -1

60. (goh)(x)=g(x2+2) - (x2+2)3=x6—|—6x4+12x2—|—8.
1

x6 4 6x4 4+ 12x2 48’
6L (fogoh) () =f(gh) =f(g(x)=Tf(X-5=(x-5"+1

I IX IX
-1 Ne 1) Ix-1
For Exercises 63—72, many answer s are possible.
63. F(x) = (x —9)°. Let f (x) =x°and g (x) =x — 9, then F (x) = (f 0 g) (X).

64. F(X) =X+ 1L If f (x)=x+1and g (x) = /X, then F (X) = (f o g) (X).
2
X 7 Let 100 =

(fogoh)(x)=f (x6+6x4+12x2+8)=

62. (goh) (x) =g (¥x) =

(fogoh)(X)—f(

65. G (x) = andg (x) = x2, then G x) = (f og) ).

X
4
66. G (x) = L Iff(x)_—andg(x)_x+3 then G (x) = (f o g) (X).

67. H(x) = '1—x3‘. Let f (x) = x| and g (x) = L — x3, then H (x) = (f o g) (X).

68. H(X) =1+ /X If f (x)=+/1+xandgx)=./X then H (x) = (f o g) (x).

1

69. F (x) = " =%,g(x)=x+1,andh(x)=x2,thenF(x):(fogoh)(x).

70. F(x) = /X =1 Ifg(x) = x —land h(x) = /X, then (goh) (x) = /x — 1, and if f (x) = ¥Xx, then
F(x)=(f ogoh)X).

71. G(x):(4+3/?)9. Let f (x) =x%, g(x) =4+x,andh (x) = ¥X, then G (x) = (f o g oh) (x).

2 2
72.G(X) = ————. Ifg(x) =3+ xand h(x) = /X, then (goh) (X) = 3+ /X, and if f (X) = —, then
(x) L g (x) () = VX, then (g oh) () Vi3 ) =
G (X)=(fogoh)X).
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Yes. If f (X) =mqx + by and g (X) = maoXx + by, then

(fog)(x) = f (max +by) =mq (Max 4+ bp) + by = mymox 4+ myby + by, which is a linear function, because it is of the
formy = mx + b. The slope is mymo.

g(x):2x+landh(x):4x2+4x+7.

Method 1: Notice that (2x +1)2 = 4x2 + 4x + 1. We see that adding 6 to this quantity gives

(X +1)2+6 = 4x2 +4x + 1+ 6 = 4x% + 4x + 7, which is h (x). So let f (x) = x2 + 6, and we have

(fog)(X) = (2x +1)? +6 =h ().

Method 2: Since g (x) is linear and h (x) is a second degree polynomial, f (x) must be a second degree polynomial,

that is, f (x) = ax2 + bx +c forsomea, b,andc. Thus f (g(x)) = f 2x+1) =a@x+1)2 +b2x +1) + ¢ &
4ax? + dax +a + 2bx + b+ ¢ = 4ax? + (4a + 2byx+@+b+c)= 4x2 44X + 7. Comparing this with f (g (x)), we
have 4a = 4 (the x?2 coefficients), 4a + 2b = 4 (the x coefficients), and a + b + ¢ = 7 (the constant terms) <> a = 1 and
2a+b=2anda+b+c=7<a=1b=0,c=6. Thus f (x) =x2 +6.

f (x) =3x+5and h (x) = 3x2 4+ 3x + 2.

Note since f (x) is linear and h (x) is quadratic, g (x) must also be quadratic. We can then use trial and error to find g (x).
Another method is the following: We wish to find g so that (f o g) (x) = h (x). Thus f (g (x)) = 3x%2 + 3x +2 &
3(0(X)+5=3x2+3x +2<3(g (X)) =3x2 +3x -3 g(x) =x2 +x — 1.

The price per sticker is 0.15 — 0.000002x and the number sold is x, so the revenue is

R (x) = (0.15 — 0.000002x) x = 0.15x — 0.000002x2.

As found in Exercise 75, the revenue is R (x) = 0.15x — 0.000002x2, and the cost is 0.095x — 0.0000005x2, so the profit

is P (x) = 0.15x — 0.000002x2 — (0.095x - 0.0000005x2) = 0.055x — 0.0000015x2.

(2) Because the ripple travels at a speed of 60 cm/s, the distance traveled in t seconds is the radius, so g (t) = 60t.

(b) The area of a circle is 7rr2, so f (r) = 7r2.

(©) fog=m(g(t)?%=m(60t)2 = 36007t2 cm?. This function represents the area of the ripple as a function of time.

(a) Let f (t) be the radius of the spherical balloon in centimeters. Since the radius is increasing at a rate of 1 cm/s, the
radius is f (t) =t after t seconds.

(b) The volume of the balloon can be written as g (r) = %nr?’.

() gof = %ﬂ- )3 = %ﬂ-t3. g o f represents the volume as a function of time.
Letr be the radius of the spherical balloon in centimeters. Since the radius is increasing at a rate of 2 cm/s, the radiusisr = 2t

after t seconds. Therefore, the surface area of the balloon can be written as S = 4xr?2 = 47 (2t)2 = 4= (4t2) = 167t2,

(® f (x)=0.80x

(b) g(x) =x—-50

(©) (fog)(x) = f (x—50) =0.80(x —50) = 0.80x — 40. f o g represents applying the $50 coupon, then the
20% discount. (g o f)(x) = g (0.80x) = 0.80x —50. g o f represents applying the 20% discount, then the $50
coupon. So applying the 20% discount, then the $50 coupon gives the lower price.

(@ f (x)=0.90x

(b) g (x) =x —100

(€ (fog)(x) = f (x—100) = 0.90(x — 100) = 0.90x — 90. f o g represents applying the $100 coupon, then the
10% discount. (g o ) (x) = g(0.90x) = 0.90x — 100. g o f represents applying the 10% discount, then the
$100 coupon. So applying the 10% discount, then the $100 coupon gives the lower price.

Lett be the time since the plane flew over the radar station.

(a) Lets be the distance in miles between the plane and the radar station, and let d be the horizontal distance that the plane

has flown. Using the Pythagorean theorem, s = f (d) = v/1 + d2.
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(b) Since distance = rate x time, we have d = g (t) = 350t.

(© s(t)=(fog)() = f(350t) = /1 + (350t)2 = /1 + 122,500t2.
A(X) = 105x. (AocA)(X) = A(A(X) = A(L.05x) = 1.05(L.05x) = (LO5)2x.
(AcAoA)(X) = A(AcA(X) = A((1.05)2x) - 1.05[(1.05)2x] = (1.05)%x.

(AocAoAoA) (X) =A(AocAoA(X) = A ((1.05)3 x) =1.05 [(1.05)3 x] = (1.05)*x. A represents the amount in
the account after 1 year; A o A represents the amount in the account after 2 years; A o A o A represents the amount in the
account after 3 years; and A o A o A o A represents the amount in the account after 4 years. We can see that if we compose
n copies of A, we get (1.05)" x.

. If g (x) iseven, thenh (—x) = f (g (—x)) = f (g (X)) = h (x). So yes, h is always an even function.
If g (x) is odd, then h is not necessarily an odd function. For example, if we let f (x) = x — 1 and g (x) = x3, g is an odd
function, but h (x) = (f o g) (x) = f <x3) = x3 — 1 s not an odd function.
If gx) is odd and f is also odd, then
h(=x)=(fog)(=x) = f(g(—x)) = f (=g (X)) = —f (g (X)) = — (f 0g) (x) = —h (x). So in this case, h is also an
odd function.
Ifg(x)isoddand f iseven, thenh (—x) = (f o @) (—x) = f (g (—x)) = f (=g (X)) = f (g X)) = (f 0 @) (X) = h (),
so in this case, h is an even function.

2.8 ONE-TO-ONE FUNCTIONS AND THEIR INVERSES

1

11.

13
14

. A function f is one-to-one if different inputs produce different outputs. You can tell from the graph that a function is
one-to-one by using the Horizontal Line Test.

. (a) For a function to have an inverse, it must be one-to-one. f (x) = x2 is not one-to-one, so it does not have an inverse.
However g (x) = x3 is one-to-one, so it has an inverse.
(b) Theinverse of g (x) = x3is g~1 (x) = ¥X.
. () Proceeding backward through the description of f, we can describe f 1 as follows: “Take the third root, subtract 5,
then divide by 3.”

(b) f(x)=@x+5)3and f~1(x)= ?

. Yes, the graph of f is one-to-one, so f has an inverse. Because f (4) = 1, f—1 (1) = 4, and because f (5) = 3,
f~1(3) =5.

. If the point (3, 4) is on the graph of f, then the point (4, 3) is on the graph of f —1. [This is another way of saying that
fR =4 114 =3]

. (3) False. For instance, if f (x) = x, then f~1 (x) = x, but %x) = % # =1 x).
(b) Thisis true, by definition.

. By the Horizontal Line Test, f is not one-to-one. 8. By the Horizontal Line Test, f is one-to-one.

. By the Horizontal Line Test, f is one-to-one. 10. By the Horizontal Line Test, f is not one-to-one.
By the Horizontal Line Test, f is not one-to-one. 12. By the Horizontal Line Test, f is one-to-one.

. F(X) = =2x + 4. If X1 # Xp, then —2X1 # —2x5 and —2X1 + 4 # —2x» + 4. So f is a one-to-one function.
. f(X) =3x — 2. If X1 # Xp, then 3x1 # 3xp and 3x1 — 2 # 3xp — 2. So f is a one-to-one function.
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g (x) = /X. If X1 # Xp, then /X7 # /X2 because two different numbers cannot have the same square root. Therefore, g is
a one-to-one function.

g (x) = |x|. Because every number and its negative have the same absolute value (for example, |[-1| = 1 = |1]), g is not a
one-to-one function.

h (x) = x2 — 2x. Because h (0) = 0 and h (2) = (2) — 2(2) = 0 we have h (0) = h (2). So f is not a one-to-one function.
h(x) = x3 +8. If xq # xp, then x3 # x3 and x3 + 8 # x3 + 8. So f is a one-to-one function.

f (x) = x* + 5. Every nonzero number and its negative have the same fourth power. For example, (—1)* = 1 = (1)*, so

f (=1) = f (1). Thus f is not a one-to-one function.

f(x)= x*4+50<x <2 If X1 # X2, then xf #* xg because two different positive numbers cannot have the same fourth
power. Thus, xi‘ +5# xg +5. So f is a one-to-one function.

rit) = -3 0<t<5 If t1 # tp, then tf #+ tg because two different positive numbers cannot have the same sixth power.
Thus, t® — 3 #t2 — 3. Sor is a one-to-one function.

rt)= t4—1. Every nonzero number and its negative have the same fourth power. For example, (—1)4 =1= (1)4, S0
r (—1) =r (1). Thusr is not a one-to-one function.

1 . . 1
f(x) = wh Every nonzero number and its negative have the same square. For example, m =1= @ S0
X —

f (=1) = f (1). Thus f is not a one-to-one function.

1 1 1 . .
f (x) = —. Ifxg # xo, then o #+ o So f is a one-to-one function.
1 2

X
(@) f (2)="7. Since f is one-to-one, f~1(7) = 2.

(b) f~1(3) = —1. Since f is one-to-one, f (—1) = 3.

(@) f (5) = 18. Since f is one-to-one, f~1(18) =5.

(b) f~1(4) =2. Since f is one-to-one, f (2) = 4.

f (x) =5 — 2x. Since f is one-to-one and f (1) =5 —2(1) = 3, then f~1(3) = 1. (Find 1 by solving the equation
5—-2x=3)

To find g~ (5), we find the x value such that g (x) = 5; that is, we solve the equation g (x) = x2 + 4x = 5. Now

X2 4+4x =5<x2 +4x —5=0& (x —1) (x +5) = 0 < x = 1 or x = —5. Since the domain of g is [-2, ), x = 1 is
the only value where g (x) = 5. Therefore, g~ (5) = 1.

(a) Because f (6) =2, f~1(2)=6. (b)Because f 2) =5, f~1(5)=2.  (c)Because f (0) =6, f 1 (6) =0.

(a) Because g (4) =2,971(2) =4.  (b)Becauseg(7) =59 1(5)=7.  (c)Becauseg(8) =6,9~1(6) =8.

From the table, f (4) =5, s0 f~1(5) = 4. 32. From the table, f (5) =0, so f~1(0) =5.
f-1(f 1) =1 34.f(f—1(6))=6
From the table, f (6) = 1, s0 f~1 (1) = 6. Also, f (2) = 6,0 f~1 (6) = 1. Thus, f 1 (f-l (1)) — 1) =1

From the table, f (5) = 0, s0 f~1(0) = 5. Also, f (4) =5,s0 f~1 (5) = 4. Thus, f 1 (f—l (0)) — 15 =4
fgx)="fx+6)=(x+6)—6=xforall x.
g(f (x))=g(x—6)=(xx—6)+6=xforall x. Thus f and g are inverses of each other.
X X
f(gx)=f (5) =3 (§) = x for all x.
g(f () =g@®x) = %X = x forall x. Thus f and g are inverses of each other.
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flgx)="f (x;4) =3(Xg4)+4:x—4+4:xforallx.
4)—4
g(f X)) =g@Bx+4) = (BX%) = x forall x. Thus f and g are inverses of each other.

f(g(x)):f(Z_TX):2—5(2%)():2—(2—x):xforal|x.

2—(2-—
g(f (X)) =g(@2-5x)= % = %X = x forall x. Thus f and g are inverses of each other.

f@x)=f (%) = l/ix = x forall x # 0. Since f (x) = g (x), we also have g (f (x)) = x forall x # 0. Thus f and

g are inverses of each other.

fge) = f(¥x) = (W)5 = x forall x.

g(f(x) =g ( ) Vx5 = x for all x. Thus f and g are inverses of each other.
(

f@)=f(VX+9) =(XT9)°*-9=x+9-9=xforallx > -9,
g(f(x))—g(x2 ) J(x2 = 9+9—«/_2—xforallx>0 Thus f and g are inverses of each other.

3
g(f(x)=g (x3 + 1) = [(x - 1)1/3] +1=x—1+1=xforallx. Thus f and g are inverses of each other.

f(g(X))=f(£+1)—;=xforallx;&0.
X 1
( +1)—1

1 1
g(fx) =g V- 1)=( 1 )+1=(x—1)+l=xfora||x7é1.Thusfandgareinversesofeachother.

x—1

2
f(g(x) = f(\/4—x2) = 4—(\/4—x2) =V4—4+x2=+x2 =x,forall 0 < x < 2. (Note that the last

equality is possible since x > 0.)

2
g(f(x) =g (\/4— x2) = J4— (\/4 - x2) =V4—4+x2=+/xZ=x,forall 0 < x < 2. (Again, the last equality

is possible since x > 0.) Thus f and g are inverses of each other.

2x+2
2x +2 +2 2x+24+2(x—-1) 4x
f(g(x))_f( _1) 2x+2_2 2X+2_2(X_1)—T_xforallx;él.
+
X+ 2 2(72)+2 20+2)+2(x —2)  4x _
(f(x))_g( 2) ﬁ— = X+2-10—2) _T_xforallx;«éZ.Thusfandgarelnversesof
each other.
5+4x
f(g(x))_f(l—3x)_3(5+4x)+4 G40 rad_a0 10 ~* OrAXES
_ 544 _
g(f(x)):g(3XX +i) - (3Xj4) :523):(_:_44)_-;?)(()(_5)5)_%forallx;é—— Thus f and g are inverses
1-3 3x+4

of each other.
f(X)=3x+5y=3+5e3=y-5ex=3(y-5=3y-3.50 f1x)=43x-3.

f)=7-5x.y=T-5x&5x=T-yox=¢T—y) =—ty+£50 f71(x)=-{x+£
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f)=5-a3y=5-43eul=5-yex3=16-y)ox=J6E-y).% f1x)=J;6-x.

52 f(x)=3°+8y=3%’+8e3x’=y-8ax’=3y-8ox=Jly-8 50 tx) = Jix-8).
1 1 1 1 _1 1
53.f(x)_x+2.y X+2<:>x+2_§<:>x_§—280f x) = X—2.

-2 X—2
54.f(x):X—+2.y:X—+2<:>y(x+2)_x—2<:>xy+2y_x—2<:>xy—x_—2—2y<:»x(y—1) -2y +1
55, f(X) = —X .y = X ey (Xt 4) =X Xy + Ay =X X —xy = dy > x(1—y) = dy & x = —Y_ S0
: _x+4'y_x+4 y = y+4ay = y =24y y) =4y 1oy

4x
=) =
) =1
3 3 2
56. f (x) = X .y=—X«:)y(x—Z)=3x<:>xy—2y=3x<:>xy—3x=2y<:>x(y—3)=2y<:>x=—y.So
X—2 X—2 y—3
2X
-1y —
f (X)_x—s'
2 5 2 5
57. f(x) = XX_+7.y= Xxj—7 SYX-—T=2X+5xy-Ty=2X+5xy-2x=7y+5x(y—-2)=7y+5
7y+5 7x+5
= of~lx)=
X =2 (x) = —
58, f(x) = X =2 —4X_2<:> (BX+1) =X — 23Xy +y = 4X — 2 dx —3xy =y +2 > X (4—3y) =y + 2
: )= X1 Y—3X+1 y )= yt+y= y=y )=y
y+2 -1 X+2
.So f~ = .
OX= g5y T =5
2 2
59.f(x)=1XJ;3.y=1XJ;3 yA1-5X)=2x+3oy-5%y=2Xx+32Xx+5xy=y—-3=x(2+5y)=y—-3
_Y=3 o1 -3
X 5y+2 ()_5x+2
3 —4x 3 —4x y+3
60.f(x)_SX_l.y_8X_1@y(Sx—1)_3—4x<:>8xy—y_3—4x<:>4x(2y+1)_y+3<:>x_m.
_1 _ X+ 3
So f (X)_74(2x+1)'
6L f(X)=4—x2,x>0.y=4—-x2ox2=4—-yox=F—y.5 f1(x) =+v4—x,x <4 [Notethatx > 0=

62.

63.

65.

66.

f(x) <4]

=

2 1 2 2
f(x)=x2+x=(x2+x+%)—z=(x+%) —%,xz—z.yz(x+%) —%@(X—}—%) =y+ie
x+%= y+%@x=,/y+%—%,yz—%.80f‘l(x)z x+%—%,xz—%.(Notethatxz—l,sothat
2 2
x+%20,andhence(x+%) :y+%@x+%=,/y+%.AIso,sincex2—%,y:(x+%) —%z—%sothat

y+ % > 0, and hence ,/y + % is defined.)

f(x)—xexzO.y:xG@x:f/VforxzO.Therangeoffis{y|y20},sof‘l(x)zf/i,xzo.
1 1 1 1
fX)=5,x>0y==ox2=-ox=—.Therangeof fis{y|y>0},s0 f1(x) = —=,x > 0.
x2 y vy VX
3 3
f(x)= X .y=2 SX oby=2-x3ox3=2-5yox=42-5y. Thus, f 1 (x) = ¥2—5x.

7 7
f(x):(x —6) .y=(x5—6) SN=x-6x=y+6ox=J/y+6. Thus, 1 (x)=JIx+6.
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67. f (x) = +/5+ 8x. Note that the range of f (and thus the domain of f~1)is [0, 00). y = v/5+8X < y2 =5+ 8x &

2 _ W2

8x=y2—5<:>x=y 5.Thus,f—1(x)= 5,)(20_

68. f(X) =2+ /3+x. Therange of f is[2,00). y =2+ /3 +xXx Yy -2 = «/3+x<:>(y—2)2 =3+x &
Xx=(—22=3Thus, f71(x)=(x—-22%2-3x>2

69. f(X)=2+ XK. y=2+3Neoy-2=3IKox=(y-2)73 Thus, f~1x) =(x-2)73.

70. f(X)=v4—x2,0<x <2 Therangeof fis[0,2]. y=v4—-xX2oy2=4-x2ox2=4—y2 o x =/4—y2.
Thus, f1(x)=v4—-x2,0<x <2

71. (a), (b) f (x) =3x —6 72.(a), (b) f (x) =16 —x%,x >0

YA

X f
f*l
2
3 x
©fx)=3x-6y=3x-6=3x=y+b6c © f(x)=16—-x2,x>0.y=16—-x?
X=3(y+6).50 {71 () =3 (x+6). x2=16—y & x = IE =Y. S0

f~1(x) = /16 = X, x < 16. (Note: x > 0 =
f (x) =16 —x2 < 16.)

73. @), (b) f (X) =X +1 74.(a), (b) f (x)=x3 -1
y y
f
f71

Ve

// W x
Ve
L X
© fFX)=vXF1Lx>-1Ly=yxX+1,y>0 ©fx=x3-1loy=x3-1ox3=y+1

oy2=x+1ox=y2—1landy >0.50 ox=4F15S f1x) =I+F1

f~lx)=x2—-1,%x > 0.



75. f (x) = x3 — x. Using a graphing device and the
Horizontal Line Test, we see that f is not a one-to-one
function. For example, f (0) =0 = f (-1).

-2 2

12
77. f(x) = Xx+—6 Using a graphing device and the

Horizontal Line Test, we see that f is a one-to-one
function.

-10

79. f (x) = |x] — |[x — 6]. Using a graphing device and the
Horizontal Line Test, we see that f is not a one-to-one
function. For example f (0) = —6 = f (-2).

10T

8L @y=fX)=24+xox=y—-2.50
flx)y=x-2

(b)
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76. f (x) = x3 4 x. Using a graphing device and the
Horizontal Line Test, we see that f is a one-to-one
function.

78. f (x) = v/x3 — 4x + 1. Using a graphing device and the
Horizontal Line Test, we see that f is not a one-to-one
function. For example, f (0) =1 = f (2).

80. f (x) = x - [x]. Using a graphing device and the
Horizontal Line Test, we see that f is a one-to-one
function.

82-(a)y=f(X)ZZ—%X@%X:2—y<:>x:4—2y,
So f~1(x) =4 —2x.

(b)

/ -10 —




212 CHAPTER 2 Functions

83 (@ y=9g(X)=+vX+3,y>0x+3=y2,y>0 8. @y=gxX)=x24+1x>0=x2=y-1,x>0
ex=y2-3y>0.%59g1(x)=x2-3,x>0. X=+y—=159g t(x) =Xx—1
(b) (b)

85. If we restrict the domain of f (x) to [0, c0), theny = 4 — Xeeoxl=4—y=Xx= JE=y (since x > 0, we take the
positive square root). So f-1 X) = /4 —x.
If we restrict the domain of f (x) to (—oo, 0], theny =4 — Xoxl=4—y=x= —& =y (since x < 0, we take the
negative square root). So f 1 (x) = —/4 —x.

86. If we restrict the domain of g (x) to [1, co), theny = (x —1)2 = x — 1 = VY (since x > 1 we take the positive square
root) & x =1+ /Y. S0 gt (x) = 1+ VX.
If we restrict the domain of g (x) to (—oo, 1], theny = (x — 1)2 =X —1=—,/y (since x < 1 we take the negative square
root) & x =1— /y.S0g7t (x) =1 — VX.

87. If we restrict the domain of h (x) to [—2, 00), theny = (X +2)2 = X +2 = VY (since x > —2, we take the positive square
root) & x = =24 /y. Soh™1 (x) = =2 + Jx.
If we restrict the domain of h (x) to (—co, —2], theny = (x +2)2 = x + 2 = —./Y (since x < —2, we take the negative
square root) & x = —2 — /y. S0 h™1 (x) = =2 — JX.

—(x—-3) ifx—-3<0 e x<3
88. k(x)=|x—3|= )
X—3 ifx-3>0 o x>3
If we restrict the domain of k (x) to [3, o), theny = x —3 < x =3+Y. Sok~1 (x) =3+ x.

If we restrict the domain of k (x) to (—co, 3], theny = —(x —3) &y = —x + 3 x =3—y. Sok~1 (x) =3 — x.
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91. (a) y 92. (a) y

=V

N 1
|

(b) Yes, the graph is unchanged upon reflection about (b) Yes, the graph is unchanged upon reflection about
the line y = x. the liney = x.
1 1 _ 1 X+3
Qy=-ox==,50f1x) == A e 1) =
@y » y (x) x (©y X_I@y(x H=x+3e
X(y—1)=y+3x= ii.Thus,
X+3
1) = :
) =-—

93. (a) The price of a pizza with no toppings (corresponding to the y-intercept) is $16, and the cost of each additional topping
(the rate of change of cost with respect to number of toppings) is $1.50. Thus, f (n) = 16 + 1.5n.

() p=f () =16+15n & p—16 =150 n = 5 (p—16). Thus,n = f~1 (p) = 4 (p — 16). This function
represents the number of toppings on a pizza that costs x dollars.
(¢ f-1 (25) = % (25 —-16) = % (9) = 6. Thus, a $25 pizza has 6 toppings.

94. (a) f (x) =500+ 80x.

p — 500 p — 500

B
80

(b) p = f (x) =500+ 80x. p =500+ 80x < 80x = p—500 & x = .Sox = f1(p) =

represents the number of hours the investigator spends on a case for x dollars.

1220 -500 720
— %0  ~— 8- 9. If the investigator charges $1220, he spent 9 hours investigating the case.

(© f~1(1220) =

95. (a) V = f (t) =100 (1 ¢ 20<t<4ov—1001 ! Z@V —(1-4 2=>1 . V@
: - - ) - -0 T 40 100 — 40 40 ~ TV 100
t VAY

0= 1+ =T ot =40=+4/V. Sincet < 40, we musthave t = f~1 (V) = 40 — 4/V. f~1 represents time that

has elapsed since the tank started to leak.
(b) f~1(15) = 40 — 44/15 ~ 24.5 minutes. In 24.5 minutes the tank has drained to just 15 gallons of water.

9. (a) v = g (r) = 18,500 (0.25 - rz). v = 18,500 (0.25 - r2) & v = 4625 — 18,500r2 & 18,500r2 = 4625 — v &
4625 — 4625 — . . 4625 —
r2 = WOOD =Sr=4+ /WOOU' Since r represents a distance, r > 0,50 g1 (v) = /WOOD' a0)
represents the radial distance from the center of the vein at which the blood has velocity .

4625 — 30 - .
(b) g1 (30) = 18500 a2 0.498 cm. The velocity is 30 cm/s at a distance of 0.498 cm from the center of the artery

or vein.
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97.

98.

99.

100.

101.

102.

103.

CHAPTER 2 Functions

(@ D= f(p)=-3p+150. D=—-3p+150=3p =150 - D& p=50—3D. So {71 (D) =50 — 1D. f~1(D)
represents the price that is associated with demand D.
(b) f~1(30) =50— % (30) = 40. So when the demand is 30 units, the price per unit is $40.

@ F=9g(C)=2C+32F=2C+32eC=F-32C=3(F-32.5¢ 7 (F)=3(F-32.971(F)
represents the Celsius temperature that corresponds to the Fahrenheit temperature of F.
(b) F~1(86) = § (86 — 32) = § (54) = 30. So 86° Fahrenheit i the same as 30° Celsius.

(@ f~1(U)=1.02396U.

(b) U = f (x) = 0.9766x. U = 0.9766x <> x = 1.0240U. So f~1 (U) = 1.0240U. f~1 (U) represents the value of
U US dollars in Canadian dollars.

(¢ f~1(12,250) = 1.0240 (12,250) = 12,543.52. So $12,250 in US currency is worth $12,543.52 in Canadian currency.

0.1x, if 0 < x < 20,000

@ fo)= .
2000 + 0.2 (x — 20,000) if x > 20,000

(b) We will find the inverse of each piece of the function f.
fy (x) = 0.1x. T = 0.1x & x = 10T. So ;" (T) = 10T.
fa (x) = 2000 4+ 0.2 (x — 20,000) = 0.2x — 2000. T = 0.2x — 2000 < 0.2x = T 4 2000 < x = 5T + 10,000. So
f,1(T) = 5T + 10,000.

. 1 10T, if0 < T < 2000 _
Since f (0) = 0and f (20,000) = 2000 we have f = (T) = ) This represents the
5T + 10,000 if T > 2000

taxpayer’s income.

(© f-1 (10,000) = 5(10,000) + 10,000 = 60,000. The required income is €60,000.

(& f (x)=0.85x.
(b) g (x) = x — 1000.
(©) H(x)=(f og)x = f (x —1000) = 0.85 (x — 1000) = 0.85x — 850.
(d) P =H () = 0.85x —850. P = 0.85x — 850 < 0.85x = P + 850 & x = 1.176P + 1000. So
H~1(P) = 1.176P + 1000. The function H 1 represents the original sticker price for a given discounted price P.
() H™1(13,000) = 1.176 (13,000) + 1000 = 16,288. So the original price of the car is $16,288 when the discounted
price ($1000 rebate, then 15% off) is $13,000.

f (x) = mx +Db. Notice that f (x1) = f (x2) © mx1 +b =mxy +b < mxg = mx,. We can conclude that x; = x» if and
only if m # 0. Therefore f is one-to-oneifand only ifm #0. Ifm#0, f X) =mx+bey=mx+bemx=y—->Db

(:)X:yT_b.So, f—l(x)zx_b.

@ f(X):Zx+l

is “multiply by 2, add 1, and then divide by 5 ”. So the reverse is “multiply by 5, subtract 1, and then

divide by 27 or f~1 (x) = 5)(—2_1 Check: fof=1(x) = f (

bx —1
5x -1 _2( 2 )+l_5x—l+l_5x_
2 - 5 - 5 T 5
(2x+1) 1
X +1 5 ) 2X+1-1 2
dflof(x)=f"1 = = -2y
an o f(x) ( 5 ) > > > X
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1 -1 . . . . .
(b) f(x)=3- i + 3 is “take the negative reciprocal and add 3 . Since the reverse of “take the negative
reciprocal” is “take the negative reciprocal ”, f 1 (x) is “subtract 3 and take the negative reciprocal ”, that is,

-1 -1 1 X—3
1(y) — . 1(x) — —3__~- _3_(1.2=2°)_ _3—
f (x)_X 3.Check.fof (x)_f(X 3)_3 T =3 (1 1) 3+x—3=xand

f-lof(x)=f—1(3—1 -1 -1 X

[ S S
X (3 B l) _5 1 1

X X
(©) f(x) =+/x3+2is*“cube, add 2, and then take the square root”. So the reverse is “square, subtract 2, then take

the cube root " or =1 (x) = Jx2 = 2. Domain for f ) is [—«3/5, oo); domain for f~1 (x) is [0, co). Check:
3
fofl(x)=f (f’/x2 — 2) = (\3'/x2 - 2) +2=+/x2 =242 = +/xZ = x (on the appropriate domain) and
2
flof(x)=f"1 ( x3 + 2) =3 (\/x3 + 2) —2 = Yx3+2—2=+/x3 = x (on the appropriate domain).

(d)y f(x) = @2x — 5)3 is “double, subtract 5, and then cube”. So the reverse is “take the cube root, add

3
5, and divide by 2” or f~1(x) = @ Domain for both f (x) and f~1 (x) is (—o0, 00). Check:
3 3 3
rot00 = 1 (Y522) = [2(F52) -s] = (@& +5-5 = (¢0)" = 3% = xcand

V@X=5%+5  @x-5+5 2x

-1 _ -1 _5\3) _
f=1of(x)= f ((2x 5)) > > >
In a function like f (x) = 3x — 2, the variable occurs only once and it easy to see how to reverse the operations step by
step. Butin f (x) = x3 + 2x + 6, you apply two different operations to the variable x (cubing and multiplying by 2)
and then add 6, so it is not possible to reverse the operations step by step.

104. f (1 (x)) = f (x); therefore f o | = f. | (f (X)) = f (X); therefore | o f = f.
By definition, f o f~1(x) = x = | (x); therefore f o f~1 = 1. Similarly, 2o f (x) = x = | (x); therefore

flof=1I.
105. (@) We find g7t (x): y = 2x+1@2x =y —1ex = 3(y—1). So g™t (x) = 3 (x —1). Thus
f(x):hog_l(x):h(%(x—l)):4[%(x—1)]2+4[%(x—1)]+7:x2—2x+1+2x—2+7:x2+6.
(b) fog=ho flofog=flohelog=flohog= f~1oh. Note that we compose with f 1 on the left
on each side of the equation. We find f~1: y =3x +5&3x =y —-5ox = %(y—S). So f‘l(x):%(x—S).
Thusg(x) = f~1oh(x) = f—1(3x2+3x+2):%[(3x2+3x+2)—5]:%[3x2+3x—3]:x2+x—1.

CHAPTER 2 REVIEW

1. “Square, then subtract 5” can be represented by the function f (x) = x2 — 5.
2. “Divide by 2, then add 9” can be represented by the function g (x) = % +09.

3. f (x) =3(x + 10): “Add 10, then multiply by 3.”
4. f (x) = +/6x — 10: “Multiply by 6, then subtract 10, then take the square root.”
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5. g (X) = X2 — 4x 6.h(x)=3x24+2x -5
X | g x | h
-1 5 -2 3
0 0 1| -4
1| -3 0| -5
2| -4 1 0
3| -3 2| 11

7. C (x) = 5000 4 30x — 0.001x2
(a) C (1000) = 5000 + 30 (1000) — 0.001 (1000)? = $34,000 and
C (10,000) = 5000 + 30 (10,000) — 0.001 (10,000)2 = $205,000.
(b) From part (a), we see that the total cost of printing 1000 copies of the book is $34,000 and the total cost of printing
10,000 copies is $205,000.
(c) C (0) = 5000+ 30 (0) —0.001 (0)2 = $5000. This represents the fixed costs associated with getting the print run ready.

(d) The net change in C as x changes from 1000 to 10,000 is C (10,000) — C (1000) = 205,000 — 34,000 = $171,000, and
C (10,000) — C (1000) _ 171,000
10,000 — 1000 ~ 9000

the average rate of change is = $19/copy.

8. E (x) =400 + 0.03x
(a) E (2000) = 400 + 0.03 (2000) = $460 and E (15, 000) = 400 + 0.03 (15,000) = $850.
(b) From part (a), we see that if Reynalda sells $2000 worth of goods, she makes $460, and if she sells $15,000 worth of
goods, she makes $850.
(c) E (0) =400+ 0.03 (0) = $400 is Reynalda’s base weekly salary.
(d) The net change in E as x changes from 2000 to 15,000 is E (15,000) — E (2000) = 850 — 460 = $390, and the average
E (15,000) — E (2000) 390
15,000 — 2000 ~ 13,000
(e) Because the value of goods sold x is multiplied by 0.03 or 3%, we see that Reynalda earns a percentage of 3% on the
goods that she sells.

9. f(x) = x2—4x+6;, f(0) = (02-40)+6 =6, T2 = 2?-4(2) +6 = 2
f(—=2)=(-22-4(-2)+6=18;f (a) = (@)2—4(a)+6 =a2—4a+6; f (—a) = (—a)2—4(—a)+6 = a%+4a+6;
f(X+1)=(X+1)2—4(X+1)+6 = x2+2x+1—4x —4+6 = x2—2x+3; f (2X) = (2X)? —4 (2X)+6 = 4x> —8X +6.

0. f(xX) = 4—3—6, f6) = 4—JI5—-6 = 1, f(9) = 4—27—-6 = 4 — J21;
f@a+2) =4—3a+6-6=4—+3a; f(—x)=4—/3(=X)—6=4—/—3x—6; f (x2) —4-/3x2—6.
11. By the Vertical Line Test, figures (b) and (c) are graphs of functions. By the Horizontal Line Test, figure (c) is the graph of a
one-to-one function.
12. (@) f(-2)=—-1and f (2) =2.
(b) The net change in f from —2to 2is f (2) — f (—2) = 2 — (1) = 3, and the average rate of change is
f—-f(2 3

2—(-2) 4
(c) The domain of f is [—4, 5] and the range of f is [—4, 4].
(d) f isincreasing on (—4, —2) and (—1, 4); f is decreasing on (-2, —1) and (4, 5).
(e) f has local maximum values of —1 (at x = —2) and 4 (at x = 4).
(f) f isnota one-to-one, for example, f (—=2) = —1 = f (0). There are many more examples.
13. Domain: We must have x + 3 > 0 < x > —3. In interval notation, the domain is [—3, co).
Range: For x in the domain of f,wehavex > -3 x+3>0& /X +3 > 0s f (x) > 0. So the range is [0, 0o).

rate of change is = $0.03 per dollar.
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14. F(t)=t2 42t +5= (t2 + 2t + 1) +5—1=(t+1)2 4 4. Therefore F (t) > 4 for all t. Since there are no restrictions
on t, the domain of F is (—oo, 00), and the range is [4, c0).

15. f (x) = 7x + 15. The domain is all real numbers, (—oo, 00).

+1

2X
16. f (x) = 1

Then2x—17£0(:>x#%.Sothedomainoffis {x|x;é%}.

17. f (X) = +/x + 4. Werequire X + 4 > 0 < x > —4. Thus the domain is [—4, c0).

2
18. f (x) =3x — . The domain of f isthe set of x where X +1 > 0 < x > —1. So the domain is (-1, c0).
®) N (=1, 00)
1 1 1 . -
19. f(x)=—+ + ——. The denominators cannot equal O, therefore the domain is {x | x # 0, —1, —2}.
X X+1 x+2

_ 2x®45x+3 22 +5x+3
T 2x2-5x—3  (X+1)(x—=3)

domainis{x|2x+1;é0andx—37é0}:[x|x;é—%andx;é3].

20. g (x)

The domain of g is the set of all x where the denominator is not 0. So the

21. h(x) = /4 —x + +v/x2 — 1. We require the expression inside the radicals be nonnegative. So 4 —x > 0 < 4 > x; also
x2—1>0e& (X —1)(x +1) > 0. We make a table:

Interval (=00,-1) | (=11 | (1,00)
Signofx —1 - - +
Signof x +1 - + +
Signof (x —1) (x + 1) + - +

Thus the domain is (—oo, 4] N {(—o0, —1] U [1, c0)} = (—o0, —1J U [1, 4].

Yo +1
22. f(x) = 3X7+ Since we have an odd root, the domain is the set of all x where the denominator is not 0. Now
V2X +2
Y2X+2# 0 Y2x #£ -2 & 2x # —8 & x # —4. Thus the domain of f is {x | x % —4}.
23 f(x)=1-2x 24.f(x):%(x—5),2§x58
y y

b : : /
e x
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25. f (x) = 3x2 26. f (x) = —Fx?
y
5
0 1 X

27. f(x)=2x2 -1 28. f (x) = — (x — 1)
y
1
o1 X

29. f (X) =1+ JX 0. f(X)=1—X+2

y y

%

3L f (x) =3x8 R2.f(x)= J=x




CHAPTER2  Review 219

33 f(x) =—|x| 34. f(x)=|x+1]
y ¥
1
x
1
0] 1 X
35 f(x)——i 36 f(X)=——
' X2 '  (x—1)3
Y y
1
0 X
5
0] 1 X
. —x ifx <0
1-x ifx <0 .
37. f(x) = _ 3B.fx)=1x% ifo<x<2
1 ifx>0 .
1 ifx>2
y
y
1 -—

39. x +y2 =14 = y2 = 14 — x = y = +/14 — x, s0 the original equation does not define y as a function of x.

40. 3x — )Yy =8= /y=3x—-8=y=0C3x— 8)2, so the original equation defines y as a function of x.

3_y3_ 3_y¢3_ _ (w3 _ o\ o . . _ _
1. x° =y =21y’ =x* =21y = (x° =27 , S0 the original equation defines y as a function of x (since the cube

root function is one-to-one).

42.2x = y* — 16 = y* = 2x + 16 & y = +£.4/2X + 16, so the original equation does not define y as a function of x.
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43. f (x) =6x3 —15x2 +4x — 1

(i) [-2,2]by[-2,2]

]

0

(i) [—4,4] by [-12,12]

10T

(i) [-8, 8] by [-8, 8]

(iv) [-100, 100] by [—100, 100]

100 ju
1 "

From the graphs, we see that the viewing rectangle in (iii) produces the most appropriate graph.

44. f (x) = /100 — x3

(iii) [~10, 10] by [—10, 40]

40T

10

(ii) [-10, 10] by [—10, 10]

(iv) [-100, 100] by [—100, 100]

} t
-100 [ 100
-100
10 ﬁ
— —
-10 * 10
-10
| {
} +
-100 ‘» 100
-100

From the graphs, we see that the viewing rectangle in (iii) produces the most appropriate graph of f.
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45. (a) We graph f (x) = +/9 — x2 in the viewing rectangle 46. (a) We graph f (x) = —/x2 — 3 in the viewing

[-4,4] by [-1,4]. rectangle [-5, 5] by [—6, 1].
-5 5
42 2 4 ST
(b) From the graph, the domain of f is [—3, 3] and the (b) From the graph, the domain of f is
range of f is [0, 3]. (=00, —1.73] U [1.73, 00) and the range of f is
(=00, 0].
47. (a) We graph f (x) = +/x3 — 4x + 1 in the viewing 48. (a) We graph f (x) = x* —x3 +x24+3x —6inthe
rectangle [-5, 5] by [-1, 5]. viewing rectangle [—3, 4] by [—20, 100].
100 T
4 {
/ 50
-5 l 5 2 2 4
(b) From the graph, the domain of f is approximately (b) From the graph, the domain of f is (—oo, co) and
[—2.11,0.25] U [1.86, oo) and the range of f is the range of f is approximately [—7.10, co).
[0, 00).

49. f (x) = x3 — 4x2 is graphed in the viewing rectangle 50. f (x) = ‘x“ - 16‘ is graphed in the viewing rectangle
[-5, 5] by [—20, 10]. f (x) is increasing on (—oo, 0) and [5, 5] by [=5, 20]. f (x) is increasing on (—2, 0) and
(2.67, 00). It is decreasing on (0, 2.67). (2, 00). It is decreasing on (—oco, —2) and (0, 2).

[ / 20
-5 5 o
-20 5 l 5

f®-f@ _ -4

51. The netchangeis f (8) — f (4) = 8 — 12 = —4 and the average rate of change is - = -1

52. The net change is g (30) — g (10) = 30 — (—5) = 35 and the average rate of change is w = Z’—Z = ;
53. The net change is f (2) — f (—1) = 6 — 2 = 4 and the average rate of change is f(?__—(ii)_l) = %

54. The netchangeis f (3) — f (1) = —1 — 5 = —6 and the average rate of change is M = _—6 =-3.

3—-1 2
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55.

56.

57.

58.

59.

61.
62.

63.

65.

66.

67.

. Between x = 0 and x = 2, the rate of change is

CHAPTER 2 Functions

The net change is f (4) — f (1) = [42 -2 (4)] — [12 -2 (1)] = 8 — (—1) = 9 and the average rate of change is

f@-t@ _9_,
4-—-1 T3

The net change is g (@ + h) — g (@) = (@ + h +1)2 — (a+ 1)2 = 2ah + 2h + h? and the average rate of change is

g@a+h)—g(@ _ 2ah+2h+h?

a+h-—a h et

fxX)=0@2+ 3x)2 = 9x2 + 12x + 4 is not linear. It cannot be expressed in the form f (x) = ax + b with constant a and b.
3 - .
g(x) = X: =%x+% |sI|nearW|tha=%andb=%.
@ y 60. (a) y
1
0 1 X !
0] 1 X

(b) The slope of the graph is the value of a in the (b) The slope of the graph is the value of a in the

equation f (x) =ax 4+ b =3x + 2; that is, 3. equation f (X) = ax +b = —%x + 3: that is, _%.
(c) The rate of change is the slope of the graph, 3. (c) The rate of change is the slope of the graph, —3.
The linear function with rate of change —2 and initial value 3hasa = —2and b = 3,s0 f (x) = —2x + 3.

The linear function whose graph has slope % and y-intercept —1 has a = % andb=-1,s0 f (x) = %x -1

f()—f©O 5-3
1-0 o1

Between x = 0 and x = 1, the rate of change is

f(x) = 2x + 3.

=2. Atx =0, f (x) = 3. Thus, an equation is

f(2—f©0 55-6
2-0 -2

— _%_ Atx =0, f (x) = 6. Thus, an equation

is f (x)= —%x + 6.
. . . 0-4 1 L

The points (0, 4) and (8, 0) lie on the graph, so the rate of change is 3 0= 7 Atx =0, y = 4. Thus, an equation is

y=—1x+4.

0— (-9

The points (0, —4) and (2, 0) lie on the graph, so the rate of change is =2. Atx =0,y = —4. Thus, an equation

isy=2x —4.

P (t) = 3000 + 200t + 0.1t2
(@) P (10) = 3000 + 200 (10) + 0.1 (10)2 = 5010 represents the population in its 10th year (that is, in 1995), and
P (20) = 3000 + 200 (20) + 0.1 (20)2 = 7040 represents its population in its 20th year (in 2005).
P (20) — P (10) 7040 —5010 2030

(b) The average rate of change is 20-10 = 0 =0 = 203 people/year. This represents the

average yearly change in population between 1995 and 2005.




68.

69.

70.

71.

72.
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D (t) = 3500 + 15t2

(@ D (0) = 3500+ 15 (O)2 = $3500 represents the amount deposited in 1995 and D (15) = 3500 + 15 (15)2 = $6875
represents the amount deposited in 2010.

13500

b) Solving the equation D (t) = 17,000, we get 17,000 = 3500 + 15t2 < 15t2 = 13,500 < t2
( g the eq ) g 15

t = 30, so thirty years after 1995 (that is, in the year 2025) she will deposit $17,000.
D (15 —-D(0) 6875 — 3500
15-0 a 15

increase in contributions between 1995 and 2010.

=900

(c) The average rate of change is

= $225/year. This represents the average annual

f(x)= %x -6
(a) The average rate of change of f betweenx =0and x = 2 is

1 1
_ 2)-6|-|30—-6] _5_(—
1@-10 = [2 ] [2 ] = >~ (6 = % and the average rate of change of f between x = 15

and x =50is
1 1
f(50)—f(15)_[7(50)—6]—[§(15)—6]_19_%_1
50—15 % = —% =3

(b) The rates of change are the same.

(c) Yes, f isalinear function with rate of change 1.

f(x)=8—-3x
f2—-f(@ 8—-312)]—-[8-3(0 2-—8
(a) The average rate of change of f betweenx = 0and x = 2is ( ;_ 0 © = [ @] > [ O] =— = -3,
and the average rate of change of f between x = 15and x =50 is
f(50)— f (15) [8—3(50)]—[8—3(15)] —142—(-37) _
50-15 35 N 35 N
(b) The rates of change are the same.

=3.

(c) Yes, f isa linear function with rate of change —3.

(& y = f (x) + 8. Shift the graph of f (x) upward 8 units.

(b) y = f (x + 8). Shift the graph of f (x) to the left 8 units.

(©) y =14 2f (x). Stretch the graph of f (x) vertically by a factor of 2, then shift it upward 1 unit.
(d) y = f (x —2) — 2. Shift the graph of f (x) to the right 2 units, then downward 2 units.

() y = f (—x). Reflect the graph of f (x) about the y-axis.

(f) y = —f (=x). Reflect the graph of f (x) first about the y-axis, then reflect about the x-axis.

(9) y = —f (x). Reflect the graph of f (x) about the x-axis.

(h) y = f~1(x). Reflect the graph of f (x) about the line y = x.

@y=fx-2) (b)yy=—f(x) (©y=3-f(x)
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73.

74.

75.

76.

7.
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@ y=3f0-1 @y=f"1x ®y=f(x
y y y
.
e : // 1\1\
(@ fx)=2x>—3x2 42 f(—x) =2(—x)° =3(—=x)2+2 = —2x> —3x2 + 2. Since f (x) # f (—x), f is not even.

—f (x) = —2x° + 3x2 — 2. Since — f (x) # f (—x), f is not odd.
) f()=x3=x7. f(=x)=(=x)% = (=x)7 = — (x3 - x7) — —f (x), hence f is odd.

1-x2 C1-(=x)?  1-x2 : B :
(o fx)= 12 f(—=x)= T (o0l 142 f (x). Since f (x) = f (—x), f iseven.
1 1 1 1 . . .
(d) f (X) = m f (—X) = m = m —f (X) = —m Slnce f (X) ;ﬁ f (—X) ) f IS nOt eVen, and since

f (—x) # —f (x), f isnot odd.

(a) This function is odd.
(b) This function is neither even nor odd.
(c) This function is even.
(d) This function is neither even nor odd.

g(x):2x2+4x—5:2(x2+2x)—5:2(x2+2x+l)—5—2:2(x+1)2—7. So the local minimum value —7
when x = —1.

2
f(x):l—x—x2:—(x2+x)+1:—(x2+x+%)+l+%:—(x+%) + 3. So the local maximum value is 3

—_1
when x = 7

f(x) =33+16x— 2.5x3. In the first viewing rectangle, [—2, 2] by [—4, 8], we see that f (x) has a local maximum
and a local minimum. In the next viewing rectangle, [0.4, 0.5] by [3.78, 3.80], we isolate the local maximum value as
approximately 3.79 when x =~ 0.46. In the last viewing rectangle, [-0.5, —0.4] by [2.80, 2.82], we isolate the local
minimum value as 2.81 when x ~ —0.46.

i 3.80 2.82
54
/\ 3.79 281
1 " "

]

T 1
-2 1 2 3.78 f t ! t f t T 2.80
0.40 0.45 0.50 -0.50 -0.45 -0.40




78.

79.

80.

81.
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f (x) = x2/3 (6 — x)1/3. In the first viewing rectangle, [—10, 10] by [—10, 10], we see that f (x) has a local maximum and
a local minimum. The local minimum is 0 at x = 0 (and is easily verified). In the next viewing rectangle, [3.95, 4.05] by

[3.16, 3.18], we isolate the local maximum value as approximately 3.175 when x =~ 4.00.
3181
\Lﬁ 317+
10 T
3.16 * f * f
3.95 4.00 4.05

h(t)_—16t2+48t+32_—16 2 - 3t) 32:—16(t2—3t+%)+32+36

2
=16 (12 -3t + )+68_—16( 3) +es
The stone reaches a maximum height of 68 feet.

P(x) = —1500 4+ 12x — 0.0004x2 = —0.0004 (x2—3o,000x) -

1500 = —0.0004 <x2 — 30,000x + 225,000,000) — 1500 + 90,000 = —0.0004 (x — 15,000)2 + 88,500
The maximum profit occurs when 15,000 units are sold, and the maximum profit is $88,500.

f () =x+29gx =x? 82. f (x) =x2+1,9(x)=3—x2

-4 2 2 %S\

. f(x)=x2—3x+2and g (x) =4 — 3x.

@) (f+g)(x)=(x2—3x+2)+(4—3x)=x2—6x+6
() (f —g)(x):(x2—3x+2)—(4—3x)=x2—2

© (fg)(x) = (x2—3x+2) (4—3x) = 4x2 —12x + 8 — 3x3 + 9x% — 6x = —3x3 + 13x% — 18x + 8

3x 42
@ (5 )(x)—_—X3+ #3
€@ (fogd)(X)=Ff@—-3x)=4-3x)2—-3(4—-3x)+2=16—24x+9x? —12+9x +2=9x? — 15X + 6

) (gof)(x):g(x2—3x+2):4—3(x2—3x+2):—3x2+9x—2

=1+ x2 and g () = /X — 1. (Remember that the proper domains must apply.)

@ (fog) () =f (VX=1) =1+ (VX—1)2=1+x—1=x
0) @o ) =g (1+x2) = /(1+x2) — 1=K = x|

© (feg@=f@@)=f(VD-D)=fO=1+D*=2
@ (FoH@=T(f@)="1(1+@?) =6 =1+?=2.

@ (fogof)y(X)=f((@o f)(x) = f(x]) =1+ (Ix])2 =1+ x2. Note that (g o f) (x) = |x| by part (b).
(f) (o fog)(x)=9g((fog)(x))=g((x)=+x—1 Notethat (f og) (x) =x by part (a).
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85.

86.

87.

88.

89.

91.

92.
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f(x)=3x —landg(x) =2x — x2.
(fog)(x)=f (Zx —xz) =3(2x —x2) —1=—-3x2 4+ 6x — 1, and the domain is (—oo, 00).
(o f)(X) =g@Bx—1)=2Bx —1) — 3x —1)2 = 6x — 2 — 9x2 4+ 6x — 1 = —9x2 + 12x — 3, and the domain is

(—OO, OO)
(fof)yx)=f@Bx—=1)=3@Bx —1)—1=9x — 4, and the domain is (—oo, c0).

(gog)(x):g(zx—XZ) :2(2x—x2)—(2x—x2)2:4x—2x2—4x2+4x3—x4:—x4+4x3—6x2+4x,and

domain is (—oo, 00).

f (x) = /X, has domain {x | x > 0}. g (x) = L has domain {x | x # 4}.

X —4'
2 [ 2 . . . .
(fogx)=f (m) =Vx—a (f o @) (x) is defined whenever both g (x) and f (g (x)) are defined; that is,
whenever x # 4 and — > 0. Now < >0 Xx—4>0< x> 4. Sothe domain of f o g is (4, ).

2
(@o Hy(x) =g (V) = s (g o ) (x) is defined whenever both f (x) and g (f (x)) are defined; that is, whenever

x >0and /x —4 # 0. Now /X — 4 # 0 & X # 16. So the domain of g o f is [0, 16) U (16, co).
(fo F)(x) = f (V%) = V/x = x4 (f o f) (x) is defined whenever both f (x) and f (f (x)) are defined; that is,
whenever x > 0. So the domain of f o f is [0, co).
(gog)(x) =g (x 34) =3 2 p =3 i(:(; ?4) = 9)(__2‘:( (g 0 9) (x) is defined whenever both g (x) and
X —4
g (g (x)) are defined; that is, whenever x #4and 9 —2x #0. Now9 —2Xx £ 0 2X £ 9 < X # %. So the domain of

gogis{x|x¢%,4].

fX)=vI=x,g(x)=1—x%andh (x) =1+ JX.
(Fogom () =f@ho) =Tf(g(2+vX)=f(1-(1+VX)?) = (1= (1+2/X+x))
F (=X = 20%) = /1= (X =2J%) = V/T+ 2JK + X =/ (1 + VX)? = 1+ JX

Ifh(x) = yXand g(x) = 1+x,then (goh)(x) = g(VX) = 1+ x. If f(x) = % then

(fogohy(x)=f (14 X) = T (x).

1 p—
V1I+UX
f(x)=3+ x3. If X1 # Xp, then xf #* xg‘ (unequal numbers have unequal cubes), and therefore 3 + xf #3+ xg. Thus f
is a one-to-one function.

Lg(X)=2—2x+x% = (x2 —2X + 1) +1=(x—1)2+1. Sinceg(0) =2 =g (2), as s true for all pairs of numbers

equidistant from 1, g is not a one-to-one function.

1 . . .
h(x) = & Since the fourth powers of a number and its negative are equal, h is not one-to-one. For example,

1 1
h(-1)=——= h(l)=— = h(=1)=h ().
(-1 (_1)4 land h (1) (1)4 1,s0h(-1) (@]

rx) =2+ /x+3.1fxg #xo,thenxy +3 # X2 +3,50 /X1 +3# /X2 +3and 2+ /x1 +3 # 2+ /X2 + 3. Thusr

is one-to-one.
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93. p (x) = 3.3+ 1.6x — 2.5x3. Using a graphing device and  94. q (x) =3.3+1.6x + 2.5x3. Using a graphing device and
the Horizontal Line Test, we see that p is not a one-to-one the Horizontal Line Test, we see that g is a one-to-one
function. function.

9% f(X)=3%—-2ey=3-2x=y+2ex=3(y+2).% f1x) =Fx+2.

2X +1 2x +1
9. f (x) = X; Ly = X;’ ex+1=3yex=3y-1lex=30@y-1). So L) =36x-1).
7. fN=(x+)2oy=x+1)ex+l=3Feox=y-15 f1x)=3k-1
9B fX)=1+HX—-2y=1+H-2y-1=NK-2ox-2=F-1)°ox=2+((-1° So
f~1x) =24 (x = 1)5

99. The graph passes the Horizontal Line Test, so f has an inverse. Because f (1) = 0, f =1 (0) = 1, and because f (3) = 4,

f-1@ =3
100. The graph fails the Horizontal Line Test, so f does not have an inverse.
101. (a), (b) f (x) = X2 —4,x >0 102. (@) If x1 # X2, then ¥/X1 # &/X7, and so
y 1+ X1 # 1+ ¥Xa. Therefore, fisa
f one-to-one function.
£ ®). © )

1

©fX)=x2—4x>0y=x2—4,y> -4
oxl=y+d4ox=J/y+4 So
f~1(x) = VX ¥4 X > —4. dfx) =1+ y=1+HeY=y-1

ox=(-0% Sof1x) =x-17%
X > 1. Note that the domain of f is [0, co0) , SO

1 X

y =1+ ¥X > 1. Hence, the domain of f~1is
[1, 00).

CHAPTER 2 TEST

1. By the Vertical Line Test, figures (a) and (b) are graphs of functions. By the Horizontal Line Test, only figure (a) is the
graph of a one-to-one function.
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RN V2 V2, Va2  Jat?
2@ TO==010=7g=3T@+d=" =25

(b) f(x)= x{l' Our restrictions are that the input to the radical is nonnegative and that the denominator must not be 0.
Thus, x > 0and x + 1 # 0 < x # —1. (The second restriction is made irrelevant by the first.) In interval notation, the

domain is [0, c0).

VIO V2
_f1O-f@ T0+1 2+1 3V1I0-11,2
Th te of ch = = .
(c) The average rate of change is 107 0-2 6
3. (a) “Subtract 2, then cube the result” can be expressed (© Y
algebraically as f (x) = (x — 2)3.
(b)
X f(x) 5 1
-1 | =27 >
0 -8 /
1 -1
2 0
3 1
4 8

(d) We know that f has an inverse because it passes the Horizontal Line Test. A verbal description for f 1 is, “Take the
cube root, then add 2.”
© y=0x—-2° ¥ =x—-2ox=Yy+2 Thus,aformulafor f~Lis f =1 (x) = ¥x + 2.

4. (a) f hasa local minimum value of —4 at x = —1 and local maximum values of —1 at x = —4 and 4 at x = 3.
(b) f isincreasing on (—oo, —4) and (—1, 3) and decreasing on (—4, —1) and (3, c0).

5. R (x) = —500x2 + 3000x

(a) R (2) = —500 (2)2 + 3000 (2) = $4000 represents their total (b) R

sales revenue when their price is $2 per bar and 5000

R (4) = —500 (4)2 + 3000 (4) = $4000 represents their total 4000

sales revenue when their price is $4 per bar 3000
(c) The maximum revenue is $4500, and it is achieved at a price 2000

of x = $3.

1000
0 1 2 3 4 5 x

6TMnammwaQ+h%—Ha:[Q+hﬂ—2&+hﬂ—[ﬂ—2@ﬂ=<4+#+4h—4—%)—0=2h+#

f(2+h)—f@ 2h+h?

_ 24,
21h—2 h +

and the average rate of change is
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7. (@ f(X) =X+ 5)2 = x2 4 10x + 25 is not linear because it cannot be (b)
expressed in the form f (x) = ax + b for constants a and b.
g (x) =1 —5x is linear.
y=1f)
(¢) g (x) has rate of change —5.
1
8. (@) f(x)=x3 (b) g (x) = (x — 1)3 — 2. To obtain the graph of g,
y shift the graph of f to the right 1 unit and

downward 2 units.

9. (@) y = f (x —3) + 2. Shift the graph of f (x) to the right 3 units, then shift the graph upward 2 units.
(b) y = f (=x). Reflect the graph of f (x) about the y-axis.

10. (@) f(-2)=1—-(-2)=14+2=3 (since—2<1). (b) y

f(1)=1-1=0(sincel <1). /

1. f(x)=x2+x+1;g(x)=x—3.
©) (f+g)(x)=f(x)+g(x)=(x2+x+1)+(x—3)=x2+2x—2
b) (F =90 =F00-g0)=(xB+x+1) = (x=3) =x2+4
© (foX)=Ff@X))=F(x=-3)=x—-324+(x—-3)+1=x2—6x+9+x—-3+1=x%2—-5x+7
) (gof)(x):g(f(x)):g(x2+x+1):(x2+x+l)—3:x2+x—2
(® f(@@)=f(-1)=(-1)2+(-1)+1=1. [We have used the fact that g (2) = 2 —3 = —1]
) g(f ) =9(7) =7—3=4.[We have used the fact that f (2) = 24241= 7]

(9) (@ogod) (X)) =g(@@X)) =9g(@x—3) =g(x —6) = (x —6) —3 =x — 9. [We have used the fact that
gx—-3)=x—-3)—3=x-6]
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12. (a) f (x) = x3 4 1 is one-to-one because each real number has a unique cube.
(b) g (x) = |x + 1] is not one-to-one because, for example, g (—2) =g (0) = 1.

1 1 1
—:xforallx;éO,andg(f(x)):T+2:x—2+2:xforallx;ﬁ—2.Thus,by

71T N\ .1
(—+2)—2 =
X X X—2

the Inverse Function Property, f and g are inverse functions.

138 M) =

-3 X —3 5y +3

X
14. f =y = — 2Xx+5y =x—-3 2y —1) = —5x — 3 = - . Th
x) X5 y 2X+5<:>(x+)y X o xRy -1 X S X 2y —1 us,
5x 43
1) =- :
) 2x—1
15. (8 fX)=4/3-X,X<3eey=J/3-x (b) f (x) =4/3—=X,x <3and f‘l(x)=3—x2,
y2=3—x<:>x=3—y2.Thus x>0
f~l(x)=3—-x2,x > 0. y
\f
‘%
1 X
f*l
16. The domain of f is [0, 6], and the range of f is[1, 7].
17. The graph passes through the points (0, 1) and (4, 3),s0 f (0) =1and f (4) = 3.
18. The graph of f (x — 2) can be obtained by shifting the graph of f (x) to the right VA

2 units. The graph of f (x) + 2 can be obtained by shifting the graph of f (x)
upward 2 units.

y=f)t2
Y= flx=2)
f
1 X

19. The net change of f between x = 2and x = 6is f (6) — f (2) = 7 — 2 = 5 and the average rate of change is
f6e-f@2 5

6—2 T4
20. Because f (0) =1, f~1(1) = 0. Because f (4) =3, f~1(3) = 4.

21.




22. () f(x)= 3x# — 14x2 + 5x — 3. The graph is shown in the viewing rectangle

[~10, 10] by [—30, 10].

(b) No, by the Horizontal Line Test.

(c) The local maximum is approximately —2.55 when x = 0.18, as shown in the first viewing rectangle [0.15, 0.25]
by [—2.6, —2.5]. One local minimum is approximately —27.18 when x ~ —1.61, as shown in the second viewing
rectangle [—1.65, —1.55] by [—27.5, —27]. The other local minimum is approximately —11.93 when x ~ 1.43, as
shown is the viewing rectangle [1.4, 1.5] by [—-12, —11.9].
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015 020 025 165 -160  -155 140 145 150
-2.50 } | f f - -27.0 -11.90
255 272 -11.95
274
2,60 -12.00

(d) Using the graph in part (a) and the local minimum, —27.18, found in part (c), we see that the range is [—27.18, c0).
(e) Using the information from part (c) and the graph in part (a), f (x) is increasing on the intervals (—1.61, 0.18) and
(1.43, c0) and decreasing on the intervals (—oo, —1.61) and (0.18, 1.43).

FOCUS ON MODELING  Modeling with Functions

. Let w be the width of the building lot. Then the length of the lot is 3w. So the area of the building lot is A (w) = 3w?,

w > 0.

. Let w be the width of the poster. Then the length of the poster is w + 10. So the area of the poster is
Aw) = w (w + 10) = w? + 10w.

. Let w be the width of the base of the rectangle. Then the height of the rectangle is %w. Thus the volume of the box is given

by the function V (w) = w3, w > 0.

. Letr be the radius of the cylinder. Then the height of the cylinder is 4r. Since for a cylinder V = 7r2h, the volume of the
cylinder is given by the function V (r) = 7rr2 (4r) = 4xr3.

. Let P be the perimeter of the rectangle and y be the length of the other side. Since P = 2x + 2y and the perimeter is 20, we
have 2x +2y =20 & x+y = 10 < y = 10 — X. Since area is A = Xy, substituting gives A (x) = x (10 — x) = 10x — X2,
and since A must be positive, the domainis 0 < x < 10.

1
. Let A be the area and y be the length of the other side. Then A=xy =16 oy = 76 Substituting into P = 2x + 2y gives

P:2x+2-%:2x+%,wherex>0.
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Let h be the height of an altitude of the equilateral triangle whose side has length x,

as shown in the diagram. Thus the area is given by A = %xh. By the Pythagorean
2

Theorem, h? + (%x) =x?eh+ix¥=x?cn=3xch= @x.

Substituting into the area of a triangle, we get

A(X) = %xh = %x (@x) = @xz, X > 0.

8. Let d represent the length of any side of a cube. Then the surface area is S = 6d2, and the volume is V = d® < d = JV.

©

2
Substituting for d gives S (V) = 6 (W) =6V2/3 Vv > 0.

. . L A A .
. We solve for r in the formula for the area of a circle. This gives A = wir2 & r2 = = = r = /=, so the model is
™

r(A)=\/§,A>0.

3

10. Let r be the radius of a circle. Then the area is A = 7rr2, and the circumference is C = 2nr ©r = o Substituting for r
iy

11

12

13.

14

_ c\? c?
glvesA(C)_r(E) = I

. Let h be the height of the box in feet. The volume of the box is V = 60. Then x2h = 60 < h =

,C>0.

60
ﬁ.

The surface area, S, of the box is the sum of the area of the 4 sides and the area of the base and top. Thus

S = 4xh + 2x2 = 4x (§)+2x2:

x2

240 . 240
—+ 2x2, s0 the model is S (x) = —~ +2x2,x > 0.

. By similar triangles, > = 12 o5(Ll+d)=12Les5d=7Ls L = g The model is L (d) = %d.

L L+d

d,

dy

Let dq be the distance traveled south by the first ship and do be the distance
traveled east by the second ship. The first ship travels south for t hours at 5 mi/h, so
dq = 15t and, similarly, do = 20t. Since the ships are traveling at right angles to
each other, we can apply the Pythagorean Theorem to get

D (t) = ,/d? +d2 = |/(15t)2 + (20)? = /225t2 + 400t = 25t.

. Let n be one of the numbers. Then the other number is 60 — n, so the product is given by the function

P (n) =n (60 — n) = 60n — n2.

15.

Let b be the length of the base, | be the length of the equal sides, and h be the
height in centimeters. Since the perimeteris 8,21 +b =82l =8-b <

2
h=,/12 - %bz. Therefore the area of the triangle is
b
_1 _1 1 1 2_1
A=%-b-h=1.b/12—1p2 E\/Z(8—b) —1p2
P et 2= 2T = % A4JE—B=bJE—b
so the model is A(b) =b+/4—b,0 <b < 4.

2
| = 3 (8 = b). By the Pythagorean Theorem, h? + (%b) =12

Nl T

T4



16.

17.

18.

19.

20.
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Let x be the length of the shorter leg of the right triangle. Then the length of the other triangle is 2x. Since it is a right

triangle, the length of the hypotenuse is /X2 + (2x)2 = v/5x2 = /5 x (since x > 0). Thus the perimeter of the triangle is
P(X)=X+2X++5Xx = (3+J§)x.

1,1\ w?
Let w be the length of the rectangle. By the Pythagorean Theorem, (2 w) +h2 =10 T +h2 =102

w2 =4 (100 - h2) & w = 2¢/100 — h2 (since w > 0). Therefore, the area of the rectangle is A = wh = 2h/100 — h2,
so the model is A (h) = 2h+/100 — h2,0 < h < 10.

Using the formula for the volume of a cone, V = %ﬂ-rzh, we substitute V = 100 and solve for h. Thus 100 = %ﬂ-rzh =3

300
wr
(a) We complete the table. (b) Let x be one number: then 19 — x is the other

number, and so the product, p, is

First number | Second number | Product
p(X)=x (19— x) = 19x — x2.
1 18 18
2 17 34 © p(x) =19x —x2 = — (x2 - 19x)
3 16 48 2 19 2} 192
=—|xc=19x + (% + {3
4 15 60 [ ( 2 ) ( 2 )
5 14 70 =—(x —9.5)2490.25
6 13 8 So the product is maximized when the numbers
7 12 84 are both 9.5.
8 11 88
9 10 90
10 9 90
11 8 88

From the table we conclude that the numbers is
still increasing, the numbers whose product is a

maximum should both be 9.5.

Let the positive numbers be x and y. Since their sum is 100, we have X + y = 100 < y = 100 — x. We wish to minimize
the sum of squares, which is S = x2 4+ y2 = x2 4 (100 — x)2. S0 S (x) = x2 + (100 — x)2 = x2 + 10,000 — 200x +
x2 = 2x2 — 200 + 10,000 = 2 (x2 - 100x) +10,000 = 2 (x2 —100x + 2500) 410,000 — 5000 = 2 (x — 50)2 + 5000.

Thus the minimum sum of squares occurs when x = 50. Then y = 100 — 50 = 50. Therefore both numbers are 50.
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21. (a) Let x be the width of the field (in feet) and | be the length of the field (in feet). Since the farmer has 2400 ft of fencing
we must have 2x + | = 2400.

2000 -
200 | | 200 400 Width | Length | Area

200 2000 | 400,000
300 1800 | 540,000

Area = 2000(200) = 400,000

1000 1000 1000 400 | 1600 | 640,000
500 | 1400 | 700,000

700 700 600 | 1200 | 720,000
Area=400(1000) = 400,000 | 700 | 1000 | 700,000

Area =1000(700) = 700,000 800 800 640,000

It appears that the field of largest area is about 600 ft x 1200 ft.
(b) Let x be the width of the field (in feet) and | be the length of the field (in feet). Since the farmer has 2400 ft
of fencing we must have 2x + | = 2400 < | = 2400 — 2x. The area of the fenced-in field is given by

A(X) =1 -x = (2400 — 2x) X = —2x2 + 2400X = —2 (x2 - 1200x).

(c) Theareais A(x) = -2 (x2 —1200x + 6002) +2 (6002) = —2(x — 600)2 + 720,000. So the maximum area occurs
when x = 600 feet and | = 2400 — 2 (600) = 1200 feet.

22. (a) Let w be the width of the rectangular area (in feet) and | be the length of the field (in feet). Since the farmer has 750
feet of fencing, we must have 5w + 21 =750 < 2l =750 — 5w < | = % (150 — w). Thus the total area of the four

pensis A(w) =1 - w = 3w (150 — w) = —3 (11)2 - 15011)).

(b) We complete the square to get A (w) = —3 (wz - 15011)) =-3 (11)2 — 150w + 752) + (%) 752 = =3 (w - 752 +
14062.5. Therefore, the largest possible total area of the four pens is 14,062.5 square feet.

23. (a) Let x be the length of the fence along the road. If the area is 1200, we have 1200 = x- width, so the width of the garden

. 1200 - . 1200 7200
is ~ Then the cost of the fence is given by the function C (x) =5 (x) + 3 [x +2- T] =8+ —.

(b) We graph the function y = C (x) in the viewing (c) We graph the function y = C (x) and y = 600 in
rectangle [0, 75] x [0, 800]. From this we get the the viewing rectangle [10, 65] x [450, 650].
cost is minimized when x = 30 ft. Then the From this we get that the cost is at most $600
width is % = 40 ft. So the length is 30 ft and when 15 < x < 60. So the range of lengths he
the width is 40 ft. can fence along the road is 15 feet to 60 feet.

\/ 600 \ 4
500 i
500 T
0 f f f f
0 50 20 40 60




24. (a)

(b)

25. (a)

(b)

26. (a)

(©

Modeling with Functions

Let x be the length of wire in cm that is bent into a square. So 10 — x is the length of wire in
10 — x

. . . . X
cm that is bent into the second square. The width of each square is 1 and , and the area

_x\2 o x2 10—x\? 100 — 20x + x?2 .
of each square is (Z) =16 and ( 7 ) =15 Thus the sum of the areas is
2 2 2
X 100 —20x +x°  100—20x +2X° 1 , 5 25

25
We complete the square. A(x) = §x? — 3x + 2 = 1 (x2 - le) +2=1 (x2 —10x + 25) +7 -

% = % (x —5)2 + % So the minimum area is % cm? when each piece is 5 cm long.

Let h be the height in feet of the straight portion of the window. The circumference of the semicircle

isC = %wx. Since the perimeter of the window is 30 feet, we have x + 2h + %ﬂ'X = 30.

Solving for h, we get 2h = 30 — x — 37X & h = 15 — 3x — z7x. The area of the window is

2
A(X)=xh+3m (%x) =X (15 —Ix - %ﬂ'X) + $mx2 = 15x — $x2 — $mx2.

A(X) =15X — § (m +4)x? = =% (m + 4) [xz—ﬂx]

T+ 4
120 60 \2 450 60 \2 450
1 2 1
—- —= 4) | x¢ — X —- —= HIX — —— -
g (m+ )[ T+4 +(7r+4) :|+7r+4 g(m+ )( 7'r+4) tata

60
The area is maximized when x = p—— ~ 8.40, and hence h ~ 15 — % (8.40) — %w (8.40) ~ 4.20.
™

The height of the box is x, the width of (b) We graph the function y = V (x) in the viewing rectangle
the box is 12 — 2x, and the length of the [0, 6] x [200, 270].

box is 20 — 2x. Therefore, the volume of

the box is 250

V(X) = x(12 —2x) (20 — 2x)

= 4x3 —64x2 +240x,0 < X <6

200 t }
0 5

From the graph, the volume of the box

with the largest volume is 262.682 in3

when x = 2.427. .
decimal places).

27. (a) Let x be the length of one side of the base and let h be the height of the box in feet. Since the volume of

12
the box is V. = x2h = 12, we have x2h = 12 & h = —. The surface area, A, of the box is sum of the
X

area of the four sides and the area of the base. Thus the surface area of the box is given by the formula

12 4
A(x) = 4xh + x2 = 4x (—2)—|—x2=78+x2,x>0.
X

From the calculator we get that the volume of the box is
greater than 200 in3 for 1.174 < x < 3.898 (accurate to 3

235
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(b) The function y = A (x) is shown in the first viewing rectangle below. In the second viewing rectangle, we isolate the
minimum, and we see that the amount of material is minimized when x (the length and width) is 2.88 ft. Then the

12
heightish = -~ 1.44 ft.
X

26

24

28. Let A, B, C, and D be the vertices of a rectangle with base AB on the x-axis and its other two vertices C and D above the
x-axis and lying on the parabolay = 8 — x2. Let C have the coordinates (x, y), X > 0. By symmetry, the coordinates of
D must be (—x, y). So the width of the rectangle is 2x, and the length isy = 8 — x2. Thus the area of the rectangle is

A (x) = length - width = 2x (8 - xz) = 16x — 2x3. The graphs of A (x) below show that the area is maximized when
x &~ 1.63. Hence the maximum area occurs when the width is 3.26 and the length is 5.33.

y=8—2x"

C

/ A

5

20

10

18

17

16

15

2.0

29. (a) Let w be the width of the pen and | be the length in meters. We use the area to establish a relationship between

) . 100 . .
w and 1. Since the area is 100 m?, we have | - w = 100 < | = —. So the amount of fencing used is
D

F:2|+2w:2(—)+2w

100
w

200 + 2w?
o w '

(b) Using a graphing device, we first graph F in the viewing rectangle [0, 40] by [0, 100], and locate the approximate
location of the minimum value. In the second viewing rectangle, [8, 12] by [39, 41], we see that the minimum value of

F occurs when w = 10. Therefore the pen should be a square with side 10 m.

100

41

40

39
8

10

12
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30. (a) Lett; represent the time, in hours, spent walking, and let t, represent (b) We graph 'y = T (x). Using the zoom
the time spent rowing. Since the distance walked is x and the walking function, we see that T is minimized
speed is 5 mi/h, the time spent walking is t; = %x. By the when x = 6.13. He should land at a point

Pythagorean Theorem, the distance rowed is 6.13 miles from point B.

d =,/22 + (7 — x)2 = V/x2 — 14x + 53, and so the time spent
rowing ist, = % - /X2 — 14x + 53. Thus the total time is

T (x) = $v/x2 — 14x + 53 + ¢x.

31. (a) Let x be the distance from point B to C, in miles. Then the distance from A to C is v/x2 + 25, and the energy used in
flying from Ato C then C to D is f (X) = 14v/x2 + 25 4 10 (12 — X).
(b) By using a graphing device, the energy expenditure is minimized when the distance from B to C is about 5.1 miles.

200 169.1 T
100 1690 F~moorouo-———
0 * f t f 168.9 * f * i
0 5 10 5.0 5.1 5.2

32. (a) Using the Pythagorean Theorem, we have that the height of the upper triangles is v/25 — x2 and the height of the lower
triangles is v/144 — x2. So the area of the each of the upper triangles is %x\/ 25 — x2, and the area of the each of the
lower triangles is %x\/ 144 — x2., Since there are two upper triangles and two lower triangles, we get that the total area

is AC) =2 [$xv/25 =] +2- [$xv144 —x7| = x (VB2 + V144 =2,

(b) The functiony = A (x) = x (\/25 —x2 4+ /144 — x2) is shown in the first viewing rectangle below. In the second

viewing rectangle, we isolate the maximum, and we see that the area of the kite is maximized when x ~ 4.615.
So the length of the horizontal crosspiece must be 2 - 4.615 = 9.23. The length of the vertical crosspiece is

\/52 — (4.615)% + \/ 122 — (4.615)2 = 13.00.

100 60.1 T
50 600 T/  —
0+F——F+—+—+— 59.9 —t——
0 2 4 4.60 4.62 4.64




2 FUNCTIONS

2.1 FUNCTIONS

V Suggested Time and Emphasis

1-1 class. Essential material.

¥ Points to Stress

1. The idea of function, viewed as the dependence of one quantity on a different quantity.
2. The notation associated with piecewise-defined functions.
3. Domains and ranges from an algebraic perspective.

4. Four different representations of functions (verbally, algebraically, visually, and numerically).

Vv Sample Questions

o Text Question: What is a function?
Answer: Answers will vary. The hope is that the students will, in their own words, arrive at the idea that a
function assigns each element of one set to exactly one element of another set (or the same set).

o Drill Question: Let f (x) = = + /z. Find f (0) and f (4).
Answer: f (0) =0, f(4) =6

¥ In-Class Materials

e Discuss the ties between the idea of a function and a calculator key. Keys such as sin, cos, tan, and
vaR represent functions. It is easy to compute and graph functions on a calculator. Contrast this with
equations such as y3 — x3 = 2xy, which have graphs but are not easy to work with, even with a calculator.
(Even computer algebra systems have a tough time with some general relations.) Point out that calculators
often give approximations to function values—applying the square root function key to the number 2 gives
1.4142136 which is close to, but not equal to, V2.

e Most math courses through calculus emphasize functions where both the domain and range sets are
numerical. One could give a more abstract definition of function, where D and R can be any set. For
example, there is a function mapping each student in the class to his or her birthplace. A nice thing about
this point of view is that it can be pointed out that the map from each student to his or her telephone number
may not be a function, because a student may have more than one telephone number, or none at all.

e Function notation can trip students up. Start with a function such as f (x) = x? —z and have your students
find £ (0), f (1), f (v3),and f (—1). Then have them find f (), f (y), and (of course) f (= + h). Some
students will invariably, some day, assume that f (a + b) = f (a) + f (b) for all functions, but this can be
minimized if plenty of examples such as f (2 4 3) are done at the outset.

85



CHAPTER2 Functions

e Discuss the usual things to look for when trying to find the domain of a function: zero denominators and
negative even roots.
2 if 2 is an integer
Then discuss the domain and range of f (z) = v . v . g
0 ifz isnotan integer
2 if z is rational
If the class seems interested, perhaps let them think about f (x) = v . v .
0 ifzxisirrational
-2
o Let f(z) = ‘”’3(‘”’37_2)
“yes”, ask them to compare the domains, or to compute g (2) and f (2). If they say “no”, ask them to find
a value such that f () # g (z). [This activity assumes that students know the equation of a circle with

radius r. If they do not, this may be a good opportunity to introduce the concept.]

and g (z) = x. Ask students if the functions are the same function. If they say

V Examples

o Real-world piecewise functions:
1. The cost of mailing a parcel that weighs w ounces (see Figure 1 in the text)
2. The cost of making x photocopies (given that there is usually a bulk discount)
3. The cost of printing = pages from an inkjet printer (at some point the cartridges must be replaced)

o . . 2 —5r+6 .
e A function with a nontrivial domain: e P has domain (—oo, 1) U (1,2] U [3, 00).
e — 2k

V Group Work 1: Finding a Formula

Make sure that students know the equation of a circle with radius r, and that they remember the notation for
piecewise-defined functions. Divide the class into groups of four. In each group, have half of them work on
each problem first, and then have them check each other’s work. If students find these problems difficult, have
them work together on each problem.

. z+4 ifr < -2
—r—2 ifz <=2

] 2 if 2<x<0
Answers: 1. f(z) =¢ =z+2 if-2<2<0 2g(z)= .
. 4—z2 ifo<e<?2
2 ifz>0 .
x—2 ifz>2

V Group Work 2: Rounding the Bases

On the board, review how to compute the percentage error when estimating = by % (Answer: 0.04%)

Have them work on the problem in groups. If a group finishes early, have them look at /4(7) and h(10) to
see how fast the error grows. Students have not seen exponential functions before, but Problem 3 is a good
foreshadowing of Section 4.1.

Answers: 1. 17.811434627, 17, 4.56% 2. 220.08649875, 201, 8.67%  3.45.4314240633, 32, 29.56%

¥ Homework Problems

Core Exercises: 3, 15, 20, 33, 37, 50, 58, 68, 80, 89, 94

Sample Assignment: 1, 3, 8, 13, 15, 17, 20, 25, 29, 32, 33, 35, 37, 42, 43, 50, 53, 57, 58, 64, 68, 73, 76, 80, 83,
86, 89, 94
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GROUP WORK 1, SECTION 2.1

Finding a Formula

Find formulas for the following functions:
1
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GROUP WORK 2, SECTION 2.1

Rounding the Bases

1. For computational efficiency and speed, we often round off constants in equations. For example, consider
the linear function
f(x) = 3.137619523x + 2.123337012
In theory, it is easy and quick to find f (1), f(2), f(3), f(4), and f (5). In practice, most people doing
this computation would probably substitute
f(x)=3z+2

unless a very accurate answer is called for. For example, compute f (5) both ways to see the difference.

The actual value of f (5):

The “rounding” estimate:

The percentage error:

2. Now consider
g (z) = 1.1275531923 + 3.1256942° + 1
Again, one is tempted to substitute g (z) = 2% + 322 + 1.

The actual value of g (5):
The “rounding” estimate:

The percentage error:

3. It turns out to be dangerous to similarly round off exponential functions, due to the nature of their growth.
For example, let’s look at the function

h(z) = (2.145217198123)"

One may be tempted to substitute ~ (x) = 2% for this one. Once again, look at the difference between

these two functions.
The actual value of £ (5):

The “rounding” estimate:

The percentage error:
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2.2 GRAPHS OF FUNCTIONS

V Suggested Time and Emphasis

1 class. Essential material.

¥ Points to Stress

1. The Vertical Line Test.
2. Graphs of piecewise-defined functions.

3. The greatest integer function.

Vv Sample Questions

o Text Question: Your text discusses the greatest integer function [z]. Compute [2.6], [2], [-2.6], and [—2].
Answer: [2.6] = 2, [2] =2, [-2.6] = -3, [-2] = -2

o Drill Question: Let f (z) = 22 + |=|. Which of the following is the graph of f? How do you know?

(@) y (b) v (© y (d) v
0 4 2
25 2
3 1 1
1
2
-2 SN A2y S fo 2 %
1 cl -1
-3
—4 20 1 2a -2 -2

Answer: (b) is the graph of f, because f (z) > 0 for all z.

¥ In-Class Materials

e Draw a graph of fuel efficiency versus time on a trip, such as the one below. Lead a discussion of what
could have happened on the trip.

Fuel Efficiency
(miles/gallon)

30
20

10

0 1 2 3 Time (Hours)

e In 1984, United States President Ronald Reagan proposed a plan to change the personal income tax system.
According to his plan, the income tax would be 15% on the first $19,300 earned, 25% on the next $18,800,
and 35% on all income above and beyond that. Describe this situation to the class, and have them graph
tax owed 7" as a function of income I for incomes ranging from $0 to $80,000. Then have them try to
come up with equations describing this situation.
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CHAPTER2 Functions

Answer: T
16,000

12,000+
8000 1

4000

00 20,000 40,000 60,000

e In the year 2000, Presidential candidate Steve Forbes proposed a “flat tax” model: The first $36,000 of a
taxpayer’s annual income would not be taxed at all, and the rest would be taxed at a rate of 17%. Have your
students do the same analysis they did of Reagan’s 1984 plan, and compare the models. As an extension,
consider having them look at a current tax table and draw similar graphs.

Answer: T
4000
3000
2000

1000

0 20,000 40,000  f
e Discuss the shape, symmetries, and general “flatness” near 0 of the power functions x™ for various values

of n. Similarly discuss {/x for n even and n odd. A blackline master is provided at the end of this section,
before the group work handouts.

V Examples

e A continuous piecewise-defined function e A discontinuous piecewise-defined
function

4—22 ifz<0

flry=< 4-2z if0<z<2 4—22 ifx <0
V-2 ifz>2 flx)=X z+2 f0<z<2
Jr o ifz>2
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SECTION 2.2  Graphs of Functions

e Classic rational functions with interesting graphs

y

0.1 J;‘L

V Group Work 1: Every Picture Tells a Story

Put students in groups of four, and have them work on the exercise. If there are questions, encourage them to
ask each other before asking you. After going through the correct matching with them, have each group tell

their story to the class and see if it fits the remaining graph.

Answers:

1. (b) 2. (a) 3.(c)

4. The roast was cooked in the morning and put in the refrigerator in the afternoon.

V Group Work 2: Functions in the Classroom

Before starting this one, review the definition of “function”. Some of the problems can be answered only by
polling the class after they are finished working. Don’t forget to take leap years into account for the eighth
problem. For an advanced class, anticipate Section 2.8 by quickly defining “one-to-one” and “bijection”, then

determining which of the functions have these properties.
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CHAPTER2 Functions

Answers:

Chairs: Function, one-to-one, bijection (if all chairs are occupied)

Eye color: Function, not one-to-one

Mom & Dad’s birthplace: Not a function; mom and dad could have been born in different places

Molecules: Function, one-to-one (with nearly 100% probability); inverse assigns a number of molecules to the
appropriate student.

Spleens: Function, one-to-one, bijection. Inverse assigns each spleen to its owner.

Pencils: Not a function; some people may have more than one or (horrors!) none.

Social Security Number: Function, one-to-one; inverse assigns each number to its owner.

February birthday: Not a function; not defined for someone born on February 29.

Birthday: Function, perhaps one-to-one.

Cars: Not a function; some have none, some have more than one.

Cash: Function, perhaps one-to-one.

Middle names: Not a function; some have none, some have more than one.

Identity: Function, one-to-one, bijection. Inverse is the same as the function.

Instructor: Function, not one-to-one.

V Group Work 3: Rational Functions

Remind students of the definition of a rational function as a quotient of polynomials. Students should be able
to do this activity by plotting points and looking at domains and ranges.
Answers:

1 y 2. (d) 3. (b) 4. (e) 5. (c) 6. (a)

r _\4 T _2/ 0 \2 T ‘\‘. T g
_10,

V¥ Homework Problems
Core Exercises: 3, 7, 22, 34, 42, 47, 52, 60, 70, 78, 83

Sample Assignment: 3, 4, 7, 8, 16, 22, 25, 31, 34, 38, 42, 45, 47, 50, 52, 56, 60, 64, 66, 70, 73, 76, 78, 81, 83,
87
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SECTION 2.2  Graphs of Functions

YA YA YA

1 1 1
0 X 0 1 x 0 1 x
T 1‘2 IL‘3

YA YA YA

1 1 1
0 X 0 1 x 0 S
374 .%'5 $6

YA YA YA

1 1 1/
0 x 0 1 X 0 1 X
o Ve vz

YA YA VA
0 x /o 1 x 0 1 x
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GROUP WORK 1, SECTION 2.2
Every Picture Tells a Story

One of the skills you will be learning in this course is the ability to take a description of a real-world occur-
rence, and translate it into mathematics. Conversely, given a mathematical description of a phenomenon, you
will learn how to describe what is happening in plain language. Here follow four graphs of temperature ver-
sus time and three stories. Match the stories with the graphs. When finished, write a similar story that would
correspond to the final graph.

T T

Graph 1 Graph 2

/’\

Graph 3 Graph 4
(a) 1 took my roast out of the freezer at noon, and left it on the counter to thaw. Then | cooked it in the oven
when | got home.
(b) I took my roast out of the freezer this morning, and left it on the counter to thaw. Then I cooked it in the
oven when | got home.
(c) 1 took my roast out of the freezer this morning, and left it on the counter to thaw. | forgot about it, and
went out for Chinese food on my way home from work. | put it in the refrigerator when | finally got home.
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GROUP WORK 2, SECTION 2.2

Functions in the Classroom

Which of the following relations are functions?

Domain
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in the United States
All the living people born in February
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in your college
All the people in your classroom

All the people in your classroom

Function Values

Chairs

The set {blue, brown, green, hazel}

Cities

R, the real numbers
Spleens

Pencils

Integers from 0-999999999
Days in February, 2019
Days of the year

Cars

R, the real numbers
Names

People

People

95

Function
f (person) = his or her chair
f (person) = his or her eye color
f (person) = birthplace of their mom and dad
f (person) = number of molecules in their body
f (person) = his or her own spleen
f (person) = his or her pencil
f (person) = his or her Social Security number
f (person) = his or her birthday in February 2019
f (person) = his or her birthday
f (person) = his or her car
f (person) = how much cash he or she has
f (person) = his or her middle name
f (person) = himself or herself

f (person) = his or her mathematics instructor



GROUP WORK 3, SECTION 2.2

Rational Functions

The functions below are sad and lonely because they have lost their graphs! Help them out by matching each
function with its graph. One function’s graph is not pictured here; when you are done matching, go ahead and
sketch that function’s graph.

1. 2’ - 2 E
0.125 2 —4
2 4 2 _ 1
3.7 4.2
2 —1 z4+0.5
5% (x2 — 1) 6 5% (x2 — 1)
z2+1 22 —1
(@ y (b) y
10 Qj
4 5 2 4 x 4\ 0 2 4 x
~10 10
(© y (d) y
104 104
4 2 4 x 4 0 2 4 x
_10,
e y y
1 104
N T4 20 2 4 x
1! ~10.
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2.3 GETTING INFORMATION FROM THE GRAPH OF A FUNCTION

V Suggested Time and Emphasis

%—1 class. Essential material.

¥ Points to Stress

1. Gaining information about a function from its graph, including finding function values, domain and range.
2. Algebraic and geometric definitions of increasing and decreasing.

3. Finding local extrema of a function from its graph.

Vv Sample Questions

o Text Question: Draw a graph of a function with domain [—10, 10] and range [—2, 2]. There should be at least
one interval where the graph is increasing and at least one interval where the graph is decreasing.

Answer: Answers will vary.

o Drill Question: If f () = —22 + 9z + 2, find the extreme value of £. Is it a maximum or a minimum?
Answer: f () = 2 is a maximum.

¥ In-Class Materials

e Explore domain and range with some graphs that have holes, such as the graphs of some of the functions
in the previous section.

)7
y

12+

10+

1 81

6,,

0 1 X 4
— >
-4 =2 0 2 4

_a(@-2) o
T === 9@) =\ Ty

o Draw a graph of electrical power consumption in the classroom versus time on a typical weekday, pointing
out important features throughout, and using the vocabulary of this section as much as possible.
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CHAPTER2 Functions

o Notice that it is fairly easy to tell where some functions are increasing and decreasing by looking at their
graphs. For example, the graph of f (z) = 2* — 822 makes things clear. Note that in this case, the
intervals are not immediately apparent from looking at the formula. However, for many functions such as
g (v) = 23322 +x+1, itis difficult to find the exact intervals where the function is increasing/decreasing.
In this example, the endpoints of the intervals will occur at precisely x = 1 + §\/6.

-b—2-1/]\1 2 [3 x -1 /0 v x
_1,

5
10 4

—15 1

f(x) = 2 — 822 g(@)=a3-322+x+1

2 - - -
. x* if x is rational " - . . . .
e Examine f (z) = { 0 if « is irrational pointing out that it is neither increasing nor decreasing near

x = 0. Stress that when dealing with new sorts of functions, it becomes important to know the precise
mathematical definitions of such terms.

Vv Examples
e A function with two integer turning points and a flat spot:
y
6 |
4]

1 (122° — 1052 + 3402° — 51022 + 3602 — 90)
e A function with several local extrema: f (z) =2t + 2% — 72?2 —2+6= (2 +3) (x + 1) (z — 1) (z — 2)

y
10 -

—154

The extrema occur at x ~ —2.254, x ~ —0.0705, and z ~ 1.5742.
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SECTION 2.3  Getting Information from the Graph of a Function

V Group Work 1: Calculator Exploration

This gives students a chance to graph things on their calculator and make conclusions. It will also serve as a
warning that relying on calculator graphs without understanding the functions can lead one astray.

Notice that in calculus, when we say a function is increasing, we are saying it is increasing at every point on
its domain. In this context, we are talking about increasing over an interval, which is slightly different. The
curve —1/z, for example, is increasing at every point in its domain. Can we say it is decreasing over the
interval [—10, 1]? No, because it is not defined in that interval. So the curve —1/x is increasing over every
interval for which it is defined.

Answers:
1. () 2 (a 3.(a)(assuming positive intervals) 4.(c) 5.(c) 6.(@ 7.(b) 8@ 9.(c)
10. (c) y
100 20001
- > X 00 17T Ti0x
1000
—100 A —2000 1
f(x) =20z +zsinz f(x) =20z + zsinx

V Group Work 2: The Little Dip
In this exercise students analyze a function with some subtle local extrema. After they have tried, reveal that
there are two local maxima and two local minima.

After students have found the extrema, point out that if they take calculus, they will learn a relatively simple
way to find the exact coordinates of the extrema.

Answers:
1 y y
~3.461
1000
~3.481
-3.51
-3.521
- ~3.54
18—6—4—20 2 4
i 1 2 x

2. There are local maximaatxz = —6 and x = %, and local minimaatz =1 and z = %

¥ Homework Problems
Core Exercises: 3, 8, 13, 22, 32, 37, 45, 48, 52, 59, 66, 67
Sample Assignment: 1, 3, 7, 8, 9, 13, 15, 20, 22, 32, 34, 36, 37, 41, 44, 45, 48, 52, 56, 57, 59, 62, 65, 66, 67, 69
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GROUP WORK 1, SECTION 2.3

Calculator Exploration

Graph the following curves on your calculator. For each curve specify which of the following applies.

(a) The graph of f is increasing over every interval (assuming the curve is defined everywhere in that interval).
(b) The graph of f is decreasing over every interval (assuming the curve is defined everywhere in that

interval).
(c) The graph of f is increasing over some intervals and decreasing over others.
1 f(x) =22
2. f(x) =23
3. f(z) =z
4. f (x) =sinzx
5 f(z) =coszx
6. f(z) =tanx
7. f(x)=¢€"
8. f(z)=Inz

9. f(x) =5z* —1.01*

10. f(x) =20z + zsinz
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GROUP WORK 2, SECTION 2.3
The Little Dip

Consider f (z) = 2% + Fa* — 1853 4 L0032 _ 45,

1. Draw a graph of f.

2. Estimate the z-values of all local extrema. Make sure your estimates are accurate to three decimal places.
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2.4 AVERAGE RATE OF CHANGE OF A FUNCTION

V Suggested Time and Emphasis

1-1 class. Essential material.

¥ Points to Stress

1. Average rate of change.

Vv Sample Questions

o Text Question:
Let f (t) = 3t + 2.
(&) What is the average rate of change of f from¢ =1to¢ = 3?
(b) What is the average rate of change of f fromt =1tot = =?
Answer: (a) 3 (b) 3
o Drill Question: If f (¢) = |¢* — [3t||, what is the average rate of change between ¢ = —3 and ¢ = —1?
Answer: 1

¥ In-Class Materials

e Students should see the geometry of the average rate of change — that the average rate of change from
x = a to xz = b is the slope of the line from (a, f (a)) to (b, f (b)). Armed with this knowledge, students
now have a way of estimating average rate of change: graph the function (making sure that the x- and
y-scales are the same), plot the relevant points, and then estimate the slope of the line between them.

e It is possible, at this point, to foreshadow calculus nicely. Take a simple function such as I (t) = 2 and
look at the average rate of change from ¢ = 1 to ¢ = 2. Then look at the average rate of change from¢ = 1
tot = % If students work in parallel, it won’t take them long to fill in the following table:

From | To | Average Rate of Change
t=1]2 3

t=1]15 2.5
t=111.25 2.25
t=1]1.1 2.1
t=111.01 2.01
t=11]1.001 2.001

Note that these numbers seem to be approaching 2. This idea is pursued further in the group work.

e Assume that a car drove for two hours and traversed 120 miles. The average rate of change is clearly
60 miles per hour. Ask the students if it was possible for the car to have gone over 60 mph at some point in
the interval, and explain how. Ask the students if it was possible for the car to have stayed under 60 mph
the whole time. Ask the students if it was possible for the car never to have gone exactly 60 mph. Their
intuition will probably say that the car had to have had traveled exactly 60 mph at one point, but it will
be hard for them to justify. The truth of this statement is an example of the Mean Value Theorem from
calculus.
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SECTION 2.4 Average Rate of Change of a Function

Vv Examples

If f (x) = 2® — =, the average rate of change from z = 1 to x = 4 is

f(4)_f(1): (43_4)_(13_1) :(64_4)_(1_1):@:20
4—-1 3 3 3

V Group Work: Small Intervals

If you have the time, and really wish to foreshadow calculus, have the students find the limit starting with
x = 1 and then again with x = 3. Then see if they can find the pattern, and discover that the average value is

going to approach 3a? if we start at a.

Students won’t remember every detail of this problem in a year, obviously. So when you close, try to convey
the main idea that as we narrow the interval, the average values approach a single number, and that everything
blows up if we make the interval consist of a single point. You may want to mention that exploring this
phenomenon is a major part of the first semester of calculus.

Answers:

1.19 2.15.25 3.12.61 4.12.0601 5.12.006001 6.11.9401 7.12 8.You getg,which is undefined.

V¥ Homework Problems
Core Exercises: 3, 10, 16, 24, 31, 36, 40
Sample Assignment: 3, 4, 8, 10, 11, 15, 16, 22, 24, 26, 29, 31, 33, 36, 38, 40
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GROUP WORK, SECTION 2.4

Small Intervals

Let us consider the curve y = 2. Assume | am interested only in what is happening near = = 2. It is clear
that the function is getting larger there, but my question is, how quickly is it increasing? One way to find out
is to compute average rates of change.

1. Find the average rate of change between x = 2 and = = 3.

2. The number 2.5 is even closer to the number 2. Remember, | only really care about what is happening
very close to =z = 2. So compute the average rate of change between x = 2 and = = 2.5.

3. We can get closer still. Compute the average rate of change between x = 2 and x = 2.1.

4. Can we get closer? Sure! Compute the average rate of change between x = 2 and z = 2.01.

5. Compute the average rate of change between z = 2 and = 2.001.

6. We can also approach 2 from the other side. Compute the average rate of change between = = 2 and
x = 1.99.

7. Your answers should be approaching some particular number as we get closer and closer to 2. What is
that number?

8. Hey, the closest number to 2 is 2 itself, right? So go ahead and compute the average rate of change between
x = 2 and x = 2. What happens?
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2.5 LINEAR FUNCTIONS AND MODELS

V Suggested Time and Emphasis

%—1 class. Essential material.

¥ Points to Stress

1. Definition of a linear function.
2. The relationship between slope and rate of change, including units.

3. Creating linear models in an applied context.

Vv Sample Questions

o Text Question: \What is the difference between “slope” and “rate of change?”
Answer: The text describes this as a difference in points of view. Any response that gets at the idea of a
slope being a property of a graph and a rate of change being a property of a physical situation should be
given full credit.

o Drill Question: Which of the following, if any, are linear functions?

@ f(z) =3z +VZ ) f(2) =3z — 242 (@ f () =72 (@) f (¢) = VBr —4 (&) f () = = — ——
Answer: (a), (b), (c), (e)

¥ In-Class Materials

e It is important to guide students from the perspective of Section 1.10 (Lines) to the more applied
perspective of this section. Start by asking the students to graph f(z) = 60x. You should see graphs
that look like the one below.

As you know, students tend not to label their axes, and if the - and y-axis scales are equal, the slope of
the line is nowhere near 60. Ask them for the slope and y-intercept of their line.
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CHAPTER2 Functions

Now show them this graph of the distance a car travels as a function of time over a two hour trip.
d (miles)

100 1

50 1

0 1 2 t (hours)

Point out that this graph looks the same as theirs, but now the slope has both units and meaning—the car
travelled at 60 miles per hour. The fact that the graph is linear means the car traveled at a constant speed.

e One nice aspect of linear functions is interpolation. For example, assume that between 2012 and 2016, a
tree grew at a constant rate. Assume it was 10 feet tall in 2012 and 20 feet tall in 2016. Now we can use
this model to figure out how tall it was in 2015: 15 feet. We also can extrapolate to predict its height in
2040, but we should always be careful when we extrapolate. Just because the growth rate was constant
between 2012 and 2016, we cannot necessarily assume it will be constant through 2040.

¢ In many applications, complicated functions are approximated by linear functions. The group work for
this section will explore that concept further.

Vv Examples

e A linear function with nice intercepts: f (z) = 22 — 1

fx)
1
5, (_))/
0/ X
_—To.-y

o A real-world example of a linear model: The force exerted by a spring increases linearly as it is stretched.
When it is at rest (not stretched at all), it exerts no force. Now assume that when you stretch it 3 inches, it
exerts 1—10 Ib of force on your hand. How much will it exert if you stretch it only 1 inch?

Answer == Ib

V Group Work: Approximating Using Linear Models

This activity introduces the idea of linear approximation from both geometric and algebraic perspectives, and
assumes the students are using graphing technology. These ideas show up again in first semester calculus.

For the second question, if the students are not feeling playful, give each student a different z-value in the
interval [0, 10] to zoom in on.
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SECTION 2.5 Linear Functions and Models

Answers:
1.(3) s (b) It looks linear. (c) It looks linear.
10

0 5 10 x
2.(3) ) (b) It looks linear. (c) It looks linear.

0 5 10x

3.() ) (b) g (6.5) =g (7.5) = L (x) (c) They are close.
10 =4.11x — 20.31

8

6

0'6.5 7 7.5 x
v Homework Problems

Core Exercises: 3, 9, 14, 17, 21, 29, 35, 42, 46, 52
Sample Assignment: 1, 3,5, 7, 9, 13, 14, 15, 17, 18, 21, 22, 25, 27, 29, 32, 35, 36, 38, 42, 43, 45, 46, 49, 52
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GROUP WORK, SECTION 2.5

Approximating Using Linear Models

$2

1. Consider the rather nasty function f (z) = 0~ +4y/z.
(@) Sketch this function on the interval [0, 10].
f)

10

0 5 10 x

(b) fisclearly not a linear function. But notice that between x = 8 and z = 9 it looks almost linear. Plot
this function on your calculator on the interval [8,9]. Does it look linear?

() Now look at your original graph near x = % It is clearly curved there. But look what happens when
you plot it on the interval [0.4, 0.6]. Does it look linear?

2. Let’s play with a kind of function you may never have seen yet: g (x) = x + 2sinx — cos 2z.
(@) Sketch this function on the interval [0, 10].

fx)

10

0 5 10 x

(b) Notice how this function is even wigglier than the previous one! But something interesting happens
when you zoom in. Pick any value of 2 and zoom in on it repeatedly. Does it eventually look linear?
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Approximating Using Linear Models

. This is a key idea that is used in many real-world applications. If a function is “smooth” (that is, its graph

has no breaks or sharp corners) then no matter how twisty it is, if you zoom in close enough, it looks
linear.

(@) Graph g, the function from Part 2, on the interval [6.5, 7.5].
fx) 4

0] 65 7 75 x

(b) Compute ¢ (6.5) and g (7.5), and use this information to find the equation of a straight line that
intersects the graph of gat x = 6.5 and at z = 7.5.

(c) Graph g and your line on the same axes. Are they close?
Jx) 4
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2.6 TRANSFORMATIONS OF FUNCTIONS

V Suggested Time and Emphasis

1 class. Essential material.

¥ Points to Stress

1. Transforming a given function to a different one by shifting, stretching, and reflection.
2. Using the technique of reflection to better understand the concepts of even and odd functions.

Vv Sample Questions

o Text Question: \What is the difference between a vertical stretch and a vertical shift?
Answer: A vertical stretch extends the graph in the vertical direction, changing its shape. A vertical shift
moves the graph in the vertical direction, preserving its shape.
o Drill Question: Given the graph of f (z) below, sketch the graph of 1 f () + 1.
y
4,
3]

Answer: y

¥ In-Class Materials

e Students will often view this section as a process of memorizing eight similar formulas. Although it
doesn’t hurt to memorize how to shift, reflect, or stretch a graph, emphasize to students the importance of
understanding what they are doing when they transform a graph. The group work “Discovering the Shift”
(in Section 1.9) should help students understand and internalize. Tell students that if worse comes to worst,
they can always plot a few points if they forget in which direction the graphs should move.
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SECTION 2.6 Transformations of Functions

e Show the class a function they have not learned about yet, such as f (z) = sin . (If students know about
sin, then show them arctan or e~*°—any function with which they are unfamiliar.) Point out that even
though they don’t know a lot about sin , once they’ve seen the graph, they can graph sin z+ 3, sin (z — 1),

2sin x, — sin x, etc.

e Graph f () = 22 with the class. Then anticipate Section 3.2by having students graph (z — 2)* — 3 and
(z +1)% + 2, finally working up to g () = (z — h)? + k. If you point out that any equation of the form
g (x) = ax? + bx + c can be written in this so-called standard form, students will have a good start on the
next section in addition to learning this one.

e This is a good time to start discussing parameters. Ask your students to imagine a scientist who knows
that a given function will be shaped like a stretched parabola, but has to do some more measurements to
find out exactly what the stretching factor is. In other words, she can write f (x) = —az?, noting that she
will have to figure out the a experimentally. The a is not a variable, it is a parameter. Similarly, if we are
going to do a bunch of calculations with the function f (x) = /= + 2, and then do the same calculations

with /x + 3, ¥/« — m, and {/x — 2 it is faster and easier to do the set of calculations just once, with the

function g (x) = /= + h, and then fill in the different values for & at the end. Again, this letter A is called
a parameter. Ask the class how, in the expression f (t) = t + 3s, they can tell which is the variable, and
which is the parameter—the answer may encourage them to use careful notation.

Vv Examples

A distinctive-looking, asymmetric curve that can be stretched, shifted and reflected:

y
20+

10 1

2
f(x):}x2—5$+\/5’

V Group Work 1: Label Label Label, | Made It Out of Clay

Some of these transformations are not covered in the book. If the students are urged not to give up, and to
use the process of elimination and testing individual points, they should be able to successfully complete this
activity.

Answers:1.(d) 2.(a) 3.() 4.(¢) 5() 6.() 7.() 8(¢c) 9() 10 ()
m



CHAPTER2 Functions

V Group Work 2: Which is the Original?
The second problem has a subtle difficulty: the function is defined for all z, so some graphs show much more
of the behavior of f (z)than others do.

Answers: 1. 2f (x + 2), 2f (z), f (2x), f (x + 2), f(x) 2.2f (x), f (z), f (z+2), f (22), 2f (z + 2)

¥ Homework Problems
Core Exercises: 3, 9, 14, 17, 21, 29, 35, 42, 46, 52
Sample Assignment: 1, 3, 5, 7, 9, 13, 14, 15, 17, 18, 21, 22, 25, 27, 29, 32, 35, 36, 38, 42, 43, 45, 46, 49, 52
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GROUP WORK 1, SECTION 2.6
Label Label Label, | Made it Out of Clay

This is a graph of the function f (x):

s/\A/\’

Vai

Give each graph below the correct label from the following:

@ f(z+3) (b) f(z—-3) (c) f(22) (d) 21 (x)
® f (=) @ 2f(x)-1 () fx)+2 () f(z)-x

y

€ [f (2)]
() 1/f ()

Graph 5 Graph 6

Graph 10
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GROUP WORK 2, SECTION 2.6
Which is the Original?

Below are five graphs. One is the graph of a function f (x) and the others include the graphs of 2 (x), f (2x),
f(z+2),and 2f (x + 2). Determine which is the graph of f (z) and match the other functions with their
graphs.

1
y y y
N /N 1
VO 1 x \/ 0 v x \/0 \/1 X
Graph 1 Graph 2 Graph 3
y y
1
W4 B T F
Graph 4 Graph 5
2.
y y y
1 1 1
/
/ 0 2 \x 0 2 x 0 w X
Graph 1 Graph 2 Graph 3
Y Y
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2.7 COMBINING FUNCTIONS

V Suggested Time and Emphasis

1-1 class. Essential material.

¥ Points to Stress

1. Addition, subtraction, multiplication, and division of functions.
2. Composition of functions.

3. Finding the domain of a function based on analysis of the domain of its components.

Vv Sample Questions

o Text Question: The text describes addition, multiplication, division, and composition of functions. Which of
these operations is represented by the following diagram?

\l L » L
Y—— g 9 f — flg)
input \ J \ J output

Answer: Composition

o Drill Question: Let f (z) = 4z and g () = 23 + =.
(a) Compute (f o g) (x).

(b) Compute (g o f) (x).

Answer: (8) 4 (27 + 2) = 42® + 42 (b) (42)° + 4o = 642° + 4z

¥ In-Class Materials

¢ Do the following problem with the class:

From the graph of y = f (z) = —2 + 2 shown above, compute f o f at z = —1, 0, and 1. First do it
graphically, then algebraically.
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CHAPTER2 Functions

e Show the tie between algebraic addition of functions and graphical addition. For example, let
f(z) =1—2?and g(z) = 2® + 3= — 1. First add the functions graphically, as shown below, and
then show how this result can be obtained algebraically: (1 — 2?) + (2% + 3z — 1) = 3.

e Point out that it is important to keep track of domains, especially when doing algebraic simplification. For
example, if f (z) = 2+ /z and g (z) = 32% + /z, even though (f — g) (z) = = — 322, its domain is not
Rbut {z |z > 0}.

e Function maps are a nice way to explain composition of functions. To demonstrate g o f (x), draw three
number lines labeled z, f (z), and g( ), and then indicate how each number x goes to f (x) which then
goes to g (f (x)). For example, if f (x) = \/z and g () = 2z — 1, the diagram looks like this:

| //
A\ N

-1 0 1

e After doing a few basic examples of composition, it is possible to foreshadow the idea of inverses, which
will be covered in the next section. Let f (z) = 223 + 3 and g () = 22> — 2. Compute fogand go f
for your students. Then ask them to come up with a function % (x) with the property that (f o h) (z) = =.
They may not be used to the idea of coming up with examples for themselves, so the main hints they will
need might be “don’t give up,” “when in doubt, just try something and see what happens,” and “I’m not
expecting you to get it in fifteen seconds.” If the class is really stuck, have them try f (z) = 223 to get a

feel for how the game is played. Once they have determined that h (z) = ¢/ xT_?) have them compute

(ho f) (x) and have them conjecture whether, in general, if (f o g) (z) = = then (g o f) (x) must also
equal z
116



SECTION 2.7 Combining Functions

Vv Examples
Combined functions with graphs: Let f (z) = 22 — 3z +2and g (z) = —/z.
y y
2 f 2 2 f=aq/f /f
1 1 \ 1
2 5+ -2 -1 0 x—‘z-‘loi‘z‘sx
-1 -1
g g
-2 -2
-3 -3 -3
y y y
2 Y 2 f 51 [ feog
4,
1 1 )\ f
N\ 2J
-2 -1 0 12\ 3 x -2 -1 0
-1 -1 1
g :
-2 ) 7271_;)7 172 3 «x
fg g
-3 -3 -2
y \ y
2 f 2 f

V Group Work 1: Transformation of Plane Figures
This tries to remove the composition idea from the numerical context, and introduces the notion of symmetry
groups. It is a longer activity than it seems, and can lead to an interesting class discussion of this topic.

v/ ([F)-50 o0(TD)-F e (L) -T @ofs(T)-T
2. This is false. For example, (f o g) <|—|__|> =[5 but (g0 f) <|l|> =]

3. Itis true: reversing something thrice in a mirror gives the same result as reversing it once.
17



CHAPTER2 Functions
4. It rotates the shape 270° clockwise or, equivalently, 90° counterclockwise.

V Group Work 2: 0dds and Evens

This is an extension of Exercise 102 in the text. Students may find the third problem difficult to start. You may
want to give selected table entries on the board first, before handing the activity out, to make sure students
understand what they are trying to do.

Answers:

1 2.
a b a+b a b a-b
even | even || even even | even || even
odd | even || odd odd | even || even
even | odd | odd even | odd | even
odd | odd | even odd | odd | odd

3.

f g f+yg fg fog gof
even even even even even even
even odd neither odd even even
odd even neither odd even even
odd odd odd even odd odd

neither | neither || unknown | unknown | unknown | unknown

V Group Work 3: It's More Fun to Compute

Each group gets one copy of the graph. During each round, one representative from each group stands,
and one of the questions below is asked. The representatives write their answer down, and all display their
answers at the same time. Each representative has the choice of consulting with their group or not. A correct
solo answer is worth two points, and a correct answer after a consult is worth one point.

1.(fog)(5) 5.(g909)(5) 9. (90 f) (1)

2.(go f)(5) 6.(909)(-3) 10. (fo fog)(4)
3.(fo9)(0) 7.(g0g9)(-1) 11.(go fo f)(4)
4.(fo f)(5) 8.(fog)(1) 12. (fogo f)(4)

Answers: 1.0 2.0 3.1 45 51 6.1 7.1 80 9.2 10.1 11.1 12.1

¥ Homework Problems
Core Exercises: 4, 10, 15, 20, 26, 34, 38, 49, 57, 64, 71, 75, 79, 86, 92, 104

Sample Assignment: 2, 4, 6, 7, 10, 13, 15, 20, 22, 24, 26, 27, 29, 34, 36, 38, 45, 49, 52, 55, 57, 61, 64, 67, 69,
71,73,75,77,79, 82, 85, 86, 92, 93, 95, 98, 104
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GROUP WORK 1, SECTION 2.7

Transformation of Plane Figures

So far, when we have been talking about functions, we have been assuming that their domains and ranges
have been sets of numbers. This is not necessarily the case. For example, look at this figure:

L

Let’s let our domain be all the different ways we can move this figure around, including flipping it over:
r-{LE IS

Now let f be the function that rotates the shape 90° clockwise: f (&) = F Let g be the function that

flips the shape over a vertical line drawn through the center: ¢ <|l|> = IJ
1. Find the following:

@ f <f> (0) g <ﬂ> © f (f <|L>> (@9 <9 (ﬂ))

2. Isittrue that f o g = g o f? Why or why not?
3. Isittrue that g o g o g = g? Why or why not?

4. Write, in words, what the function f o f o f does to a shape.
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GROUP WORK 2, SECTION 2.7
O0dds and Evens

1. Let a be an odd number, and b be an even number. Fill in the following table (the first row is done for
you).

a b a+b

even | even || even

odd | even
even | odd
odd | odd

2. We can also multiply numbers together. Fill in the corresponding multiplication table:

a b a-b
even | even
odd | even
even | odd
odd | odd

3. Now we let f and g be (nonzero) functions, not numbers. We are going to think about what happens when
we combine these functions. When you fill in the table, you can write “unknown” if the result can be odd
or even, depending on the functions. You can solve this problem by drawing some pictures, or by using
the definition of odd and even functions.

f g f+g|fg| fog|gof

even even

even odd
odd even
odd odd

neither | neither
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GROUP WORK 3, SECTION 2.7

It's More Fun to Compute
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=



2.8  ONE-TO-ONE FUNCTIONS AND THEIR INVERSES

V Suggested Time and Emphasis

1-2 classes. Essential material.

¥ Points to Stress

1. One-to-one functions: their definition and the Horizontal Line Test.
2. Algebraic and geometric properties of inverse functions.
3. Finding inverse functions.

Vv Sample Questions

o Text Question: The function f is graphed below. Sketch f—1, the inverse function of f.
y

Answer:

o Drill Question: If f (—2) =4, f(—1) =3, f(0) =2, f (1) = 1and f (2) = 3, whatis f~1(2)?
Answer: O

¥ In-Class Materials

. . . 1
e Make sure students understand the notation: £~ is not the same thing as —.

e Starting with f (z) = /= — 4, compute f~!(—2) and f~!(0). Then use algebra to find a formula for
f~1(x). Have the class try to repeat the process with g (z) = 3 + = — 2. Note that facts such as
g 1(=2)=0,971(0) =1, and and g~*(8) = 2 can be found by looking at a table of values for g(z) but
that algebra fails to give us a general formula for g=* (z). Finally, draw graphs of f, =%, g, and g~ .
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SECTION 2.8 One-to-One Functions and Their Inverses

e Pose the question: If f is always increasing, is f~! always increasing? Give students time to try prove
their answer.
Answer: This is true. Proofs may involve diagrams and reflections about y = x, or you may try to get them
to be more rigorous. This is an excellent opportunity to discuss concavity, noting that if f is concave up
and increasing, then f~! is concave down and increasing.

e Point out that the idea of “reversing input and output” permeates the idea of inverse functions, in all four
representations of “function”. When finding inverse functions algebraically, we explicitly reverse x and
y. When drawing the inverse function of a graph, by reflecting across the line y = = we are reversing the
y- and z-axes. If ¢ (z) is the cost (in dollars) to make z fruit roll-ups, then ¢=* () is the number of fruit
roll-ups that could be made for x dollars—again reversing the input and the output. Finally, show the class
how to find the inverse of a function given a numeric data table, and note that again the inputs and outputs
are reversed.

x f (=) @ =)
1 3 3 1
2 4.2 4.2 2
3 5.7 5.7 3
4 8 8 4

o Make sure to discuss units carefully: when comparing y = f (z) toy = f~! (), the units of y and z trade
places.

Vv Examples

e The graph of a complicated function and its inverse:

)

2 1

1 e c(x)
, 7/
v
, 7/
-2 —1 e 1 2 x
/
s
[ 7
7 g -1
, 7
/
, 7
/ -1



CHAPTER2 Functions

V Group Work 1: Inverse Functions: Domains and Ranges

While discussing the domains and ranges of inverse functions, this exercise foreshadows later excursions into
the maximum and minimum values of functions.

If a group finishes early, ask them this question:

“Now consider the graph of f (x) = 2z — 3 + 2. What are the domain and range of f (z)? Try to figure out
the domain and range of f~! (z) by looking at the graph of f. In general, what information do you need to
be able to compute the domain and range of f~! (z) from the graph of a function f?”

Answers:

1. It is one-to-one, because the problem says it climbs steadily.

2. a~ ! is the time in minutes at which the plane achieves a given altitude.

3. Reverse the data columns in the given table to get the table for the inverse function. The domain and range
ofaare 0 <t < 30and 0 < a < 29,000, so the domain and range of ¢! are 0 < z < 29,000 and
0<a!<30.

4. You can expect to turn on your computer after about 8.5 minutes.

5. a is no longer 1-1, because heights are now achieved more than once.

Bonus The domain of £~ is the set of all y-values on the graph of f, and the range of ! is the set of all
x-values on the graph of f.

V Group Work 2: The Column of Liquid

If the students need a hint, you can mention that the liquid in the mystery device was mercury.

Answers 1. The liquid is 1 cm high when the temperature is 32 °F. 2. The liquid is 2 cm high when the
temperature is 212 °F 3. The inverse function takes a height in cm, and gives the temperature. So it is a
device for measuring temperature. 4. A thermometer

V Group Work 3: Functions in the Classroom Revisited

This activity starts the same as “Functions in the Classroom” from Section 2.2. At this point, students have
learned about one-to-one functions, and they are able to explore this activity in more depth.
Answers
Chairs: Function, one-to-one, bijection (if all chairs are occupied). If one-to-one, the inverse assigns a chair to
a person.
Eye color: Function, not one-to-one
Mom & Dad’s birthplace: Not a function; mom and dad could have been born in different places
Molecules: Function, one-to-one (with nearly 100% probability); inverse assigns a number of molecules to the
appropriate student.
Spleens: Function, one-to-one, bijection. Inverse assigns each spleen to its owner.
Pencils: Not a function; some people may have more than one or (horrors!) none.
Social Security Number: Function, one-to-one; inverse assigns each number to its owner.
February birthday: Not a function; not defined for someone born on February 29.
Birthday: Function, perhaps one-to-one. If one-to-one, the inverse assigns a day to a person.
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SECTION 2.8 One-to-One Functions and Their Inverses

Cars: Not a function; some have none, some have more than one.

Cash: Function, perhaps one-to-one. If one-to-one, the inverse assigns an amount of money to a person.
Middle names: Not a function; some have none, some have more than one.

Identity: Function, one-to-one, bijection. Inverse is the same as the function.

Instructor: Function, not one-to-one.

V¥ Homework Problems
Core Exercises: 3, 8, 14, 20, 24, 35, 48, 54, 57, 64, 67, 79, 71

Sample Assignment: 1, 3, 8, 10, 14, 15, 18, 20, 22, 24, 25, 29, 31, 35, 38, 41, 46, 47, 48, 54, 56, 57, 60, 64, 66,
67,70,71,73,77,79, 81, 82
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GROUP WORK 1, SECTION 2.8

Inverse Functions: Domains and Ranges

Let a (¢) be the altitude in feet of a plane that climbs steadily from takeoff until it reaches its cruising altitude
after 30 minutes. We don’t have a formula for a, but extensive research has given us the following table of

values:
t a(t)
0.1 50
0.5 150
1 500
3 2000
7 8000
10 12,000
20 21,000
25 27,000
30 29,000

1. Is a (t) a one-to-one function? How do you know?

2. What does the function a—! measure in real terms? Your answer should be descriptive, similar to the way
a (t) was described above.
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Inverse Functions: Domains and Ranges

3. We are interested in computing values of a—!. Fill in the following table for as many values of z as you
can. What quantity does x represent?

x a= ! ()

What are the domain and range of a? What are the domain and range of o =1?

4. You are allowed to turn on electronic equipment after the plane has reached 10,000 feet. Approximately
when can you expect to turn on your laptop computer after taking off?

5. Suppose we consider a (t) from the time of takeoff to the time of touchdown. Is a (¢) still one-to-one?
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GROUP WORK 2, SECTION 2.8
The Column of Liquid

It is a fact that if you take a tube and fill it partway with liquid, the liquid will rise and fall based on the
temperature. Assume that we have a tube of liquid, and we have a function h (7°), where A is the height
of the liquid in cm at temperature T in °F.

1. Itis true that /4 (32) = 1. What does that mean in physical terms?

2. Itis true that 4 (212) = 10. What does that mean in physical terms?

3. Describe the inverse function 2 ~1. What are its inputs? What are its outputs? What does it measure?

4. Hospitals used to use a device that measured the function h~!. Some people used to have such a device in
their homes. What is the name of this device?
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GROUP WORK 3, SECTION 2.8

Functions in the Classroom Revisited

Which of the following are functions? Of the ones that are functions, which are one-to-one functions? De-

scribe what the inverses tell you.

Domain
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in the United States
All the living people born in February
All the people in your classroom
All the people in your classroom
All the people in your classroom
All the people in your college
All the people in your classroom

All the people in your classroom

Function Values

Chairs

The set {blue, brown, green, hazel}

Cities

R, the real numbers
Spleens

Pencils

Integers from 0-999999999
Days in February, 2019
Days of the year

Cars

R, the real numbers
Names

People

People

129

Function
f (person) = his or her chair
f (person) = his or her eye color
f (person) = birthplace of their mom and dad
f (person) = number of molecules in their body
f (person) = his or her own spleen
f (person) = his or her pencil
f (person) = his or her Social Security number
f (person) = his or her birthday in February 2019
f (person) = his or her birthday
f (person) = his or her car
f (person) = how much cash he or she has
f (person) = his or her middle name
f (person) = himself or herself

f (person) = his or her instructor






FOCUS ON PROBLEM SOLVING 2 SOLUTIONS

1. The final digit of 947°* is determined by 7°. Looking at the first few powers of 7,
we have 7' =7,7? =49, 7% = 343,7* = 2401, and
7° =16807,7° =117649,7" =823543,7° =5764801, and so on. The last digit seems to
follow a pattern that repeats every fourth power: 7,9,3,1,7,9,3,1,... We divide 362 by 4
and get a remainder 2, which corresponds to 9 (the second term in the pattern). So the
final digit of 947°% is the number 9.

2. Wearegiven f,(x)=x*and f _,(x)= f,(f (x)),for n=0,12,...We look at the first
three terms to find a pattern.
fo (X) = Xz’
fl(x) = 1:0+1(X) = fo(fo(x)) = f0 (XZ) = (X2)2 =x’
fz (X) = f1+1(x) = fo( fl(X)) = fo(XA) = (X4)2 =x°
fs(x) = f2+1(X) = fo( fz(x)) = fo (XB) = (XB)Z =x"°
We can see that the formula is f,(X) = x2" for n=0,1,2,...

We have fo(x)=zi and f..(x) = f,(f.(x), for n=0,12,...We look at the first
—X
three terms to find a pattern.
1
F(X)=—
9=

1 1
f,(x) = fo,.(X) = f,(f,(X)) = fo(z_ j: Z—L
2—X

1 2-x_  2-x  2-X
9 1 2-x 2(2-x)-1 3-2x

2—X
2—X 1
0= )= 0 = 35 =y
3-2x
B 1 3-2x _ 3-2X _3-2X
S, 27X 3-2x 23-20)-(2-X) 4-3x
3-2x



3-2X 1
fo(X) = o (%) = f(£,(x)) = f0(4_3xj— Z_M
4—3x
B 1 4-3x 43X _4-3x
5 3-2X 4-3x 2(4-3x)-(3-2x) 5-4x
4—3x
(n+1) —nx

We can see that the formula is f,(x) = , for n=0,1,2,... and hence

(n+2)—(n+1)x
101-100(3) -199 199

f,(3) = = S
0(3) 102-101(3) —201 201

Let us see what happens when we square similar numbers with fewer 9’s.
397 =1521,399° =159201,3999* = 15992001, 39999* = 1599920001

We observe that the pattern is the square begins with 15, then there is a number of 9’s
with the number being one less than the original number of 9’s, then there is a 2, then
there is a number of 0’s with the number being the same as the number of 9’s, and then
ends with a 1. Note that 3,999,999,999,999 contains 12 nines, so according to the

pattern this number squared begins with 15, then has eleven 9’s, then has a 2, then has
eleven 0’s, and ends with one:

3999999999999° =15,999, 999,999,992, 000,000, 000,001
This can be verified algebraically as follows:

3,999,999, 999, 9992 = (4,000,000,000,000 - 1)’
— (4,000,000,000,000)" - 2(4,000,000,000,000) +1
— 16,000,000,000,000, 000,000, 000, 000 8,000,000, 000,000 +1
—15,999,999,999,992, 000,000,000, 001

To find the domain of the function f(x) = \/1—\/2—\/3— X , we use the fact that the
square root function is only defined for positive real values, including 0.

1-42-V3-x20<0<4/2-4/3-x <1< 0<2-/3-x<1
('we can square all the terms in the inequality because the squaring function is

increasing for positive real values)
By similar reasoning,

0<2-43-x<1e-2<—/3-x<-1
S1<Y3-x<21<3-x<2?

Again by similar reasoning,

1<3-x<4 -2<x<1e-1<x<2.
So the domain of fis [-1,2] .



We have the following equivalence if x>0

F(X) =[x2 — 4[| +3| =[x ~ 4x+3 = |(x~1)(x~3)
We find the sign of (x—21)(x—3) on the following intervals:
Case (i): 0<x<1= (x-1)(x-3)>0< f(x):‘x2—4x+3‘: X* —4x+3
Case (ii): 1< X<3= (X-1)(x=3) <0< (X) =[x* —4x+3 = (X"~ 4x+3)
Case (iii): 3<x <= (X-1)(x-3) 20> f (%) =[x’ —4x+3=x"~4x+3

We now can sketch the graph of f for x >0, and then use the fact that f is an even
function to reflect the graph about the y-axis to obtain the graph of f for x<0.

VA

Note that f(x)= ‘xz —1‘ —‘xz —4‘ =|(x=1)(x+1)| - |(x—2)(x+ 2)| we consider the

following intervals:
Case (i) x<-2= (x-1)(x+1)>0and (x—2)(x+2)=>0

= f(x):(xz—l)—(x2—4)=3

Case (ii): 2<x<-1=> (x-D(x+1)>0and (x-2)(x+2)<0
= f(x)=(x*-1)+(x* —4)=2x*+5

Case (iil) -1<x<1=> (x-D(x+1)<0and (x-2)(x+2)<0
= f(x)=—(X"-1)+(x* -4)=-3

Case (iv): 1<x<2= (x-1)(x+1)>0and (x—2)(x+2)<0
= f(x)=(x*-1)+(x* -4)=2x"+5

Case (V) x>22= (x-1D(x+1)>0and (x—2)(x+2)>0

= f(x):(xz—l)—(x2—4):3



We now can sketch the graph of f for x >0, and then use the fact that f is an even
function to reflect the graph about the y-axis to obtain the graph of f for x<0.

y A

(@)

Notice that [x] =0 for 0<x<1, [x]=1 for 1<x<2, [x]=2 for 2<x<3,

[[x]] =-1 for -1<x <0, and so on. We use these observations to sketch a graph

of the greatest integer function.

Y4

(b)

5

Notice that x—[[x]=x for 0<x<1, x—[x]=x-1for 1<x<2,

x—[x]=x-2 for 2<x<3, x—[[x]=-x for -1<x<0, and so on.



We use these observations to sketch a graph of f(x) =x—[x].
VA

24

LLLLLY L2

We consider the function [[x]]2 +[[y]]2 =1 and look at the four cases.
Case (i): [x]=0 and [y]=1 =0<x<land 1<y<2

Case (ii): [x]=1 and [y]=0 =1<x<2 and 0<y<1

Case (iii): [x]=0 and [y]=-1 =>0<x<land -1<y<0

Case (iv): [x]=-1 and [y]=0 =0<x<-land 0<y<1

We use these observations to sketch a graph.

VA
2-0-—---1)
I
]
I“ ====9
I
| A | )
| T |
0 ) X
—_—r




10.

11.

Range Number Digits Total Digits
[1, 9] 9 1 9

[10, 99] 90 2 189

[100, 999] 900 3 2889

[1000, 9999] 9000 4 38,889
[10000, 99999] 90,000 5 488,889

100" position: First we note that the last 1-digit number is in position 9 and that
100-9 =91 positions will be filled by 2-digit numbers, and 45 2-digit numbers will
fill 90 positions, so the number in the 100" position is the first digit of the number
10+ 45 =55. So the number in the 100™ position is 5.

1000™ position: First we note that the last 2-digit number is in position 189 and that
1000-189 =811 positions will be filled by 3-digit numbers, and 270 3-digit numbers
will fill 810 positions, so the number in the 1000™ position is the first digit of the
number 100+ 270 = 370 . So the number in the 1000™ position is 3.

10,000™ position: First we note that the last 3-digit number is in position 2889 and that
10,000—-2889 = 7111 positions will be filled by 4-digit numbers, and 1777 4-digit

numbers will fill 7108 positions, so the number in the 10,000" position is the third
digit of the number 10,000+1777 =11, 777 . So the number in the 10,000" position is

7.

300,000" position: First we note that the last 4-digit number is in position 38,889 and
that 300,000—38,889 = 261,111 positions will be filled by 5-digit numbers, and

52,222 3-digit numbers will fill 261,110 positions, so the number in the 300,000™
position is the first digit of the number 10,000 + 52,222 = 62,222 . So the number in

the 300,000™ position is 6.

Let h, be the height of the pyramid whose square base length is a. Then h —h is the
height of the pyramid whose square base length is b. Thus the volume of the truncated
- 1 1 1 1 1 1 1

ramid is V ==ha’ -=(h, —h)b* ==ha’ —=hb’ + =hb* ==h (a* —=b?*)+=hb’.
py Sha’ =3 (W =Mb* = =ha’ —=hb® + 2hb® ==y (a* b )+ 2
Next we must find a relationship between h, and the other variables. Using geometry,
the ratio of the height to the base of the two pyramids must be the same. Thus
ﬁ=¥<:> bh =ah —ah< h(a-b)=ah<h :a_hb. Substituting for h, we
a a—

1 ah

have V = =2 (a? ~b?) + Zhb? = ah(a-+b) + =hb? = =h(a® + ab+b?).
3a-b 3" "3 3" "3

10
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CUMULATIVE REVIEW TEST: CHAPTERS 2, 3, and 4

L fx)=x2—4x,g(x) =X +4

(&) The domain of f is (—oo, 00).

(b) The domain of g is the set of all x for which x + 4 > 0 < x > —4, that is, [—4, c0).

(© f(-2)=(-22-4(-2)=12,f(0)=02-40) =0, f(4) =42-4(4) =0,9(0) =/0+4 =2,
9(8) = B+ 4 =23, 9(—6) = V=6 + 4 = /=2, which is undefined.

d) fX+2)=X+22—4(X+2) =x2+4x+4—4x—-8=%x2—4,g(x+2) = /X +2) +4 =X +6,
fR+h)y=@+h2—-4@+h)=4+4h+h2—-8—4h=h2—4
g —-g(B) V2I+4-5+4 5-3 1

© %5 = 16 6 8

M fog)=f@M) = (VX8 —4(VXF8) =x+4-4/xF4,
gof(X)=g(f(X)=vVx2—4x+4=,/(x—22=|x-2, f(g(12) =124+4—-4/12 +4 =16 — 4/16 =0,
g(f(12)=12-2=10

(@ y=vX+4=y2 =x+4ox=y2 -4 Reverse x and y: y = x2 — 4. Thus, the inverse of g is g~1 (x) = x2 — 4,
X > 0.

2 f(x) = 4 ifx <2 (b) y
- Sl x—3ifx>2
(@ f@O)=4f1) =412 =4 f@B)=3-3=0,and .

f(4=4-3=1

1/ X
3 f(x)=—2x2+8x+5
(a)f(x)=—2(x2—4x)+5=—2(x2—4x+4)+8+5 © y
2,13)
=-2(x—2?2+13

(b) Because a = —2 < 0, f has a maximum value of 13 at x = 2.

(d) f isincreasing on (—oo, 2) and decreasing on (2, co). /2

®gx = —2x2+8x+10= f (x) + 5, so its graph is obtained by
shifting that of f upward 5 units.

() hx)=—-2(x+3)2+8(x+3)+5= f (x+23),s0 its graph is
obtained by shifting that of f to the left 3 units.
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